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Text Book :—Literary Pinnacles.
N.B. :(— (i) All questions are compulsory
(i1) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) in about 150 words
each : [16]
(A) (i) Narrate how Uncle Podger makes the entire process of

hanging the picture humorous.

Or
(ii) Explain the degrading effects of capitalism according to
G.B. Shaw.
(B) (1) Discuss the moral of the story ‘A Retrieved Reformation’.
Or

(ii) Write Pahom’s character in relation to his buying more

and more land.

2. Attempt any one from (A) and one from (B) in about 150 words
each : [16]
(A) () Discuss various stages of life in the poem ‘All the World’s

a Stage’.
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Or
(ii) “How was the Knight’s experience of Love ?” Was it
joyous ?
(B) (1) Attempt a critical appreciation of the poem ‘The Charge
of the Light Brigade’.
Or
(i) Enlist all the ‘ways’ in the poem ‘How Do I Love Thee’,

in which poet expresses her love.

3. Attempt any one from (A) and one from (B) in about 150 words
each : [16]
(A) () What are the limits of individual liberty, according to
A.G. Gardiner.
Or
(i) Describe Robert Lynd’s thesis that ‘real pleasure lies in
ignorance’. What examples does he give ?
(B) (i) Comment on the title ‘The Selfish Giant’.
Or
(ii) Does the story ‘The Diamond Necklace’ convey a

message ?

4, Attempt any one from (A) and one from (B) in about 150 words
each : [16]
(A) () How does the poet Thomas Hardy wish to be remembered
by his contemporaries after his death ?
Or
(iz) What is the central theme of the ‘Ballad of Father
Gilligan’.
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(B)

5. (A

(B)

[6101]-3001

(i) The poem ‘If is a message of inspiration for human beings
to go on in life with good principles. Elaborate.
Or
(i) Discuss the message of the poem ‘A Psalm of Life’, written
by H.W. Longfellow.

Answer any one of the following : [8]

(i) What are the important points to remember while making
a presentation ?

(i1) Write a note on the use of visual aids for effective
presentations.

Answer any one of the following : [8]

(i) How can one manage and organise time effectively ?

(i1) Write down 7-8 qualities, you possess that you think, will

make you a good player.



Total No. of Questions—5+4] [Total No. of Printed Pages—6

Seat

No. [5101]-3002

T.Y. B.A. (Regular) EXAMINATION, 2017
MARATHI (V<3)
G-3 : WHIEER SATHUGRT o, 3
(Mg WS g IMUT a@iReh § IUASa ASh)
(2013 PATTERN)
IAEHRH :— (i)  UIwE
(ii) To=RER —FuREH— =f. TRd daY/el. W Uk
(iii) IUfoRe :—HURH— =f. Thed dEy/el. Tww g
Sl. 3T/ HlaHl.
q@ : AN A TeRUT TOT : 80
el :— () 9d WA Gefau oeRasd S
(i) ISEhel® & UEAE qU U SFifadn.

1. Wolicis! Y% Tedd TRl W3e SW fael [16]
(31) TIULEAUTE  SAETARAT T H.
feRar

TIIGUMEAST  STERAR  STHUAT hIRIATaoA == .
() JqHI drEclcdl IR Tl Higcdshdd G800 .

2. @oiledeh! Jcdeh Tl i 9=l Sl Uodehl 20 vIseigdd forer @ [12]

(31) (i) YIEE HOE & eq fewn
P.T.O.



(i) TAEEUE A9 IEHIYRRNE g fave fomn

(iii) ‘HEm YAE' A YAEEuHAE ol hiv 2

(iv) YamrEl e fog
(v) VAU TEA-Sel HIN STEd 2
(@) @) ‘Iufeee’ W gEea fed o eRd ?
(i) foowe Med IW=A JIERl ®UA &qd T B 2
(iii) ‘HARHR A YA e ek hiu ?
(fv) ‘o™ MU HH' B YAH AW HIAT YERIQT  HdA
e ?
(v) Bl Tl dR A FRHRANA DR e e e ?

3, Eciad®l e TReMdid ST TRl U3 ST Yds! 50 vEradd
fomr - [12]
(31) YaHAUH A STEAUl T L

dferd wifgcd RUA YaHaUHER SeHArET UREd hEd T

(9) ‘HH AU wHE ;W TEEl IRE TR HA.
feRar
FH=N digaa dfehd A 9o dal e 2 o formn

4, WEAUs! Jh A TeRl WA SW 150 v=dd fagr - [20]
(31) ‘HeE' A1 Tl ARE W &
feRar

" o7 oI /1A STSHA TS ATl A1l ' 319 1.4 ®eeh hl Ul ?

[5101]-3002 2



(d) ‘&iRdd HR derte’ T fOuivur odd dueFl SerTeddl ohl aruld

e 7 = HA

fepar
Wit Oifferas franfdied 9. s, Fewer o w4 fafaa @
e 7 == W

5. Teidisl Yo% TRRA Tl WAd W Uil 300 viesiadd fasr :[20]
(31) ‘yawleEn TR’ @ fedda #t. "1\ we fTeR s &
ferar
‘garEl e’ @ feudia g 9red ae foeR ' &
(F) ‘ZmieR goen’ A1 yaHeEd fogd Jumrdt fasoyye Wed Al Swrer

T h.

fwar
o o

g AHadd HfiTen fadte dfesed dad aufa sgyd R R

faum w= +.

[5101]-3002 3 P.T.O.



[5101]-3002

q% : dF A THUT T : 80

1.  Eclcis! HIOER g8l WEAE SW Yol 20 vRdd fawr [20]
(i) UER W ged 3evd T
(i) ‘USTR A@is’ wUS e ?
(iii) TEEHAE wfeadad JORd R EF wRi%H T
(Gv) doadl fhesvara wafges i hivld 3Med ?
(v) 9TA HILHT deed™  HEL
(vi) HIUAR U= TS FAgAE A9 e
(vii) HATEEES! HIUA ¥eh AAYIS A ?
(viti) 3UAE S HME  ?
(x) VORWEHE & oyl 9.
(x) TEIA 9 SARRETT AW Ik EA
(xi) WA AR TE S ¥1a (JErear) 9.
(xii) Udia ¥edh qH=a v foran
(xiii) X Hoardt wfgg domen wvreEdt €9 gagAren Qg e

7.

[5101]-3002 4



2, Eoiads! Y& TRdd Tel WBAM SW 50 veiadd  formr [10]
(1) ‘gfawl’ ®US w7 gfdRl <@ HIAMT hIUGT Hiessit A 2
feRam

o0l o daaEE e Idid B 9rTL

()  '100% HAGH B0 TRSrH AR A FIHId HAGRIET i@ QUIRT Jaa=IEre!

Sedd daar .

feRar
e TUAUE AT .

3, Teiidisl Y& TRRA Tel WAE W 150 vRmdd  ferwr [20]

(37) ‘TeEAEE’ oew fuae [WRR U sl gaed @R &
feRan

‘Trd fEd—aerafadt’ w foEer UaegesR A1 HeUHdl ueeie
.
(q) STHRRETIEE SHeIdd SRR =’ Mool Saear= hicssi
71 fawEeR 9oer @R S
ferar
FHiofaurmeid Adew=ai AdifovFes Wied! Qo (S Wkl SAEHl

AUE' A FHEFRTERE R aid Gag ol &
[5101]-3002 5 P.T.O.




4, GEAds! T TeMid Tehl WA SW 300 v=dd  for [30]

(31)

()

[5101]-3002

(2)

(i1)
(@)

(i1)

JIRATEATE ®RG 9 die o e[ favie &
feRar
TARIME TSR HS] JARHEAAT Y T .

= TRIfoeead 99 Sioiedl AUt qeamn fed! s

A JOIAEE dIR &
feRar
‘Tofg &=’ fooRrer el wifedive dUR .




Total No.

of Questions—A4]

[Total No. of Printed Pages—2

[5101]-3003

Seat
No.
T.Y. B.A. (Regular) EXAMINATION, 2017
MARATHI (T30
fagioR rvTautIaRT . 3 (S-3)
31 FEOIC £ £
(2013 PATTERN)
B : i dE

g :— (i) wd WA Gefau oeRas SR

(i) 3SElhele o U qul O SFifedr.

TEHO T ;80

1. THGUR DIUARI & YIAE SR YA AR 20 v=dd fawr ;o [20]

(1)
(2)
3)
(4)
5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)

¢ 1] ha P
Sl YISl onld ¢

SR 3E¥Is R 0 hiod 7

ANERMA  ASges gl
‘DieddimEr’ a1 Jg @ i ?

TORTET el 9l S ol ] 2

‘afyet’ WU ®E ?
‘Afife’ Heheu T W &

‘e doEE’ 8 U9 hivmEr TR 2

qifeca= 3k YhR HIUd o ToTal

AEHTAl WA HE WU ?
FEIID HIUCE S HIH G ?
‘eI’ WUS ® . ?

ifgcr=n aFfieome S fagid 9.

?

P.T.O.



2. @o@UR G YIAEl SW 50 v=Mdd fawr [10]
(1) SIaEYishal T .
(2) 9 fo@r o=l AEitsehd
(3) Al fY=adl &RU T HA
(4) ‘Ul AEATRRE AU diedE o &

3. Wefiiis! Yt TeMid WeRl UeA 150 v=giodd W famr @ [20]
(37) Wi = qoma Avar fave fera.
feRar

JefifoaR. T &
(9) SRR 3Tevdsh HAGUR O T H.
fepar
ifgcarsa el Aaedehal favg .

4. GEidUR! TI® TR TEl Y 300 TeRdd I fewr ;0 [30]
(31) wifgar= JAeH HRRU W &
feRar

aifecaren fafdfda sovas o= yfqw veki= favw fomn
(F) Afve=l fga FOM w2 foave .
ferar

Oifgcar=al FHOMET dd T2 h.

[6101]-3003 2



Total No. of Questions—4] [Total No. of Printed Pages—2

[5101]-3004

Seat
No.
T.Y. B.A. (Regular) EXAMINATION, 2017
MARATHI (W)
fagroay Ut &, 4 (S-4)
(SToTferRT-auiTeTeR oMot Qferetfaen)
(2013 PATTERN)
s : o d™

oAl :— () W UYd Uefam seavas e

(i) ISEIherd 3 YA qu IO geifodm.

TEHOT T : 80

1. Sl RN ST I I Ydeh! ot| veegdd foer [20]

(1) aeRE fRAM Hesh hiod d fagr ?

(2) UYH TR YRR HOG 7

(3) U HUEE A THR fem.

4) 4 BN &wE ?

(5) Ufaeifaew vonfagmrEn faga #is #igan ?
(6) TTI-TU TG HIMAWR A AR ?

(7) W faeom S It v faum @ed ?

(8) ISUMAM woIRa fohdl wTSTRel oTed ?
(9) idde-digdds fasia @t digen 2

(10) wE Hvra UREREA W &g ?

(11) o wRdE wren fosl.

(12) WIS Hifces 9§ iU ?

(13) YIRAA WOUEA  HIOA WS IR S ?

P.T.O.



2. Wil SR &9 Yo W s o=mE v fagr @0 [10]
(1) 9 2w diedd  fove .
(2) SAdfoeRE @WEY TR FHA
(3) Ufdertas weifasmren wa fave 3.

(4) oRA Hheddd WEY dewa T

3. Wit Y% TRME Uahl YoM W drew v=da fagr [20]
(31) ‘9T ¥ OUSAEERM Tew@™ diEd AR € foum wme &
feRar

FI-EH-EAR I WEREEY W
(F) N @WEY 9 YRR faged &
fwar
SRR oS Tedl =

4., WEAUH TAE TG Tl Y9e S dF9t vekidd faer [30]
(31) orfiifgasn @ 9 & fave &3
feRar

STeR-SH-FUHR  ade WREREay T &
(9) WS wifeth 98 fave &
feRar
S YRAE vTeRTene 9ReEd hed &l

[5101]-3004 2



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]1-3005

T.Y. B.A. (Regular) EXAMINATION, 2017
FRENCH (General G-3)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

Q1) Traduisez en anglais: [10]

La sieste de Jean-Marie Le Pen et le selfie moqueur
Dans un avion, l'ancien président du Front national, Jean-Marie Le Pen, s'abandonne au sommeil.
Assis un rang derriére lui, le chorégraphe et danseur de break dance Brahim Zaibat saisit I'instant
avec son smartphone. Le selfie moqueur, publié samedi 12 décembre 2015, a la veille du second
tour des élections régionales, accompagné de la légende s'envole sur les réseaux sociaux : 156
556 « J'aime », 24 527 partages et 3 730 commentaires sur Facebook, des milliers de « retweet »
sur Twitter.

Il a atterri vendredi 22 janvier devant le tribunal de grande instance de Paris pour « atteinte au
droit a l'image et au respect de la vie privée » et a offert un de ces beaux débats juridiques entre
protection de la vie privée et défense de la liberté d'expression. Pour I'avocat de Jean-Marie Le
Pen, M® Frédéric Joachim, cette photo, prise 4 l'insu (unknown) de son client « dans le contexte
intime » et dans un moment du sommeil, « qui suppose !'abandon » et qui est « par excellence
un attribut de la vie privée », présente un caractére « dégradant ». « Le tribun et chef politique
bien connu pour son énergie ne saurait étre publiguement “réduit” a un homme endormi
», constate l'avocat, qui réclame 50,000 euros de dommages et intéréts.

Q2) Répondez aux questions suivantes : (3 au choix) [15]

a) Ce n’est pas seulement I’éducation mais aussi I’expérience personnelle qui prépare une
personne a gérer sa vie personnelle. Commentez.

b) Comment peut-on ouvrir un compte dans une banque ?

c) Expliquez la structure du gouvernement frangais.

d) Expliquez en bref la notion de « I'offre et la demande ».

e) Qui est un immigré? Discutez comment les immigres illégaux posent de graves
problémes socio-économiques a un pays.

Q3) Vous étes un grand politicien de votre pays. Quels changements aimeriez-vous faire dans le
gouvernement et pourquoi ? [5]
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Q4) Traduisez en frangais: [10]
The Century of Enlightenment

The 18th century is known as the century of enlightenment. During this period the western world
witnessed immense progress in the fields of science and technology as a result of the industrial
revolution which was lead by scientists like Isaac Newton, James Watt, and philosophers like
Voltaire, Rousseau, and D’ Alembert.

It was during this century itself that writers and philosophers (Voltaire, Montesquieu, Diderot,
and Rousseau) began writing against the absolute power of the king. For example, Montesquieu
wrote L Esprit des Lois, which talks about how a modern state should function. It is based on the
separation of power and the representation of citizens in the parliament, as this was already being
practiced in England and America during this period. Voltaire, on the other hand, was exiled for
many years, near Geneva, as his writings displeased the king.

Q5) Grammaire et Vocabulaire:

A) Transformez les phrases suivantes en forme directe ou indirecte selon le cas: [10]

1) En voyant un paquet sur la table I'enfant a demandé : « Qu'est-ce que c'est ?

2) Il m’adit que je verrai qu'il viendra parce qu'il me I'a promis.

3) Le douanier demande a chaque automobiliste: « Avez-vous quelque chose a
déclarer? ».

4) Dis-moi: « Qu'est-ce que tu veux faire quand tu seras grand ? ».

5) Il adit: « Je suis content ».

6) Jai répondu que je n'ai pas le temps, que mon livre est trop captivant

7) L'homme demande au passant : « Quelle heure est-il 7' ».

8) Ma mere retourne dans la cuisine, et dit 2 mon pére que je refuse de l'aider

9) «Tulis ? », m’a demandé ma mére.

10) Le professeur demande a ses éléves ce qu’ils font.

B) Donnez la forme nominative du mot souligné [5]
1) Le couronnement d’Henri [V fait naitre la dynastie de Bourbons.
2) L’armée allemande envahit d’abord la Belgique et puis le nord-est de la France.
3) Napoléon Bonaparte réorganise le systéme des impdts et fonde la Banque.
4) Louis XVI essaie de faire plaisir au peuple en introduisant de nouvelles réformes.
5) Jeanne d’Arc méne une petite armée a la victoire contre les Anglais et réussi a
délivrer Orléans.

C) Utilisez les expressions de but/cause et conséquences [10]
(P’our, a cause de, grace a, afin que, pour que, afin de, parce que, de sorte que,
Etant_donné_que, si bien que)
1) votre aide nous avons réussi.
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2) Nous sortons tu puisses te reposer.

3) Pierre a été puni ses absences.
4) Ils ont expliqué nous comprenions.
5) Le petit gargon pleure il a été battu par son frére.
6) Elle s’entraine gagner une médaille.
7) Laneige a recouvert toutes les routes, il y a beaucoup d’accidents
8) Iltravaille la gloire.
9) tu as eu le permis je te préte ma voiture.
10) Je travaille nous puissions vivre.
D) Complétez selon les indications : [5]

1) Siles impdts étaient mieux utilisés, nous (avoir) plus d’écoles dans notre pays.
(Conjuguiez le verbe au temps qui convient).

2) cette victoire, leur langue s’impose dans le pays.
(A cause de, suite 2, gréce a)

3) Il essaie de reconstruire les finances du royaume et encourage ’agriculture.
(Réécrivez en utilisant le gérondif du verbe souligné).

4) Dans cette dynastie le roi (acquérir) un pouvoir absolu d’inspiration divine.
(Conjuguez le verbe au temps qui convient).

5) la fin du XVéme siécle la France voit des progrés scientifiques et
artistiques. (Malgré, cependant, durant, pourtant)

E) Reliez les colonnes : [5]
a) La devise 1) Les fermiers
b) En clandestin 2) Le chefde I’état
c) Les paysans 3) L’argent payé par les citoyens
d) Les impdts 4) En secret
e) Le Président  de la 5) Formule qui caractérise la valeur

République symbolique d'une chose
F) Répondez : [5]

1) Donnez le contraire : défaite, plaire.
2) Donnez la forme verbale des mots suivants : administration, création, établissement.
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Q1) Quels sont les différents types de ventes qui existent et selon vous quelle est
la méthode de vente qui se développe le plus aujourd'hui. Expliquez avec les

exemples.

| [10]

Q2) A) Quelles sont les différents moyens de faire la publicité et énumérez les avantages et

les désavantages de chaque moyen. [10]
B) Pour quels services s'adresse-t-on aux banques? Expliquez en détail? [10]
C) Décrivez le processus d'ouvrir un compte d'épargne. [5]
Q3) A) Expliquez les termes suivants: [20]

a) un découvert
b) un relevé de compte.

¢) DAB

d) un concessionnaire
e) spot publicitaire
f) un ristourne

g)VRP

h) une échéance
i)escroquerie
j) paiement par traite
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B) Complétez: [5]
1) L'agent commercial regoit une sur les ventes réalisées.
2) La dégustation et la distribution des échantillons fait partie de la publicité
3) Une carte bancaire avec le code confidentiel s'appelle
4) Un cheque sans provision s'appelle un cheque

5) Dans quelques grandes entreprises, le service de se charge des litiges
graves.
C) Complétez les phrases suivantes en choisissant le choix qui convient. [5]

1) Vous avez réglé une somme pour recevoir régulicrement une revue tous les mois

pendant un an. Vous étes:
a) un abonné
b) un destinataire
¢) un loueur
2) Vous avez entendu dire que le directeur serait remplac€. il s'agit:
a) d'une nomination
b) d'une rumeur
¢) d'un recrutement
3) on vous demande de travailler sur un projet avec deux collegues. Il s'agit:

a) d'une collaboration

b) d'une collection
¢) d'une concurrence ‘
4) Vous n'étes pas d'accord avec votre chef sur la fagon d'organiser le travail . Il y a
a) un changement
b) une désorganisation
¢) une mésentente
5) Vous avez décidé de quitter volontairement votre emploi pour un poste mieux
rémunéré. Vous:
a) €tes promu
b) étes licencie
¢) démissionnez.

Q4) La machine a laver que vous avez commandée n'est pas encore livrée malgré une
promesse d'un délai d'une semaine. Vous étes un client fidéle du magasin et cette
service vous énerve. Vous écrivez une lettre au chef de magasin et vous exprimez
votre insatisfaction. Vous demandez une remise et un paiement dés réception de la
facture et/ou de la marchandise. [15]
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Q1) Traduisez en anglais. [15]

Il se passe quelque chose de curieux, en ce moment, dans la capitale : le canal Saint-Martin,
long de 2,5 km, est mis & sec pour enlever les détritus, la boue et la vase qui I’ont envahi
pendant des années. Or, ce gros chantier de nettoyage vient de révéler d’étonnantes
découvertes... Au coeur de Paris, il existe un canal trés connu: le canal Saint-Martin.
Construit en 1802 sur l'ordre de Napoléon Bonaparte, il permettait au départ d'acheminer des
marchandises & l'intérieur de la capitale. Aujourd'hui, il sert surtout a faire naviguer les
touristes et les plaisanciers. Le souci, c'est qu'au fil des années, le lit de ce canal et ses €cluses
se sont abimés. La mission est compliquée. Il faut repousser un maximum l'eau, aux deux
extrémités du canal, en plagant des barrages d'un coté puis de l'autre. Ensuite, il faut déplacer
les poissons qui restent dans le fond. Il y en a beaucoup : plus de 4 tonnes en tout ! Ensuite,
on va devoir enlever les détritus et commencer a nettoyer la boue et la vase. Pourquoi est-ce
nécessaire de faire ce ménage ?: Parce que, année apres année, la quantité d'eau diminue dans
le canal, pendant que la boue et les détritus s'accumulent. A terme, les bateaux ne pourront
plus circuler. Les écluses s'abiment aussi a force d'étre actionnées.

On a trouvé une quantité incroyable de déchets et d'objets jetés par les habitants dans l'eau.
Comme si ce canal était une poubelle ! Des bouteilles, des canettes, des chaises, des vélos,
des caddies, une poussette... et méme des revolvers et deux coffres-forts fermés ! Ce serait
bien que ce chantier serve a rappeler & tout le monde que le canal est un milieu naturel a
respecter... Pas une décharge en pleine ville !

P.T.O.



Q2) Faites selon les indications données [12]

a) (mettez les virgules ou nécessaire.)[2]
1) Vous avez la possibilité d'acheter du pain de la confiture du miel un fruit et du sel.
2) les pommes je les aime ni trop acides ni trop sucrées.

b)Choisissez les signes de ponctuation qui correspondent aux définitions[6]
sert & respirer
sert a s’exclamer
sert a terminer
pour parler
pour expliquer
parce que ce n’est pas fini

¢) Placez la ponctuation dans ce texte[4]
I’homme resta un moment sans parler
puis il dit brusquement tu n’as donc pas de mére non quel age as-tu j’ai huit ans monsieur

il partit dans une échoppe sortit cent sous et acheta plusieurs choses des pulls deux robes des
sabots et un bonnet

Q3)

A) Traduisez en francais 9]
1) I can’t take it anymore !The more I think, the more I am confused. I am in the dark about
it.

2) All of a sudden , T heard a deafening noise. Undoubtedly, an accident. Three people died
on the spot. I rushed with the first aid kit but alas...

3) The period of payment will not be prolonged. I can assure you of that. However, any delay
thereafter is inacceptable.

B) Traduisez en anglais [6]
1) I les a salués d'un signe de téte.

2) Je I'ai rencontré pour la premicre fois lors d'un passage a Paris.

3) Jai assisté a la conférence du lauréat.

4) Le port du casque est obligatoire.

5) Nous aimions passer nos soirées pres de la cheminée.

6) Elle a passé son examen en juin.

C) Traduisez en francais. [10]
1) Eventually I will migrate to UK for a better opportunity.

2) Can you tell me the agenda for today's meeting please?

3) The Head of the department always supports projects that are innovative.

4) He pretended to faint when the teacher asked him about his homework.

5) What a quaint habit she has!!!
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D) Traduisez en utilisant les noms collectifs. [10]

1) A wad of notes were found in the bag.

2) A pack of wolves attacked the poor animal.

3) "What a pack of lies! I don't believe you" said the teacher to the student.
4) A haul of fish swam freely in the vast ocean.

5) The panel of experts voiced their opinion on the theme of the conference.

Q4) Trouvez les expressions idiomatiques /proverbes équivalents en frangais. [16]
A)

1) proud as a peacock

2) as stupid as a goose

3) to have a sore throat

4) don't count your chickens before they are hatched

5) to call a spade a spade

6) to play cat and mouse

7) speak of the devil and the devil appears

8) Every cloud has a silver lining.

B) Traduisez en anglais 2]
1) Elle porte un jogging et des tennis pour faire son footing.
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Seat
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GERMAN
General Paper III
(2013 PATTERN)
Time : Three Hours Maximum Marks : 60
N.B. :— (i) All questions are compulsory.

(i) This paper also includes listening comprehension of 10 marks
and oral exam of 10 marks.

(ii1) Use of Dictionary is allowed.

Frage 1. Ubersetzen Sie! (12)
A. Ubersetzen Sie ins Englische oder Marathi! 06

Die Sehnsucht nach der Stadt

Sowohl Familien als auch Altere suchen wieder Wohnungen in der Stadt; die Nachfrage nach
Wohngemeinschaften und kleineren Wohnungen steigt. Zugleich wichst die Zahl der Single-
Haushalte. Auch eine Terrasse oder ein Balkon wird wichtiger. Das sagt Wolfgang Forster, der
Leiter des Referats Wohnbauforschung.

Und nach welchen Kriterien suchen die Wiener ihre Wohnungen? Ein Hauptkriterium bei der
Suche ist eine optimale GrdBe, die man auch sich leisten kann, sagt Forster. Der zweite Punkt ist
gute Infrastruktur. Die meisten Stidter wollen neben einer U-Bahnstation wohnen.

B. Ubersetzen Sie ins Deutsche! (nur 3) 06
1. The earlier one books the flight, higher are the chances to get cheap tickets.

2. Tasty food is the key to happiness for many.

3. The kids were waiting for their school bus, when they saw a big elephant entering their
society.

4. One should brush teeth twice a day thoroughly in order to avoid tooth decay.

5. “Lal Quilla” is one of the oldest monument in the capital city of India.

6. Movies are said to be the mirror reflections of the society.

P.T.O.



Frage 2. A) Beantworten Sie VIER der folgenden Fragen! 12
Analysieren sie das Gedicht ,Jetzt“!

Was erlebt der méannliche Briefiarke?

Setzen Sie sich mit dem Gedicht ,,das schwerste Wort* auseinander!

Erzihlen Sie die Geschichte ,,Der Handydieb* nach!

Welche Merkmale der konkreten Poesie besitzt das Gedicht ,,Statistik*?

Schadet zu viel Technologie eigentlich die zwischenmenschlichen Beziehungen? Erldutern
Sie ihre Antwort!

7. Schreiben Sie kurz iiber einen Film, den sie neulich gesehen haben!

Gy B e 8 L) 1=

B) Lesen Sie den Text und beantworten Sie die Fragen! 10
Lisas Reise nach Berlin

Lisa méchte zusammen mit ihrer Freundin Maria ein paar Tage nach Berlin fahren, Sie wollen
sich die Stadt anschauen und abends ins Kino oder auch mal in einen Club gehen. Lisa und

Maria sind beide 17 Jahre alt und vertreten den Standpunkt, dass sie alt genug sind, ein paar
Tage ohne Begleitung eines Erwachsenen zu verreisen. Die Eltern von Lisa sind gegen diese
Reise. Sie finden, dass Lisa dafiir zu jung ist. AuBerdem sind sie dagegen, dass Lisa und Maria
nach Berlin fahren, wo sie niemanden kennen und wo ihnen daher leichter etwas passieren
konnte. In dieser Situation stellt sich die Frage: wer hat die besseren Argumente?

Das wichtigste Argument, das gegen die Reisepléne von Lisa spricht, ist die Tatsache, dass Lisa
noch nicht volljahrig ist. Dies bedeutet némlich, dass die Eltern noch die Aufsichtspflicht iber
Tochter haben. Wenn Lisa also wihrend ihres Aufenthaltes in Berlin etwas passieren wiirde,
konnten sie gegebenenfalls haftbar gemacht werden. Gegen dieses Argument der Eltern und
damit fiir Lisas Reisepldne spricht, dass Lisa mit ihren 17 Jahren kein kleines Kind oder eine
unreife Jugendliche ist, sondern sozusagen schon erwachsen ist.

Entscheidend ist noch letztlich, ob Lisa und Maria so reif sind, dass sie nicht einfach mit
Fremden mitgehen, nicht jedes Angebot annehmen, also in der Lage sind, ,Nein“ zu sagen. Dies
miissen sie aber auch zu Hause beherrschen, denn falschen Freunden kann man iiberall
begegnen. Um etwas beruhigter zu sein, kénnten die Eltern mit ihrer Tochter vereinbaren, dass
sie sich tiglich meldet. So wiren sie auf dem laufenden und wiirden ihrer Tochter zeigen, dass

sie an sie denken.

A. Beantworten Sie die Fragen! (nur 3) 06
1. Was méchte Lisa mit Maria tun?
2. Welchen Standpunkt vertreten die Eltern tiber ihre Reiseplédne?
3. Was halten Sie fiir richtig?
4. Wie Reisen die Jugendlichen in Threm Land? Kann man in Ihrem Land mit 17 alleine
fahren? Begriinden Sie Ihre Antwort!
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B. Erkliren Sie die Bedeutungen! 02
1. Standpunkt
2. Aufsichtspflicht

C. Sagen Sie anders! 02

1. Sie wollen abends ins Kino oder auch mal in einen Club gehen. (Schreiben Sie den Satz mit

entweder... oder um!)
2. Lisa ist mit ihren 17 Jahren kein kleines Kind oder eine unreife Jugendliche ist. (Schreiben

Sie den Satz mit weder.... noch um!)

Frage 3. Grammatik und Wortschatz (20)
A. Bilden Sie Passiv! (nur 4) 04

1. In Berlin baut man in den letzten Jahren sehr viel.

In diesem Restaurant bedient man die Giéste sehr gut.
In der Staatsoper spielt man klassische Opern.

Den Papagei fanden wir auf unserer Terrasse.

Die Feuerwehr 16schte das Feuer.

Der Chef rief mich am Samstag an.

Nahmt ihr Sandra bis zum Bahnhof mit?

SR e LR b

Erkliren Sie die Redewendungen! (nur 4) 04
Aller Anfang ist schwer.

Viele K8che verderben den Brei.

Der Apfel fillt nicht weit vom Stamm.

Etwas unter vier Augen besprechen.

Wer A sagt, muss B sagen.

Wenn zwei sich streiten, freut sich der dritte.

Ergiinzen Sie die richtige Form: Partizip I oder II! Beachten Sie dabei auch die
Adjektivendungen! (nur 4) 04
Ich spreche mit meinem immer Nachbar lieber nicht. (gestritten/streitend)
Die im Hotel Tasche bekam das Midchen nach zwei Tagen zuriick.
(verloren/verlierend)

Die __ Giste sind jetzt miide. (gewartet/wartend)

Dem Sohn gibt sie einen Kuss. (weinend/geweint)

Die Kunden mdgen den immer Verkiufer. (gelacht/lachend)

Die sich schnell Industrie macht groBen Gewinn. (entwickelt/entwickelnd)

A VA LN -

ot
.

2

S

. Bilden Sie die Konjunktiv 1! (nur 4) 04
Der Chef sagt, ,,Er leitet die Firma fiir fast zehn Jahre.“
Die Studentin meint, ,, Kontakt mit den Deutschen hat mir bei dem Sprachenlernen geholfen.*

2

Der Vater sagt, ,,Kinder miissen gehorsam sein.*

e
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4. Er sagt, ,,Meine Frau hat mir zum Geburtstag ein Handy geschenkt.*

Martha meint, ,Mein Mann gieft die Pflanzen nie. Das drgert mich.“

Die Lehrerin sagt zu Mathias und Johanna, ,,Wenn ihr nicht fleiBig arbeitet, bekommt ihr
schlechte Noten.*

. Schreiben Sie um! (nur 4) 04
Ein Film: teuer sein - er: kommerziell sein. (Je ... desto)

Die Kinder haben sich auf die Priifung vorbereitet. Jetzt gehen sie spielen. (nachdem)

Er hat den Fisch gefangen. Er kann ihn nicht kochen. (zwar ... aber)

Paula ist kein Salat. Sie ist kein Obst. (weder ... noch)

Er sitzt im Café. Er geht schwimmen. (entweder ... oder)

. Ich esse Broccoli. Ich esse Spinach. (sowohl ... als auch)

&

AR i S

Frage 4. Wirtschaftsdeutsch 06
Schreiben Sie eine Bewerbung als ein Au-Pair Médchen in Johannes Strafle 12, Hamburg.
ODER

Sie brauchen deutsche Biicher und Magazinen fiir die Bibliothek. Schreiben Sie eine
Anfrage. Sie brauchen: ,,Romulus der Grofie” 10 Kopien, .Berlin Alexander Platz* 5 Kopien,
,Lagune 1-3“ je 20 Kopien.
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Time : Three Hours Maximum Marks : 80
FrageI: Sachfachtexte (30)
A) Ubersetzen Sie den folgenden Text ins Englische oder Marathi! (08)

Stehen Sie oft vor dem Kiihlregal und kénnen sich nicht Entscheiden? Kein Problem: Sie kaufen
einfach die Pizza mit den Nanopartikeln. Schieben Sie diese Pizza bei 300 Watt in die
Mikrowelle, wird sie rot und schmeckt nach Tomate, bei 400 Watt dagegen verfirbt sie sich griin
und wird zu einer Spinatpizza. Die Entwickler von Nanofood versprechen sich — und den
Verbrauchern — wahre Wunderdinge von der Nanotechnik. Nicht nur spannender sollen
Lebensmittel werden, sondern auch gesiinder und haltbarer.

B) Antworten Sie auf zwei der folgenden Fragen! (14)

Warum betrachtet man das Fahrrad als das umweltfreundlichste aller Fahrzeuge?

Wie waren antike Metropolen? Wie haben sich Metropole im Laufe der Zeit geéindert?
Was wissen Sie iiber ,Leonie*? :

Wie viel Grips haben eigentlich Affen?

BN

C) Antworten Sie auf zwei der folgenden Fragen! (08)

Wann wird das Radfahren gefdhrlich? Nennen Sie Lsungen zu dem Problem!
Schreiben Sie tiber Facebook anhand von dem Text ,Social Media‘!

Warum haben einige Menschen ein besseres Gedéchtnis als die anderen?

Was wollen die Robotik-Experten mit intelligenten Autos erreichen?

Welche Faktoren beeinflussen das Gedéchtnis?

I e

Frage II: Geschichte ' (50)

A) Beantworten Sie vier der folgenden Fragen! 249
1. Wie kamen die Germanen in Beriihrung mit den Rémern? Was waren die Auswirkungen

davon?
P.T.O.



SN o

Schreiben Sie iiber die Ritterkultur und die deutsche Literatur wihrend dieser Zeit!
Was wissen Sie iiber die Reformation?

Welche Griinde hatte der Erste Weltkrieg? Wie endete er?

Warum hatte die WeimarerRepublik keinen Erfolg?

Welche Ziele hatte die NSDAP? Wie weit konnte sie sie erreichen?

B) Schreiben Sie ausfiihrlich iiber eines der folgenden Themen! (08)

Rl S

Die Friihzeit der germanischen Stimme
Der Investiturstreit

Otto von Bismarck

Renaissance

C) Interpreticren Sie eines der folgenden Gedichte! (08)

1.
2.

JKriegslied‘ (Mathias Claudius)
,Unter den Linden‘ (Walter von der Vogelweide)

D) Ergiinzen Sie! (nur 10) (10)

1.
2.

Bischof --------- iibersetzte die Bibel ins Gotische. )
Da Clodwig von dem sagenhaften Konig --------- zu stammen glaubte, nennt man ihn und
seine Nachfolger ,,-------~

--------- in England und --------- in Bhmen waren u.a. diejenigen, die die Kirchenreforme
laut verlangten. Aber die Kirche beachtete diese Kritik nicht. Im Gegenteil: die Kritiker
wurden als --------- verbannt und verbrannt.

1450 erfand Gutenberg die ---------.

--------- Nannte sich ,,den ersten Diener des Staates*

Die Zeit zwischen Bismarcks Riicktritt (1890) und dem Ersten Weltkrieg tréigt den
Namen ,,di¢ ~=-====-=-

Deutschland musste nach dem Ersten Weltkrieg den Siegerméchten eine riesige ---------
zahlen.

Als Parteiabzeichen fiihrten die Nazis das --------- , das die Uberlegenheit der
,hordischen Arier” ausdriicken sollte.

Aufler SA und SS hatte Hitler auch andere Machtorgane wie und

. Die vier Méchte, namlich s s und

sind als ,,Allierten‘ bekannt.

[5101]-3009 2



Total No. of Frags—3] [Total No. of Printed Pages—3

Seat

No. [5101]-3010
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N.B. :—All questions are compulsory.

Frage I: Literaturgeschichte [45]
(A) Ergiinzen Sie! (Nur 8) (08)
Barock war urspriinglich eine Stromung der europdischen Architektur und
2. Das Schlagwort der Zeit der Aufklirung war , »»hab Mut, dich deines
eigenen Verstandes zu bedienen®.
3. und gehdren zu den Autoren der Epoche Sturm
und Drang.
4. Die wird als Symbol der Unerreichbaren in der Epoche Romantik.
5. Die Zeit vor der Mirzrevolution (1848) wird in der Literaturgeschichte als
bezeichnet.
6. und zéhlen zu den Autoren des Jungen
Deutschlands.

7. Das Schlagwort des Symbolismus war Lart pour Lart, d.h.

8. war eine Stilbezeichnung fiir die Malerei und Literatur in den
zwanziger Jahren des 20. Jahrhunderts.
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(B) Ordnen Sie zu! (05)

i.
ii.
iii.
iv.
V.

Barock

Sturm und Drang
Romantik
Aufkldrung
Klassik

Hymnen an die Nacht
Faust I

Nathan der Weise
Martin Opitz

Die Riuber

e A

(C) Beantworten Sie VIER der folgenden Fragen! (16)

. Schreiben Sie iiber die Architektur in der Epoche Barock!
. Welche literarische Formen wurden in der Literatur der Epoche Aufklirung bevorzugt?

1
2
3. Warum wird die Epoche Sturm und Drang als eine Protestbewegung gesehen?
4,
5
6

Was sind die wesentlichen Merkmale der Epoche Romantik?

. Was ist der poetische Realismus?
. Schreiben Sie kurz iiber den Impressionismus!

(D) Beantworten Sie VIER der folgenden Fragen! (16)

ARG S o

Worum geht es in dem Gedicht Ach Liebste lass und eilen von Martin Opitz?
Fassen Sie den Inhalt von der Ringparabel zusammen!

Warum ist Prometheus ein geeignetes Beispiel der Epoche Sturm und Drang?
Worum geht es in der Ballade Der Handschuh von Schiller?

In wie fern ist Der Panther ein Beispiel des Symbolismus?

Worum geht es in dem Gedicht Die schlesischen Weber?

Frage II: Novelle — Aus dem Leben eines Taugenichts [20]
(A) Beantworten Sie ZWEI der folgenden Fragen! (12)

1.

2.

3.
4.

Welche bedeutung haben die Geige und die Musik in dem Leben von Taugen1chts‘7
Schreiben Sie iiber das Reisemotiv!

Wie ist die Novelle ,,Aus dem Leben eines Taugenichts* aufgebaut?

Welche Arbeit nimmt der Taugenichts wihrend seine Reise an?

(B) Beantworten Sie EINE der folgenden Fragen! (08)

1.
2.

3.

Schreiben Sie tiber die Hauptfigur der Novelle ,,Aus dem Leben eines Taugenichts*!
Welche romantische Merkmale siecht man in der Novelle ,,Aus dem Leben eines
Taugenichts“? Belegen Sie Ihre Antwort!

In wie fern ist der Protagonist in ,,Aus dem Leben eines Taugenichts* ein Gliickspilz?

Frage I11: Philosophie [15]

(A) Erginzen Sie! (Nur 5) (05)

o

AN

Der Mensch sucht nach Wissen und iiber das Staunen will er zur

gelangen.

Die behaupteten, dass unsere Realitidit zwar aus veréinderlichen
Aggregaten besteht, diese aber wiederum aus unverénderlichen Teilpartikeln bestehen.
Die bildet den wichtigsten Teil der Philosophie von Platon.

zéhlt zu den mittelalterlichen Philosophen.
Der franzgsische Philosoph gilt als Vater der Philosophie der Neuzeit.
Die Aussage Religion ist das Opium des Volkes! stammt von .
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(B) Beantworten Sie ZWEI der folgenden Fragen! (04)
1. Was bedeutet Philosophie?

2. Was haben die griechischen Denker und Philosophen versucht?

3. Was bedeutet Phinomenologie?

4. Wsist eine Synthese bei Hegel?

(C)Beantworten Sie EINE der folgenden Fragen! (06)
1. Worum geht es in den drei Kritiken von Immanuel Kant?

2. Schreiben Sie kurz iiber die Philosophie von Friedrich Nietzsche!

3. Worum geht es in der Philosophic von Martin Heidegger?
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(i) ‘Uw %3 fauurl’ wf weEE w1 o v A faf@u

(Gii) ‘v’ w1 SfEF-fesmr wifs

(jv) TE & IF IMANH &l HRU TR HifT |
(v) T TSR F LA T 2

3. fmafafed & 4 f&=i & Aomul &= Uy = wifsu [10]

(2)

(i1)

[5101]-3018

“oftorg, 9 w1 ufiofa ®)
AR wWE 9 & S —
T AT HAT hI

IR § =3 R o wehar ear 2"



(ii7)

(tv)

4. (39)

(1)

[6101]-3018

“Ia@ IR oAREl w1 uRuM sfig
™ ow gEr ?

fate |

Y- fean 1

“fi s B qH

T4 o A fagie 9 &,
o0 9y # A

frga adt ok 9 "Rt

frefafea d@fafadl § 9 fedl ura & &) famia w9 fafew : [10]
(@) AH.

(i) C.B.L

(iti) C.R.P.

tv) E.C.

(v) F.C.

(vi) L.A.

(vit) Z.P.

frfafed & @ ol wew foo@ W g@id @@\ &1 48T dIOR

EA IS (5]

() AN TEfagae H sMifd oA feedm’ w1 9uER-ud &
fau oei@ TR i

(i) Tig § ‘Gu=’ faed’ @uie @ el & fau gwa o

I |

3 P.T.O.



5. (39)

(am)

[6101]-3018

fefafed fodt T fa@ W 939 &1 I%U IR HIST [5]

() WY SF, Sudfud, W HAE YRd SRR, HAd o T
FUARE H FRIAT I D ff BEA W 7 TR W b
e U wEicE Ry W & ¥

(i) TR TR, Ug@ Wied, & T, YRd SR, Y& HAed
% ot onfc W@ w1 I WA H O HIH dfEa gl &

e # efogem W w@ €

frafafed madt stgan Sfist s=eg &1 & & omar =ifse @ [5]

Teh! TEUH GH-AT UM ARG hivl TgUMSl Tehl STEeaH U1 ST
T AU GREE 3. d Qe TEedd Yedid. griel a1 T&aM
S SR, d@ T S 3E ded A Tedl oY, @e SWH arere
8% Wehdl. WUFE Sl W T =l edl 3R ST T AW ehiordl
% S gRele W Yehal 19T AFIGRi WOl wEdare 8. Sl Hl s
RS AN HT el Y & Aol foure, ™ W @R O9ETEl i el
T & (Srerea) e A e el fedil Hell Tkl Srsen
et il @eell GHFHhe AEu arg & (AFiesic) Hel fHeere
. TUER A3l §:@d TeYTl 8 Hell 3fad ANGe ol Taal

I e Hell oWl STEAl X SUR[T Y qeUl oA Wigdl hed
St gehi=t 9 JEUUTEl Hd el el YA HE S9E el STE




[6101]-3018

SLE])

A youth being guided by another youth is just like a blind
man being guided by another blind man. Both of them will
tumble into a pit. Only that person can become a reliable
guide, who has several times negotiated the path on which
you want to walk. I want to be such a guide who has
negotiated all the roads and is able to show you the best
path (way). If you ask me as to why I myself took the wrong
path. I shall frankly say that it was because I did not come
across a good guide (preceptor). The deeds of the wicked side
tracked me and at that time there was no guide to guide
me to the right path. Had I been fortunate enough to have
a proper preceptor who might have shared my difficulties and
guided me properly. I would have been saved from many
troublesome and foolish acts which were committed by me

because of my inexperienced youth.

5 P.T.O.



[5101]-3018
CRIEELSEORTED)
g di9 "e qutisk : 80
oW — () W WA st €
(i) <fedt R fa@ &% wwi & quie ©|
1. fmfafed § 9 foft T foom | §O@ER &1 0 @R &S o [8]
@) 'qu fovafourem &1 e wERE fom W stemwert @ fog

HHER |
(i) o0 Welfoened #H ¥~ TRME Far A & ffer &1 gl &
T FHER|
2., frafafea & 4 f&=i @ = & WEY AR HifSQ [16]

(z) A gfda, ﬂ%’ﬁﬂmﬂ, YRd R g H&A gfed, HWeRsE Uy
HI TORNHT & SNF ARl BHA I TWUEAT & Hed H N
LERRS B I

(i) 3R wfed, fod #90™, YRd @R g fo WoeE & Suydfed
T W st freiR see &t fgfe & ey d siem sRew W
fran STar ©

(Gii) %% "R Uifddsl i 3R ¥ AU o= & fwo & ded o
fafoer 9 Sl ®1 WE9 SqEu|

(Gv) TUE/Ys wd, Teon, 6 AR ¥ & 4 TE. W geEiawe™
% Y= % AW e Heifaaed § i sedes 9T & faw steeH
FHLA/HT T

[5101]-3018 6



3. (31 frafafed & @ fr<l Tm st dfwfdl & fest qof ®v faf@w : [10]

(i) ACED
@) CBI
(1it) CVC
(iv) CCO
(v) CRPF
(vi) CHD
(vii) CSIR
(viii) DR
(ix) DIO
(x) ITI
(xi) ZSI
(xii) MESW
(xii1) NBO
(xiv) WHO.

(3m) frefafea # 4 frdt T wfese o1 &l s wifsg @ [6]

[5101]-3018

(i) IO HIUER TS e IAERuRE faem da wiies
sieft yfyep aff ot Wieell IR, q@= foreorgeer ===
del Rl SN AR SHE Al WA SR A [l TS
JMSEl HEed SR, oT9 UIfheaHaed ‘g&ardt’ Tsaee 4
‘T IMEERRYR AR, W Uit Ad Hiedr foHmem
gt 9o yoaemd fad ud § @ oA il UsteRr
AT T Tk Ak O 3. SR &9 aF Iadteel ol
I GEWid ARYIRIATEEl F WrFerEiel & gHE iy o
H IEAEER gHEEen YR °% 4. faen faem 3am;
yifafted Toa o1 T # qfie e T

7 P.T.O.



(ii) After building a shelter, we focused on obtaining water.
There was a rivulet nearby and to find water, we dig
a pit; it was a sort of well for us. We used that water
for drinking. For general use we would bring water
from the river which was more than two kms away.
We had a new drums in the bullockcart; we filled them
with water from the river. For bathing, we went to the
river because there was no separate shelter to bath. If
there wasn’t good enough place to stay, how could we
get a separate bathroom ? There were no toilet initially.

I was used to such conditions.
4. fTfafed § 9 f&dl =) yvi & I 989 § fafe . [20]
() e v & ge fomeae fafew)
(i) TRV R TSV H IR W Sifeg |
(iii) 3-fafsm == % 2
(jv) TR w1 & fawead fafew)

(v) TR YAl gared R yeR e S % ?

(vi) U WSS 1 HEd T IS

5. fT=fafeq 4 8 fodl =wr fomi w feufml fafew . [20]
(i) BEHAR
(i) AR i Yfewal
(iii) 3-UEEREE

(Gv) TR foem =1 iR
(v) a3 Hhd HT Yfdaed
(vi) STHIIEON hI 9T |

[5101]-3018 8



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-3019

T.Y. B.A. (Regular) EXAMINATION, 2017
HINDI : SPECIAL-3
Rt . fawie-3
& wifer wr sfoem
(enfeemter | 3MEfTHR AT qH)
(2013 PATTERN)
g e "ge quTish : 80
g :— () wft g sfed €
(i) et iR fa@ siw uwdl & yofew )
1. oTfcheid 6 wifecd &1 wgiaal @ &t [14]
3teran
frefafeaa 8 4 fodl F W fewfoel fafeg
() Ofwe ® TS gsevfE
(@) femrdt
(iii) S

(jv) THAGH|

P.T.O.



2. fwu ufigq wifes & siqvfa ammsEl wmen &t fowmad wose wifsw) [14]
AT
ffafea 4 @ fedl & W fewfml fafew .
i) ufe & gmEifss geeyH
(ii) qodie™
(iii) ST
(iv) Y|

3. WA wAgR w1 Y foRmae e sifvu [14]
3HYAT
frfafea 4 9 fe<l & W fewfrt fafew)
(i) A YOS
(i) o=
(ii7) Hfaa
(fv) “HBRHI

4., T&¥ Sy faur & foemsa =1 T wifse| [14]
AT
frefafed 4 4 foel & w fewfEr fafey |
i) o THEs e
() I
(iii) W =

(iv) ST

[5101]-3019 2



5.

[5101]-3019

(31) fr=fafed gei § @ f<l @@ Uvl & IW Th-Uskh o H

fafem [10]
@) ‘fra yem’ femsr @ o§ 2
(i) Afoeire 1@ # fFd wwm @ w1 9w fafen

(i) ‘A’ HeRed i AR 1 AW fafem

(Gv) ‘sdvt’ g wfa &1 @M T 2

(v) TWIfGEREl HEYR W HAE fORU™ &1 g9& § ?
(vi) TEREl TH & fRA Uk wem WU w1 AW fafEw)

(vii) SEYHX YA & fRA Wk TeHd H AW FAEC|

(viii) ‘e’ f/E AR & @ § 2
(Gx) ‘d7E Iug feg gaen wWosmuiRd § 2

(x) WU & frdt wh U= w1 M fafew)

(xi) ‘Hem A9’ & WEABR HE © 2

(xii) ‘Ugen g’ fwg fawr & @ ¥ 2

(3m) fam=fafera gest @& @ fo&<si W@ 9y & IR @&a9 #

fafem . [14]
() feRigi weum w1 & fawad fafe)

(ii) TEER! HEAYR & Y@ Hfgd & 9 fafew|

i) 78 Hfaa & & foromand fafew

(iv) ‘ST’ ® @ &Hfemi & AW fafew)

3 P.T.O.



[5101]-3019

(v) UfFa & ®A TR HAY T2
(vi) HIEd THY & & TEHl & IH fafew)
(vii) TEHE & Y@ UH ®HAY § 2

(viti) ‘ST’ TEA W T R HifSC |

(ix) WUA wifdan & el @ SU=E & M S@Eul

(x) o UHEg YEd & fey s & m fafeu



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No. [5101]-3020
T.Y. B.A. (Regular) EXAMINATION, 2017
HINDI (&)
Special Paper 4
fager TwX 4
(SRTeEFTTE)
(2013 PATTERN)
g dH e quTidh : 80

o :— (i) Wt ywA sfeE )

(i) <fE R fa@ % ww & quis )

1. f=fafed § ¥ f&dl €@ T & I Teh-Uah o § faf@e : [10]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)

HEU W H e F T ?
g7 Hed fRY wed § 2

SUAE Kl Tk qRY fafem)
WA 1 -G IR

gt B3 fohd *ed © 2

ey & &5 Tk IRymen fafEw)
‘T’ o aed § 2

QYA AEw Hhi ek fowiwar fafem
ek ® YhR fofer |

P.T.O.



(10) weFt & & d& FdRu|
(11) et ot weh fagmean fafew)
(12) erere & fau gy gured v fofew

2. frafafed 4 @ fdl @@ wvl & SW 4949 § fafey [20]
(1) & & ®E Teh gRA™n fafem |
(2) vy ¥ F0 aedd ¥ O?
(3) Thfakrer w1 Fr foxioad =@y
(4) Y99 & & Y@ U5 fare|

(5) HIA & dxAl Rl ool IS |

6) W & 1 FaET|

(7 & & 93 fafew)

(8) 3SUUM % T SaRU|
(9) HrEw w gy fafem
(10) ‘sHyE’ ¥ 1 Al ¥ 2
1) s & W% fafew)

(12) ¥R W@ fo&d *sd § ?

3. frafafed & 4 fFdl @ =& & AFU AR W= HINC [10]
(1) <=
(2) =
3) Fraff
(4) wom

[5101]-3020 2



4. fefafed § @ fo<l 9/ gl & S Hew # fafey . [20]
(1) ‘oo WEd wem ¥ oF aad § 2
(2) =S V=R w1 aREE SN
(3) WA @& TSl W W HiWT|

(4) TEIA ARE® w1 GHE 9R=E S|

(5) 3TUAME & WEY W ST |

6) &y & dw@ W ThE Sifau|

5. fmafafes § ¥ f5< & ool & W fowr @ fafew - [20]
(1) vwifeddl &1 = 0 gu Afen SR @& sl TRl e Sifag |
(2) HEFA HT GRAM 4 L IWh d@l W YHW Slfad|
(3) TUHMRI & dw@l & fowRr ¥ == HifSC)

(4) STC=Al 1 @WEY W KA gL 3Tel=wh & U fafem)

[6101]-3020 3



Total No. of Questions—?5] [Total No. of Printed Pages—4

Seat

o, [5101]-3021

T.Y. B.A. (Regular) EXAMINATION, 2017
PERSIAN
General Paper III

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
Texts Books :— (1) Rahbar-e-Nazad-e-Nav by Kazim Zadeh.

(2) Payam-e-Mashique by Dr. Mohd. Igbal.

N.B. .—(1) Attempt All questions.
(2)  Figures to the right indicate full marks.

1. Estimate Kazim Zadeh as a Prose writer. [16]
Or

Write a critical note on the style of Kazim Zadeh.

2. Analyse the critical importance of ‘Rahbar-e-Nazad-e-Nav’. [16]
Or

Discuss the salient features of ‘Rahbar-e-Nazad-e-Nav’.

3. Account for the popularity of Dr. Mohd. Igbal as a poet. [16]
Or

Discuss the philosophy of life as embodied in the poetry of Dr. Mohd.
Igbal.

P.T.O.



4, (A) Reproduce in your own Persian any one the following : [8]
T (D)
Hoz

kb=l (M)

(B)  Write any two of the following poetic forms : [8]
S, ()
Jr ()
G
$& (M

5. (A) Translate any two of the following passages into English or
Urdu or Marathi : (8]
UH/»&()'C]?:C;/ Cf,gggﬁlp)/ﬁw’d'ﬁ’/{/’u:«;w (1)
¢/ ! T ,vfu’"y‘i/ Y u“w;f.,{d,ﬁ):/u/%;ﬁdm,};u
Lot (RS 6Tt S QLU S e
) O Lf.fv/)?, 23l 5t 1 sl JLT; ,d/d/ Rl :«lggﬂ; 2ilry
_,gV'Jffg&U:lg 6{}4,&‘2"‘

2 [5101]-3021



ey o et Ly fTJJV ff‘?ﬂu JJT Sl Ul e ﬁ) (")
o e FTPir £z e G160 St P s
ﬁfzﬁ ¢ »&"g..,:}f RULI%s d/;’o:l/'o}/wk‘-)c«/’)ﬁ; S
Sk 19§ e e e S ST I A g L
_;:é‘/;u/lufdﬂd/}yﬁ‘téb
BTG 7 Qb (A AF 22 ol 826 02 G r (1)
sy G w15 80 Plad b g1 1L 0
;:/&L?u{}bu:&U!:&if&ﬁ’*w’lﬁféﬁryﬁﬁﬂulﬁ“
f) aﬁ:y}jfﬁﬂf‘;f?-ub)ﬁg’y}i Le:’*’]i..{/
(& IR lJLﬁ'J}"‘u/UJ})
(B)  Explain in Persian or translate and explain in English, Urdu
or Marathi any four of the following couplets : 8]
INSET e G O
e be SC b S S o bt
ey g e f{é;m (r)
)M}U}J/%Lr‘urjé 4

P.T.O. 3 [5101]-3021



e YT Ids b

e Yo P U
.ytw)@gf,cj b S eals
(fgbf/, el K122
st st sl S
ﬂ'ﬁvcf:r/z’}: ul,awl’
});fcd{/‘l’ayzu)/’ﬁ’
e ST P

)

()

(o)

QD)

[5101]-3021



Total No. of Questions—4] [Total No. of Printed Pages—4

[5101]-3022

Seat
No.

T.Y. B.A. (Regular) EXAMINATION, 2017
SANSKRIT
General Paper III
(2013 PATTERN)
Title : (1) Venisamharam (3U{fHERY)
(2) Bhaminivilasah (fHifaers:)

Time : Three Hours Maximum Marks : 80

1. (A) Translate into English or Marathi (any {wo) : [10]
Ted feRar TS AR & (FIERT GrEid)
(7)) TASTafrdfaaase Aaysi:
FINCRvga a8 dfa=Tged: |
fagr fafg o1 TTgwTHE w59:

Tehvl: qoqn FRERvERSrad I
(i) §E —  gfEg 9afd eEfcer © WEeTHEE
Fastumt  HerSgEeTE  afelt g

femfaaeiyenfans da=d |
CCl —  ofgf, My vufd g |
WoesH: fe 9 &g Y& |

P.T.O.



(B)

2. A

[56101]-3022

qaIAdt — B | ToHaq | Ty T wolstaase-eee e

T gfqwfd |
et —  J99 doegdq femet | dFemf gfaseree
gITgal qaargshidad 9 UReRmaE: |
(iff) FU: — g™, IIE HFAa@daq |

el — oM Ud 9Euifai @fa Jeadd WihR ey |

foog w9 Sfafd a<w@: SyvRHarCEH |
HYA KA EE: g0 wgRE

i — 3w, feEe fead aee SedRyedten gg
IS AGYTHEEHH Fid: |

swacaml —  oTgYS, foeme war fewa foem sfa 1 g
Ffchad |

Explain with reference to the context any two of the
following : [10]

Le | G0 T | L M e B e B e A e e
(7)) & T THMH HEpAOE cIudEdy |
(i) AR A defd wfian |
(i) ®Afd FThdeid 9 g 9 fesafta |
Critically appreciate the third Act of the Drama ‘aﬂm’.
‘JuifeRy’ Aewna o o fafecas WRT & [10]
Or
(feram)

Write descriptive notes on the following :

areiiel fasaer fag=es ufieee fome

(/) Character sketch of Bhima in JUHERY.
Juitgery’ wefid fiHe =SfRE-feson

(i) Dream of WIgAdl.

EAdE .




(B)

3. A

[6101]-3022

Fill in the blanks (any five) :

oMt qEd (=l o) [10]
O it T R —— |

D T m— ST |

D — @ T |

T T — = T

R i e S — |

(vi) BT, et oo M Wy W |

TN o TR E— |

Translate into English or Marathi (any two) :
N fopal T8 TR &4 (FIOARN S@=) [10]

(1) favma fasEEdaaITeEN

TR TEedaehiad Aerd H: |
sm=fafefel  Hiaemgdmf<t

SN S ~

eh<qEdi<l =RAg FhrEaH |

(2) AT USANRETITHRTHIST

o [

foemaRIfafFiceh el a1 <Icarm |

ST §: WMl VARl SEel e
fagml = ged qdyg w© uef<d werse: |l

(3) ¥ <rFeHS™l M RN ShedlaHTATR -
AAErfeepTiiAl  oafyar: dmieq o1 Heq |
STArer A REgred . et
Feufad WA TRAl Al TSR |

3 P.T.O.



(B)

4. (A

(B)

[5101]-3022

Explain with reference to the context any Zwo of the following :

WeftcTehl HIcE S@ie gacy st &3
(7)) YRSty T aesfd wem g=ista |
() feoma &8 afg FRdE=faiEy |

N

o

(i) TYAHE g9t ®wfd A ©qedshal TU: |

Critically appreciate Anyoktis in Bhaminivalasa.

Wifaamarda edia fafecds @WUs &
Or
(feram)
(/) ‘geavH in Bhaminivilasa
CIEEIERICINCENCRER L

[10]

[10]

(i) Confidence of Pandit Jagannatha towards his poetic skill.

qfed SPT=aT=E WUfdddredE  AcH{agaTd.

Fill in the blanks (any five) :

e @@d  (hh ah)

(1,) rq”ra %Lq"a HQHFQ""'“”'S': ....................... l

(11:) %THI % i ﬁ%ﬁ %H@r_—c'?h ....................... l

(1'1‘1') |: . ﬁ fs ﬂﬁf a’. -@é ....................... -q-l- mﬁ‘ q;?:"’:
(IV) :ﬁ_{ ﬁl’%@iﬁ ....................... aﬁa aﬁa a_d; |
(V) \Ea hd SW ....................... 'q%Fﬁ' l

4

[10]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No.

[5101]-3023

Time :

Texts

N.B. :—

1. (A

(B)

T.Y. B.A. (Regular) EXAMINATION, 2017
SANSKRIT (§&d) S-3
(2013 PATTERN)

Three Hours Maximum Marks : 80

(1) ogfagraemd (Fen, G, faveeed)

(ii) History of Vedic Literature (3fc® daremam=n sfaem)

(iti) Sanskrit Composition (H@@d BELNICED)
(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(i) wd uvd AfEr  eTRa.
(i) SvEherd e qul U gEiferd.

Explain any two of the following : [10]

JEcTieh! HIVAR SrEid ISR
(i) afmfafa ffdR g

(7)) IO |

(i1i) ™M ®:|

Explain any two of the following : [5]

JEICTUh! RIUCAR] Slaid TR
(z)  SIgqm:
(i) =AW
(fii) G

P.T.O.



2. (A

Split any four of the following by quoting relevant rules : [10]
JRUdh! HIVAR AR Fafgd g 9 difaeh 3G hed  Giufong
%l

(i) U |
(I1) I |
(iii) oNfe: |
(iv) dfesd:|
(v) TEME|
(vi) TH faoy:|
(B) 3fuaitt g fafaqd (wv=fu os=) [10]
I Sedl Jeodl  (HITATE UT)
(1) = (1) UH
(2) @ i) dfs:
(3) gwa ({ii) SUSYRY: SIANGd: T
(4) 31 (iv) R
(5) | (v) HEANHR! T=:
(6)  SAAEHR: (vi) W HfeTs:
(7)  dfed (vii) F=4:
3. Write an essay on ‘ISqg’. [15]

‘aee’ W fawaEer few T

Or/ferarn

Explain the nature of ‘RUIHUY’.

ANTIRTAE WEY T H.

[5101]-3023



4, (A) Write critical paragraph on any two of the following : [10]

JAcuh! IR g faaws =k fom

(i)  OTfUTreATR T
(i)  TIILSITRIOR
(iii) TUShHIUTER

(B) 3fuatt g fafeaqd (k= os=) [10]
AMG SN el (VAR °T=)
(1) RTeR: (i) AR
(2) IAs: (i) YYANHYg
(3) T (iii) =ATEfEm
(4) HIARTEH (iv) hISaRAfTEg
(5) iR (v) SIS
(6) HHoT: (vi)  STITERH
(7) AR (vii) T

5. Write a short essay in Sanskrit on any one of the following : [10]

TIeaish! HIVAR! Tehlek T&pa ey foas
() orErdd faenfesia

@) w¥ = St

(iii) GHIoaeeT |

[5101]-3023 3



Total No. of Questions—4]

Seat
No.

Time :
N.B. :—

1. (A

(B)

2. (A

Three Hours

[Total No. of Printed Pages—3

[5101]-3024

T.Y. B.A. (Regular) EXAMINATION, 2017

SANSKRIT
Special Paper IV
(2013 PATTERN)

(i)  STcHMHIgS® (Atmanatmavivek)
(i) dHEUE: (Tarksarngrah).

Maximum Marks : 80

Explain with reference to the context any two of the

following :

[10]

GAIUehl HIUAEl drald HeHigs TSI

(i)  SACHMTHIORIST  hiddl T-erehlfefy: |
(ii) SAfEmEEHT SEd |
(i) wHfO Yeg FAf<Aion gsd |

Write critical notes on any two of the following : [10]

Wt B @@ s fon fow
(i) AR

(1i) AAEH

(tiz) 9Tom:

(fv) YodehIN: |

Explain fully the nature of Antman.
S WEY WU T A
Or
(feram)
Explain in detail concept of TJTIRR,

TR Hehodd Afa T .

[10]

P.T.O.



(B)
3. (A
(B)
4. (A)

[6101]-3024

feream qag (=l us=) [10]
e S v (SioTEEl ure)

. .
(.) W’ ﬁ; ﬁ-ﬁ:lﬁ- g@-{ ....................................... ﬁm-q-l
l .
AN
.. o N e~ *
(Ll) a—l-q-l-q- ....................................... ll ;: ,“c“{ll Wl
N
. .
R B B A M 1 1= MR R W;@-ﬁ“
(224 .
.
(LU) ....................................... = W aaa?ﬁ e D) gﬁ[l
v W’ ....................................... q ‘HTJIﬁ'II
.
.
(Ul) STACIFT AT SIEIG TG coooeeerrrereeemseeeseemneeeesennees
. . .
( ) W,{ g maﬁgﬁ—d QK[ ....................................... |
ULl X
~

Explain with reference to the context any two of the

following : [10]

GIecTieh! HIUAE qraid Geuias T

(i) ERfEEE ag:|

(ii)  SCAIUTISIUR S Y ARUNTHAIN  qod  ShH{T |

(i) AVE: =qa9: |

Write critical notes on any two of the following : [10]
JEicteh] el areier fag=es femr femr

(@) 3ByHH

(it)  3TgHM

(Tii) Mg

(fv) STAMATHE: |

Explain fully the ‘stsandwefay wf-iews:’. [10]
‘stsamdwefay wf-ews:’ wfaem T &

2



Or
(fenam)
Explain fully Seven Padarthas mentioned in ‘Tarksamgraha’.

[l aY

(B) 3f=att gm fafaqa (=t o==) [10]

AT Sedl S[Bal (IR UT™)

(1)  geAro — ¥«

(17) O - T4

(iii) e —  =qfawfa

(iv) femrem: - EGIERE

(v) FAYE: — 37

(vi) S —  EqfgaeRiar
(vii) 9; - IERieq

[5101]-3024 3



Total No. of Questions—35] [Total No. of Printed Pages—5

Seat

T.Y. B.A. (Regular) EXAMINATION, 2017
ARABIC
General Paper III
(2013 PATTERN)

Time : Three Hours

N [5101]-3027

Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages :
> - - Tox 70 -~ ERE - > 1, 7 2 w o B ,‘7"” .

z -

<. - > 1 PR - /.’f;:q;, - > f‘.’/ﬂz z -
L.;.a,:;..w —“;*::--?-M g/.) 25 A 9 i\.s SE LS% L.\.M.l.z-;ﬁ Lods 9 _l= L_M.a

o o7 @

) 53 S el C P A&l
> Lae RS0 Miu{.g:g)_f. T g e

-

(»

\ Ln
R
EN
Lo

-
-

-
[

PGS - - A T R a e . @ i - £ .82 T
SO 5L G Al SU ez CL%ZM Aot i) aean )]

-
£ - 4

N
< . 277 LT # AL er eI - T o L& 8
Ll oy 90 Laseo) AlR e ad L:‘.,j J.f A Ls _ L.;_:..L_S; ¢ D R

-7 R P Sle o - . - @ £, 27
Ll clasjadle Ll Hadss ) Lox0 e Laadb) 10 a5
c L) /‘/‘?/ ] B ) :Gé f/). Y PEPE PR

e L~ .X.:/.— L’f Lsé J\.& - _ojc.:’if CJ\.A}L’.A

-

e -0 7 L . T ISP AR SRS R 2 .
J..‘,/a\.} _uwj A.g\.& tds.c.:/-J.M..q.j\ LJ RS U\J..‘,/a\.JLg L .,LPJ : A:.—L_ﬂ” (u)

@ P ]

P ,f& > Z P . - s 25 2 .
Ledy Linl jae L8 atxggb A s Ll o] &j_?MY\ =

P.T.O.

[16]



Lo B L sw . P AT SRR P P
Ji{.& ..\.;.3 90, j\.?.'n:.ﬁ As Lie LSLC« \.,:..‘./M..l.z— %ﬁ)\.ﬁjj\ & islad) =3

L@ . . e PR B A 7 8 2 7. S o
ci..;p/- J..:WA.M cﬁ U :..3 LS'L'C N EPE 9 ¢ U‘;”: {..G.:.A..S Li J...f« s Q;;}’\.;‘.;i
oW 2. ..

-
.

J/:/J-w; A }f// - = Jf E ] ‘“.. Pl 2
Vsals pddl Sulicadt cstelas” (a2 S ) gi\j{.ﬂ ) By
- B P

IO (R PR ST B [RER S [ [ [

-

A2
> ’,) «1‘:
C,.i.g..la‘v..a

s 2 s

e PR 2 s, oo P < . 7o 7E
;:,..@.2;1 ;;)\..C«\..w C¢i J\.&_g) J‘_:“:“?'_:M \J\._aj 5..9\._9_“ = S_EJ\JJ_AH

< PR s .7 L 2 PR

-C jm.o.j‘ &f L > g 3.;.:: J..m».j\

P ? P

- . L@ :f :/)ﬁ }‘L I A R ) f/@ ;,,
VW %L;i b Ariallads alsl all) (...3_5\ ek O) gy Al

e
R 2

> - A, . LE & _LE o - @ ),"/ 7
85)) Of\..@.i c&.zd _O\u\.ij J.;-J‘ C.U\ \..@.5) (j,;f\.;’-..\._ﬂ ) c_o._kn_:.s

ey ‘5 3

- Bl It - . e Bl - - ¢
Ve L'G'i s e aa ) ol b ) _2\_,0_;3\ j{-'&)j‘j g\__,.;_é,,’}“

w2 Lo I )Tf//)i\./j/
;\._4 J/.g J} i‘..o_.:.g.;- i‘.>=_>/- Az ) LgJ 9

W5 e lldsn b s o

ST PR N R T Tt P2 R e . P s
u;z;'.«.:jz\.o.'jj\wdf\.sj _LW U&L@_:@\J.s Afj.w\.@_:\f_oj\;-dw_a-
BN )j«/ z . .}4.;./¢)) 2 . . /.)/; f/} .f/ - & Y
‘/\.,,.gM\A\L@'}u‘u\g'./u“jb-M%wucﬁjg\._ﬁ)y‘ﬁj
o LU I
-L}”“‘/;A‘f

2. (A)  Explain any one of the following Surahs :

52728

Z 35

S\ o)

2

LAY

()

[8]
(M)
(M)
(")

[5101]-3027



(B) Summarise any two of the following : [8]

SEN 5 E LS ()

A a3 (Y

sl AT ()
3. (A)  Explain with reference to the context any four of the following :
[8]

JeSI gl sl yasdt 3l ()

JeY B 3 e Canal i
a 0L GG S Le oty ()

R

SUERIEIns] Qs CL;;M o
ViAW B edanty (1)
NSRRI PO

3= R SOy (9

J 35 s J S S5

P.T.O. 3 [5101]-3027



Lalilas e Y (o)
) 3 L2006 S e
Gef b a4
Jaze y S 2 8, 2 (S
(B)  Write the short notes on any two of the following : [8]
Ay st aSLE ()
EOYN L:xl\}ﬁ (%)
>ttt ()

8> 4l (%)

4, Define with examples any two of the following : [16]

Aadll A2 S AN ()

—n

3aNT ()
LIEANELE (m)

8, 2@ %

dpeinzdl (8)

-

5. (A) Translate into English the following passage : [8]
SRS S SRS s GBS B T s DS A
e Al A S W A G il S das et
o S LT B 91 5 T e S A S 2

-8

LI & e el B 2GRN 5 G Canll

4 [5101]-3027



(B) Translate into Arabic the following passage : [8]
“The city of Madras is distinguished by its moderate climate.
It is not extremely hot in summer like other cities nor
extremely cold during winter. The city experiences seasonal
rains which provide water to the animals and plants and
therein are many ministerial offices, colleges, institutes and
schools in it. It is an industrial and commercial city. An
airport, highways and the Railway Station connect her with

the other states of India.”

5 [5101]-3027



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3028

T.Y. B.A. (Regular) EXAMINATION, 2017
ECONOMICS
General Paper III
(Economic Development and Planning)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
() Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(1) Explain the concept of economic development.
(if) State the causes of vicious circle of poverty.
(ir75) What is Indirect Foreign Investment ?
(iv) State the objectives of monetary policy.
(v) State the needs of economic planning.

(vi) State the external Bottlenecks of economic development.

2. Answer the following questions in 200 words each (any two) :[20]

(1)  Explain the difference between Economic growth and Economic
development.
P.T.O.



(i) Explain the population explosion in economic development.
(i) State the causes of low productivity of agriculture.

(iv) State the tools of Fiscal Policy.

3. Answer any one of the following questions in 400 words : [20]

(1) What is meant by developing country ? Explain the economic

and socio characteristics of a developing country.

(zi) Explain the inclusive growth approach in Eleventh Five Year
plan.

4. Write short notes on (any four) : [20]
(1)  Approach of balanced growth
(i) Centralised planning
(i) State the concepts of Schumpeter innovation.
(iv) State the main constraints of advanced technology.
(v)  Regional planning and National planning

(vi) Production function.

(AE waiav)
9@ : dF A THUT TOT : 80
gl — (1) |d WA HEfau serdas SR
(77) 3EREl® & YU IO TFifoard.
(jif) TRHERE B IUST GEAUCAR] TaEl.

1. WOl WA=l 100 ITSid SR fogl (HIvdel =9m) [20]

(7)) omfefer foehram=n Hehoudl TS HA.

[5101]-3028 2



(7)) TG geasmrEl HRU 9.

(fi)) A TWhI T[AdAUh /IS HE 7

D
g

(v TS W"S =

(vi) oTfder foshmardic oed TS¥es .

2. We WAE 200 IEE SW fe (FOE gF) [20]
() of¥e fawm onfr ofds gomHic ®& W= &
(7)) THREEA YTRE oNfY¥e fowmde Aegw e &
(7)) T IAEHAT HHT AGAH HRO HATL
(7v) TFREE  HRUTET EEF 9L

3. WHoUhl HIVEE Tl WA 400 II=@ S fowr [20]
(1) fowowmie @1 wuw & ? faeawie @m=l onfds o @mifss
IR T

(77) STRTA U= oifieh ASHAIG T GHORR J@l gRIeH W H

4. ded@ fow fogr (SR |aw) [20]

(/) wgfea fawmmEn e

(77) “haia TESH

(7)) FEX A AOWEdel  Hehoddl .
(7v) WA TREE a0 TE €9 9.
(v) YRR fEsm sufr ad e
(vi) AT .

[56101]-3028 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3029

T.Y. B.A. (Regular) EXAMINATION, 2017
ECONOMICS
Special Paper III
S-3 : International Economics

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the determinants of Terms of Trade.

(ii) Explain the role of Multinational Companies in Economic
Development.

(ii1) Explain the importance of International Trade.
(iv) Explain the concept of Interregional Trade.
(v) Explain the types of Tariff.

(vi) Write objectives of World Trade Organisation.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain Arguments in favour of Free Trade Policy.
(ii) Explain direction of India’s Foreign Trade.
(ii1) Explain the scope of International KEconomics.

(iv) Explain features and importance of Balance of Trade.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(i) What is meant by Variable Exchange Rate ? Explain merits
and demerits of Variable Exchange Rate.

(i1) Explain the Comparative Cost Advantage Theory.

4, Write short notes on (any four) : [20]
(i)  Protection Policy
(ii) Intra Industry Trade
(iti) India and World Trade Organisation
(iv) Convertibility of Rupee
(v)  Multinational Companies

(vi) Assumptions of Hecksher-Ohlin Theory.

(TS wuiaw)
q@ : A A THUT TUT : 80
oA :— () W UYd Uefam seavas e
(ii) 3SSEheld e T qU YU gEifaan.
(iii) TEIEIS Hoo TUSH UYAUCIRT TRrEl.

1. Teld el S @@ 100 ¥=[ el (Fivdd 9r/) [20]
() AURE FfEd oM Hes TR H
(i) onfder foskmamdial gUSE ®Hu=Ar=l qfihr T FH.
(i) STRUSE AN Hed W Hl.
(jv) STAURRG AR Fhoddl T H.

(v) TR YRR T HJ.

SN

(vi) SIfdeh YR FEeA= 3fEese o

[6101]-3029 2



2.  WEld YeAEl W YAR! 200 V[ fo@ (FO0E @9) [20]
(i) I WNR RO SIS gfkel TR H.
({i) AR WhRd A= fo¥n TS 6
({ii) AT AYIMET AT TS .
(jv) ARG AR F HEd T H.

3. Wladysh! HIUAR Tl Y= S 400 ¥k fo@r : [20]
(i) cad fafma R BN & 7 deadl faFHma S wER-de. W
.

(i) qoaTHs TE-aY fagra s &

4, GeFd few fag (FivEE 9w) [20]
(i) Gdd FMUR RO

(ii) 3TN AR

(iii) SIMfder AR 9o A0 YRd

o o

Gv) TUAEl  gREdfE

(v) TETEE HIA

- o

(vi) TRTR-ARfeA fagaEt Tfe.

[6101]-3029 3



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat
No.

[5101]-3030

T.Y. B.A. (Regular) EXAMINATION, 2017
ECONOMICS
Special Paper IV
(S-4 : Elementary Quantitative Technique)
(2013 PATTERN)
¢ Three Hours Maximum Marks : 80
:— (1) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]
(i) Explain the functions of Statistics.

(i1) Explain the methods of collecting primary data.

(ii1) Explain the merits and demerits of median.

(iv) Explain the types of Correlation.

(v) Explain the concept of Elasticity of Demand.

(vi) State the steps of Chi-square test.

Answer the following questions in 200 words each (any two) : [20]

(i) What is Statistics ? Explain the limitations of statistics.

(i1) (a) Find out Arithemetic mean of the following series :
55, 66, 52, 72, 65, 58, 60.

P.T.O.



)

Marks of T.Y. B.A. students in Economics Paper 3 is
given, prepare discrete frequency distribution :

21, 20, 20, 22, 20, 22, 30, 21, 22, 30, 21, 22, 25, 30,
21, 25, 20, 22, 21, 20.

(zz1) What is meant deviation ? State the merits and demerits of

mean deviation.

(iv) What is Arithemetic mean ? Explain the merits and demerits

of Arithemetic mean.

3. Answer the following questions (any one) : [20]
(i) (a) Find out the compound interest on Rs. 20,000 for 4 years
at 5% p.a. interest rate.
(b) Find the simple interest on Rs. 24,000 for 3 years at
12% p.a. interest rate.
(ii) What is Mode ? Explain the merits and demerits of mode.
4, Write short notes on (any four) : [20]

(i) Scope of Statistics

(it) Sources of secondary data

(zi1) Deviation coefficient

(iv) Formulation of Hypothesis

(v) Importance of Index Number

(vi) Basic Concept of Population.

[5101]-3030
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(W& wUIw)
q@ : dN A TRUT TUT : 80
el :— () 9d WA Gefau oeRasd S
(i) ST siE i o eI
({ii) TRUEES! Hed SUSH AR TgTal.

1. Gt 99l S Yl 100 IS foel (el 9r) [20]

() TEARTSEET %hE W &
(i) wafaes wifedt facsfavar=n ggdl T &
(iii) WERTE TU-TE W R

(Gv) TEHIYUE PR T FH.

(v) HETU=AT Sdfgeshdel Heheddl T .

(vi) TN-WRHIR A=A UREAT 90

2, Wl YR W OYR! 200 Vi ol (FRivEr M) [20]
() URTE =S & 7 USRS TaE R 6l
(ii) (@) Cciiad YSHITAT STER TUdd | ohlal
55, 66, 52, 72, 65, 58, 60.
(b) qAF TN hell MG AN TR-3 Hey foeneain Heererat
O EEAAYHTl  3TRd. Eed Teld  aRamal daR &
21, 20, 20, 22, 20, 22, 30, 21, 22, 30, 21, 22, 25, 30,
21, 25, 20, 22, 21, 20.

(iii)) WA foued WS ®@ ? WOEd 99w ™ [U-SM §@hm.
(iv) STRTOCE TOHRT (FeA) WUS A 7 SHOCE S O3
e .
[5101]-3030 3 P.TO.



3. Wid Yl SW el (S ueR) [20]
(i) (@) 20,000 TII THEHAR 4 I8 AEAER SHGI. 5% TAT FAhAE

AN ohlal.

(b) TEII. 12% T 24,000 TOAE 3 IUE TBAS  Hlal

(ii) Wgd%h WUS HF ? Wgohld TU-SY TR HK.

4, dieHE feur fag (FIUEE 9®) [20]
(i) EEIRTSTE Al
(i) T@A wifEd= #id
(iii) fo=eT=n HEUh
(lv) Tfepcar=t TN d HISOH
(v) Fdere wEE
(vi) IS Heheud ferel THU HeAl

[5101]-3030 4



[5101]-3030
(S-4 : Public Finance)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the role of government in an economy.
(ii) State the effects of Public expenditure.
(ii1) Explain the concepts of ‘Impact of Tax’ and ‘Incidence of Tax’.
(iv) What is Fiscal Policy ?
(v) Explain the concept of ‘Balanced Budget’.

(vi) State the meaning of ‘Deficit Financing’.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the nature and scope of Public Finance.
(ii) Explain the types of Public debt.
(ii1) Explain the recommendations of 13th Finance Commission.

(iv) Explain the causes of deficit financing.

3. Answer any one of the following questions in 400 words : [20]
(i) What is Public Expenditure ? Explain the causes of increase

in Public Expenditure.
(i1) Discuss the trends in India’s Deficit Financing since, 2001.

[5101]-3030 5 P.T.O.



4, Write short notes on (any four) : [20]
(i) Methods of Repayment of Public Debt
(i1) Classification of Public Expenditure
(iii) Private Finance and Public Finance
(iv) Preparation of Indian Central Budget
(v)  Centre-State Conflict
(vi) Role of Fiscal Policy.

(WS wuiaw)
AB : dH qE THIT TOT : 80
M :— (i) ¥ WA Fiefau AeRIE 3.
(i) Iohel® 3k YO U SFifedm.
(iii) WU HB TUSH FLAUAHT TR,

1. W YgEt S Yde! 100 veSid ferer (RivEl =9 m) e [20]
(i) ASHIERT GRRET YfHRT TR H

(ii) HESHe TEiE 9RomE g9

(Gi1) ‘gErd’ ST ‘IR’ HehoUdl WS H.
(Gv) USRI URU WS % ?
(v) HUAIA STENSUhRET ThHegdl W H.

(vi) qEr=n STdwIoaTEr o7 WL

2. el YeEl SW YS! 200 veid feler (RivdEr @F) : [20]

(1) HESh TSI WEY ST aret TS .

[5101]-3030 6



(ii) HESeh e YRR TR .
(Gii) AU fau o= wrRel T %L

(jv) qE=A AT HRU TR

3. Eciid HIUER TRl Y IR 400 &M Toel : [20]
(i) AR @9 WIS & ? HEWHe Od ded R TR 6.

(i) ‘20017 URAAT WRAEAT el ASWRuAEl gesl' ==l &

4, g few feer (dorEE \w) [20]
(i) HESITh TS Waher=Al qgdl
(i) WESe e SRt
(iii) TIeF 3TIead SNfor greSifie Ay
(iv) YRATA g TS TR
(v) He-Tg foxita g
(vi) TSRS GROM=T fienT.

[5101]-3030 7



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-3031

T.Y. B.A. (Regular) EXAMINATION, 2017
POLITICAL SCIENCE
General Paper III
(Political Ideologies)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words
each) : [20]
(1) Write meaning and nature of Ideology.
(2) Write meaning and definition of Nationalism.
(3) Write meaning and definition of Democratic Socialism.
(4) State M. Phule’s thought on equality.
(6)  Surplus Value.
(6) M. Gandhi’s concept of Truth.

2. Attempt any two questions of the following (in 200 words
each) : [20]
(1) Write Dialectic Materialism of Karl Marx.

P.T.O.



(2) Explain the concept of Corporate State.
(3) Write Dr. Ambedkar’s thought on Democracy.

(4) Write in detail Feminism in India.

3. Attempt any one question of the following (in 400 words) : [20]
(1) Explain in detail characteristics of Democratic Socialism.
(2)  Explain M. Gandhi’s concept of Truth and write in detail techniques
of Satyagraha.

4, Write short notes on (any four) : [20]
(1) Internationalism
(2) End of Ideology
(3) Dr. Ambedkar’s views on Religion
(4) Wither Away of State
(5) Women’s Representation

(6) M. Gandhi’s views on non-violence.

(S wuiav)
q% : || A THUT TOT : 80
AT :— (i) ¥ WA Fiefaul AeRIE 3.
(i) SSElhele 3k YO O SFifed.
(iii) USHEIS! Hed TUSH UYAUfAhT Tl

1. Wdidieh! HIUdE 9 999 @redr (T 100 ) [20]
(1) foaryomet=n 219 oot wwy o

[6101]-3031 2



(2) AR A9 ot =men  fomn

N

(8) Anymel gHSERRET 31d 9 oaem  fown

~ faY

(4) ¥ H/d AN FHAOEE  foER @
(5) Al Hea.
(6) W TSHEl WAl Hehed .

2. WUkl HIUdEl M 939 @eal (Yt 200 IEd) : [20]
(1) kil HE=T gelcAsh  Hifdehare  fogl.

(2) UEHERHE T T Hhoeddl W H.

(8) Tl AdeHhid dhvEiaugs fa=mr @l

(4) YRAA e dfas fdgrn

3. Welicie! IR Ueh U9 Greal (400 &) [20]

(1) el THNERRET dfivmel gfasR W .
(2) W TSIl HAURRET Hehoeddl W A ARl @WEd Hiawr
fetar.

4, dgredE few fa@r (SUddE 9w) [20]
(1)  HegaR
(2) fo=myume=n sm@
(3) Tl AEHTY yHfawIEw faER
4) T fasa S
(5) Higem widiee
(6) W TS AfgwfawEes  fa=ur.

[5101]-3031 3 P.T.O.



[5101]-3031

(Local Self-Government in Maharashtra)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words
each) : [20]

(1)
(2)
3)
(4)
(5)
(6)

Gram Sabha

Mayor

Election Reforms

Prin. P.B. Patil Committee

Impact of Leadership on development

Importance of Local Self-Government.

2. Attempt any two questions of the following (in 200 words

each) :

(1)
(2)

3)
(4)

[20]
Importance of 73rd amendment.

Explain the structure, powers and functions of State Election
Commission.

Explain the challenges before local self-government.

Explain the composition, powers and functions of Gram Panchayat.

3. Attempt any one question of the following (in 400 words) : [20]

(1)
[6101]-3031

Explain the composition, powers and functions of Zillha Parishad.

4



(2) Explain the composition, powers and functions of Municipal

Corporation.

4, Write short notes on (any four) : [20]
(1) Balwantrai Mehta Committee
(2)  Functions of Gram Sabha
(3) Chief Executive Officer of Zillha Parishad
(4) Models of emerging leadership
(6) Nagar Panchayat

(6) Women’s representation in Panchayat Raj System.

(W& waiav)
q@ : AN A TeRUT TUT : 80
el :— () 9d WA Gefau oeRasd S
(ii) ISelhel® &% qO IO SFifodm.
(iii) WU HB TUSH FLAUAHT TR,

1. Tclddsl HIvE 9R YeE gedr (Y& 100 IEE) [20]
(1) UHg
(2) TR
(3) e gumon

(4) veH e ueie afid
(5) fasraEadid Agem=n gvE
(6) T WS TN UEd.
[5101]-3031 5 P.T.O.




2. Ecidusl ®IUME gM TR Sedl (w200 ¥EM@)
(1) 7331 HARGEHD Ha
2) T fEfed smEm @, & 9 SfYsR e &
(3) TMH W TRHUARA 3| T .
(4) THYEECEED AL YRR 9 % W FA

3. Weiicide] SIUMRI ek U9 Greal (400 &)
(1) fScemfee=t @A, &R a9 ®E W< S

SN

(2) UEMRUch=t A, ST¥eR 9 & T &

4, dieRE few T (FUME WR) :
(1) Sgaud Heal affdt
(2)  UWEY= HE

(3) Fgmuftoe=n & ®E&R  STURRT

(4) FJETel STATRH UTEY
(5) TRU=TE

[a} o S S

(6) JarIaS]  SFaEddid  Higan gfdfqei.

[6101]-3031 6
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5101]-3032

Time :

T.Y. B.A. (Regular) EXAMINATION, 2017
POLITICAL SCIENCE
Special Paper III
(Public Administration)

(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any four questions of the following (in 100 words

each) :

(@)
b)

(c)
(d)
(e)
V),

[20]
Mention the significance of Public Administration.

State the ‘Behavioural Approach to study public Administra-
tion.

The concept of ‘Good Governance’.

Importance of recruitment in personnel administration.
Mention the scope of Public Administration.

Mention the characteristics of Budget.

2. Attempt any two questions of the following (in 200 words

each) :

(a)
(®)
(c)
(d)

[20]
Explain the types of Budget.
Explain the need of training.
Define ‘Bureaucracy’ and explain the merits of Bureaucracy.

Explain the objectives of E-Governance.

P.T.O.



3. Attempt any one question of the following (in 400 words each) :
[20]
(a) Describe the budgetary process in India.

(b) Describe the challenges before Good Governance in India.

4, Write short notes on (any four) : [20]
(a) Public-private partnerships
(b) New Public Administration : Its Goals
(c) Legislative control over administration
(d) Nature of Budget
(e) Principles of promotion

(/) Administrative accountability.

(& wuiav)

% : dF A THUT TUT : 80
o :— (i) wd WA Hefan At o wR.
(i) SodRel® & YU U TFifad.

1. WOEds HOde AR TR "@eal (s 100 I=E) [20]
(37) HWMETE Hed o

() CAIRILMEAAT SAEE FdTaral gSiehd T 6.
(%) ‘G-I’ Fehe .

() TYa& WNEAA 9 He.

(3) ARy s forer

COREHELEEIE I IEEo R G

ha VA

2. GAIAUeh!  hIUdel @M U39 dedl (Y&l 200 3IE[) [20]
(31) SRR_NUTRN YhR T H.

[6101]-3032 2



(9) YivTeom=l WS W hL
(%) ‘et Sen faw onf AewEE U TR &
(8) ‘E-wmEar Sfes e &

3. WE@UH! FHUMAE Tk WA Hieal (400 ITEE) [20]
(31) YRAIA SAeeUhE Flhde auiF &
(q) YRANE G-IMEAEURA STEeHE auid .

4. gigFE oo foaer (SRl W®) [20]
(31) wESH-TS e
(9) e ARYIMEAE 8
(%) TR fadfiHee e
() SRR ©ET
(3) weda dd
(F) WEMEHRE STUEIIE.

[5101]-3032 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-3033

T.Y. B.A. (Regular) EXAMINATION, 2017
POLITICS
Special Paper IV
(International Politics)
(2013 PATTERN)
¢ Three Hours Maximum Marks : 80
:— (1) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Attempt any four questions (in 100 words each) : [20]

(@) Mention the definition and scope of the term ‘International
Politics’.

(b) Mention the factors threatening the Global Security.

(c) State the functions of Diplomates.

(d) Mention the challenges before Disarmament.

(e) State the meaning and types of the term ‘Human Rights’.

(f) Give the meaning and nature of the term Environmentalism.

P.T.O.
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2. Attempt any two questions (in 200 words each) : [20]
(a) Give the meaning and definitions of the term ‘National Power.’
Discuss various methods put limitations on the use of national
power.
(b) Define the term ‘Forced Diplomacy’. Explain its features.
(¢c) Take a brief review of various Human Rights Movements.
(d) Explain the meaning, causes and consequences of the term
‘Terrorism’.
3. Attempt any one question in 400 words : [20]
(a) Explain, the meaning and various features of the term ‘Balance
of Power’. Discuss the reasons for the concept of Balance of
Power becoming outdated today.
(b) Explain, the concept ‘Disarmament’. Discuss its nature and
necessity.
4, Write short notes on (any four) : [20]
(a) Idealist theory of International Politics
(b) Techniques of Balance of Power
(c) Regional Security : Meaning and Nature
(d) Types of Diplomacy
(e) Comprehensive Test Ban Treaty (CTBT)
(/i Types of Terrorism.



(WS BUIR)

q% : dF A TeRUT TUT : 80
el :— () 9d WA Gefau oeRasd S
(i) ISelhele o YO IO SFifodm.

fay

1. GAtcideh! HIvde! =X Y99 dredl (YAl 100 <) . [20]

(31) ‘ST TSR’ A H9eE e fogd sAwl e
() wmifder gUedad el HHT HOm wew  forml.

(&%) ToIT=l & famn

(8) MEieomgdla M e .

(3) ‘HAFel TR Wheq o AY WE FeR forE

(%) wafeRuERrEr Y oqfor weu foen

2. eyl SR g U faw (YT 200 K@) [20]
(1) ‘U T Heheqdan A9 anfor =men fow U ' fafa s
Yfshan T

(F) ‘TEEr qea’ Gewhoadel =ren faga aftme fern

(%) fafay A TFr TBdcial oISRd Al A

(8) ‘TEvdae’ Teheddl TR hEd HRO 9 UROMHET W=l .

3. Teiicisl ®IVAEN Uk U9 Sedl (400 VEM) [20]
(31) ' Ao’ Hehedn A Wi Afyrsel forel. | SqerTen e SRl

L I
Yl ] ohil.

[5101]-3033 3 P.T.O.



() ‘ISR’ Geheudl T . HISiRe WEy S Sevaehd

W R

4, dieqd few fa@ (FUEE \®) [20]
(31) SNASET TShRom=l  sTeviaret  fagid
(9) FaEgeE= T
(%) Il Faaar : A9 sufon @&y
(8) TSI Yol
(3) WAEHEES AU SE R (S

(%) <WEARH YK
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3034

T.Y. B.A. (Regular) EXAMINATION, 2017
HISTORY
General Paper III
[History of the World in 20th Century (1914-1992)]

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Define the concept ‘Socialism’.
(ii) What is meant by ‘Globalisation’ ?
(iit) Why did USA enter the World War I ?
(iv) State the objectives of the United Nations.
(v) State the objectives of ‘SAARK’.

(vi) What is meant by liberalization ?

2. Answer the following questions in 200 words each (any two) : [20]
(i) State the causes of the World War I
(ii) State the consequences of the Great Depression of 1929.
(iii) Give an account of the rise of America as a World Power.

(iv) Explain the role of India in Non-Alignment Movement.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(i) Evaluate the achievements of League of Nations.

(it) State the consequences of World War II.

4, Write short notes on (any four) : [20]
(i)  Economic Imperialism
(ii) New Economic Policy of Lenin
(izi) Nazism
(iv) Rome-Berlin-Tokyo Axis
(v)  Glasnost and Perestroika

(vi) Terrorism.

(TS BUTaR)
9% : 9 a™ THUT TOT : 80
ol :— () W TR Giefau ofenas IR
(i) SoEESE s Yo U <RifE.
({ii) TGS Yoo TUSH WYAUlAHT Al

1. Y& el SR O100 v=[ el (Fond 9r) [20]

i) ‘ouSER E Heedd R &

(i) ‘STdeRlRO’ WS wE ?

(iii) Ufgedn #RgsId STH{%RA k1 Yaw holl ?
(jv) GgFd T2 TErer Sfgsw @

(v) Gl 3fese .

(vi) <THHT WIS HE  ?

[5101]-3034 2



2. U@ YRR SW 200 V@ fo@l (RUGE EF) [20]

(i) ufgedl TWRESE HRU WA
(i) T 1929 =N HeMeld URumH 9.

[a

(iii) TH SNMaek Tl WA THTH=A I[AT=1 gad <l

(iv) AfdCER! Fesdadidiel WRATE! YfHehT T .

3. Tl IR UahT UM SR 400 vead forar [20]

(i) TEEEAEAT HEE JoIHET H.

(i) TEA HeES URUMH WAL

4. 9eRE@ foo fagr (wocEE =) [20]
(i) offdes AR
(i) wfFa 93 enfds &R
(i11) g
(jv) JH-AfA-THRA AL
(v) TAEERE ST WETER

(vi) TERIAAS.

[5101]-3034 3



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5101]-3035

T.Y. B.A. (Regular) EXAMINATION, 2017
HISTORY
Special Paper III
(Introduction to History)
(2013 PATTERN)

Time : Two Hours Maximum Marks : 50

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any two) : [10]
(1) What is ‘Oral History ?
(2) State the importance of Pune Archives.
(3) Write the relationship between History and Sociology.
(4) Explain the contribution of R.C. Majumdar to the writing of
Ancient Indian History.

2. Answer the following questions in 200 words each (any one) : [10]
(1) Discuss the main definitions of History.

(2)

Examine the relationship between History and Geography.

3. Answer the following questions in 400 words each (any one) : [20]

(1)
(2)

Discuss in detail, the process of external criticism.
Describe the principles of Imperialist Historiography.

4, Write short notes on (any two) : [10]

(1)
(2)
3)
(4)

Marxism
Secondary sources
G.H. Khare

D.D. Kosambi.

P.T.O.



aaa:aﬁ?am

(WSt ®aia)

oAl :— (i) |a WA gefan sawds  sied.

1.

(i) SEFEe siF g o e,

o YEl S YRl 100 Iegid faR (Foad g )
(1) ‘Hifgs sfem’ =N " ?

(2) IO QORI Hed 9.

(3) sfaem onfor QU Ir=did 9eded foTer

TR TOT

50

[10]

(4) YN YRAE SfaeM dEddd SR ANHeR I ANRH T

< .

A AT SW UAHT 200 =@ fowl (FIUAE! )
(1) sfaerar=n yq@ =rAE=t == &

(2) sfaeE enfor e A=Al Sggedre SIEu .

A YA W TAST 400 I Tl (RIVART TeR)
(1) «fed gagum=n Y=l dfasd® == .
(2) FHSHAR! IaeEE RISl dd 9uF .

it dw fasr (ogt de)

(1) WEaR
(2) THEH WEA
(3) 7T W
(4) TG HE.

[6101]-3035 2
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-3036

T.Y. B.A. (Regular) EXAMINATION, 2017
HISTORY
Special Paper IV
[History of Asia in 20th Century (1914 to 1992)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the concept of ‘Pan-Islamism’.
(i1) State the background of Indo-China war of 1962.
(iiz) What do you know about the ‘Suez Crisis’ ?
(iv) Write in brief the modernization of Turkastan by Mustafa-Kemal
Pasha.
(v) Give an account of the Wahabi Movement.
(vi) State the foreign policy of India with reference to South East

Asia.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the foreign policy of Japan during 1950 to 1992.
P.T.O.



(it) Take a review of the reforms in Iran by Reza Shah Pahlavi.
(zi1) State the causes of the rise of Arab Nationalism.

(zv) Discuss the role of Ibn-Saud in Saudi Arabia.

3. Answer any one of the following questions in 400 words : [20]
(z) Write in detail, the causes of the Communist Revolution of

1949 in China.

(ii) Explain the various phases of the Creation Israel.

4, Write short notes on (any four) : [20]
(i) Welfare Dictatorship
(i1) Atlantic Character
(i) Philosophy of Dr. Sun-Yat-Sen
(iv) General Mac-Arthur
(v) Rashid Ali
(vi) ASIAN.

(& wuiaw)

q@ : AN A TeRUT TUT : 80
el :— () 9d WA Gefau oeRasd S
(i) ISElehel® & qO U SFifodm.

1. Wolid 99=T SW YS!l 100 vIeid fo@l (ivedl =9m) [20]

() ofEaa T=mare (Pan-Islamism) & HohoUdl TS
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(i) 1962%M URA-=A gl UREAYH H.
(iii) ‘gow-gud' Afawll g wE Aifedt oTR 2
(jv) TR DA IRMH THEAFS hodd SRR diewa  fogl

(v) TREl FSdS g

(vi) STFa STRE= WSWld YRAN WU R0 §hT.

2. @eid gvEEl SW YAl 200 vEid foRl (g @F) [20]

(1) 1950 d 1992 A HeNd UMY TUSRE GRU T H.

(i) W @ YEAEH SAUHES HSId  STUeiedl  gURUTEl  STEEn HA.
(i) °NS [sAREAT Scdr=l RO T
(ijv) HRT SRfTFa 3=1 Heen el == 4.

3. Woladsh! HIEE TeRT Y9N ST 400 g forer : [20]
() 1949 =T HHEFYT GrEdR] hidel ol GfokR foE
(i) zEEa fAfdd= fafay = =«

4, dieRmd dar forr (HUEEl | r) [20]
(i) HAURN FHATRI
(ii) STt WG
(iii) <. T-Fd-9Td qooeH

(jv) TRA T AfeR
(v) IR 31t
(vi) STRRTEM.

[5101]-3036 3 P.T.O.



[5101]-3036

[History of U.S.A. (1914 to 1992)]

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(i17)
(iv)
(v)
(vi)

State the objectives of the ‘New Deal’.

Explain the concept of ‘Apartheid’.

Discuss the movement for the rights of Women in America.
What do you know about ‘Berlin Crisis’ ?

Explain the nature of Cold War.

State the concept of Globalization.

2. Answer the following questions in 200 words each (any two) : [20]

(2)
(i1)

(ii1)
(tv)

State the consequences of the Great Depression of 1929.
Explain the Contribution of America in the foundation of the
United Nations.

What do you know about the Korean Crisis ?

Explain the America-India relations.

3. Answer any one of the following questions in 400 words : [20]

()
(i)
[5101]-3036

Discuss the role of America in the ‘First World War’.

Take a detailed review of disintegration of Russia.

4



4, Write short notes on (any four) : [20]
(1) Super power
(i) Truman plan
(itzi) Role of America in Second World War
(iv) Mac-Arthur
(v) SEATO
(vi) Arab-Israel Conflict.

(WS BUIR)

q% : dF A TeRUT TUT : 80
el :— () 9d WA Giefdau eRas S
(ii) ISEhel® & YO IO SFifodm.

1. R TRl W OTAS 100 VK[ SW ol (RUGE |R) [20]

@) ‘g S e 9

(i) ‘iR AeWE’ Hehoudl TR H

(fii) SHR&da St gFh =edde=l ==l 4.
(jv) dfc Fuuifool g™ ®™ Afed R ?
(v) YAgE™ WEY TR H

(vi) ‘SIfeRTRTO’ FeheudT E.

2, YO WAl W YS! 200 VKM SW fa@ (FvmE ) [20]

() 1929 SNfdes HeMerd YoMy §Em.

[5101]-3036 5 P.T.O.



N

(i) FgF TSIl WWUda STH®Y IR T &
(iii) IRGT Fooifool ™ & Wfed e ?

(Gv) STARG-9Rd Tay W= H.

3, @ciadsh! ®IRE TeRl I SW 400 ¥ foral [20]
(i) ufecdw WRYSKA SHR&=N o<l ==l &
(i) RmEre fauer=n iR sTeen =

4, diggdm feour fag (SO Ww) [20]
(1) TR
Gi) ¢ fasm

(fii) SR g SIAfdeh HRYSIdA  YfHeh
(iv) W& 3R

) &=

(vi) SNE-TEEA G,

[5101]-3036 6



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [5101]-3038

T.Y. B.A. (Regular) EXAMINATION, 2017
GEOGRAPHY
(Gg-310 : Regional Geography of India)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iiz) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]
(1) Name any two neighboring countries of India.
(2) What is the peninsular location ?
(3) Mention major physiographic divisions of India.
(4) Name any two peaks of the Himalaya.
(6) What is the drainage system ?
(6) Name any two east flowing rivers of Peninsular India.
(7)  Give major seasons of India.
(8) What is the onset of Monsoon ?
(9) Give any two types of soil in India.
(10) Give any two characteristics of deciduous forest.
(11) Name any two mines of Iron-ore in India.

(12) What are energy resources ?

P.T.O.



(13)

Define White Revolution.

(14) What is horticulture ?
(15) Give any two objectives of Regional Planning.
2. Answer in about 50 words each (any two) : [10]
(1) Neighboring countries of India
(2) Mechanism of monsoon
(3) Blue revolution
(4) Nature of Regional Planning.
3. Answer in about 150 words each (any two) : [20]
(1) State the Geopolitical importance of Indian Ocean.
(2) Give the characteristics of Indian climate.
(3)  Explain the importance of polyhouse in agricultural development.
(4) State the objectives and need of Regional Planning.
4, Answer in about 300 words each (any two) : [30]
(1) State major Physiographic divisions of India and describe the
peninsular division in detail.
(2)  Describe the east flowing rivers in peninsular India.
(3) Explain the major soil types of India.
(4) Write in detail about energy resources in India.
(TS ')
q@ : dE A THUT T : 80

g :— (i) WA WA GEfan sTedsd IR
(i) Svdiwee sih o T eEifeam.
(i) AE¥IER dAY MhA 9 INES  hlEl.
(jv) -HRNT LfEd AWREIE WA 3.

[5101]-3038



1. YA& AR 20 v S foaer (ot @) e [20]
(1) YRA=A &R e USI QE=T A1 9.
(2) feusdheda ToH ®=US ®wE ?
(3) WRA™ UHE Wihfaew fa9m @i
(4) TedeEwde ®ivceaEl 99 RredE e |
(5) TRIYUTCl WUS HE ?
(6) fgusheda WRAWG U &9 qd aifedl Fear= e Ei.
(7) YRAWeE 9@ kg @A

(8) WHNTd INHA WUS A ?

(9) YRAWIA SHIOERI &M I YhNET A HE
(10) 9eret oAl v g afrse wim.

(11) Y9RAMA SR g9 @S @vi=l 9d §hm.
(12) SERTEEH WU ®E 2

(13) YachidEl el @l

(14) ol Tl WS wE 2

(15) URferer fHSHET o §9 Sfesed @i

2. YIS gER 50 V=@ SW foaw (FoRE @F) [10]
(1) vRa= IO <
(2) wgA=t fafHd gfeen
(3) fcTshidt
(4) Ui e @E.

3. YS! AR 150 VL S ol (FoE ) [20]
1) &S TeErRe sRSHias Jee @i
(2) YRAE gamaErER Afvrew gn.

[6101]-3038 3 P.T.O.



(3) Foi fawmma dfdeeed Hed W= &
(4) vefye fEeHEr Sfesey snfor ™S @rm.

4., YIH gEUR 300 V<[ SW fow (R SEeR) [30]
(1) 9Ra™ 9g@ Uihiae faumr @ sfr fgueeda favmma afasr aviH
.

(2) Tguhcdl WRA@ Ydaledl Aedid dud .

(3) YNAWd Y@ HaI YhR TS L
(4) YRAA Sei AeAeR gfawR wifedt T

[6101]-3038 4



Time :

N.B.

[5101]-3038
(Gg-310 : Human Geography)

Three Hours Maximum Marks : 80

:— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(ii1) Use of map stencils is allowed.
(iv) Draw neat diagrams and sketches wherever necessary.

Answer in about 20 words each (any ten) : [20]

(1) Define Human Geography.

(2)  What is Humanistic approach of Human Geography.

(3) What is stop and go determinism.

(4) Write any two names of Human Geographers in modern
period.

(6) Write main types of Human Races.

(6) Write any two economic activities of Business.

(7)  Write the location of Pigmy Tribe.

(8) Write any fwo occupations of Gond.

(9) Write region of Naga.

(10) Write the names of any fwo major language families in India.

(11) Name the founder of Islam religion.

(12) What is migration ?

(13) Write any two types of migration according to distance.

(14) Write any two parameters of quality of human resources.

(15) What is Nasal Index ?

Answer in about 50 words each (any two) : [10]
(1) Determinism

(2) Role of physical environment in Human Life

(3) International migration

(4)  Characteristics of Hindu Religion.

[6101]-3038 5 P.T.O.



3. Answer in 150 words each (any fwo) : [20]
(1) Describe the Human Geography in medieval period.
(2) Explain Geographical account of Eskimo.
(3) Explain major languages in India

(4) Explain causes and effects of migration.

4, Answer in 300 words each (any two) : [30]
(1) Explain the nature, scope and importance of Human
Geography.
(2) What is Race ? Explain Griffith Taylor’s theory of Human
Race.

(3) Explain Geographical account of Naga Tribe.

(4) Explain the effect of population growth on natural resources.

(TS TUIaR)
9% : 9 a™ THUT TOT : 80
el :— () WA TR GrEfau Tewed oR.
(ii) SoElheEle 3k Yo O SIifodm.
(i) TRRT WiAd o™ W ..
(jv) 3ME¥Iw dd gosh 3ThHAl hlal.

1. YR 20 <[ SW @ (FoaE g&@r) o [20]
(1) wFet o=t e T
(2) THEAR AREISH WOS wE 7
(3) o 9 S fREgaR w=uS wE 7
(4) oY FAESA HIVER GH A PiewR=T A o
(5) UMel avTE Y@ Y&R forE.
(6) FHA SHNIE SIUdel | STfdw foan fota.
(7 Tl SEre e fo

N n N

(8) Tiie THIAN HIvdd e Hawd sl

[5101]-3038 6



(9) AFm SHENE gew fofa.

(10) 9RA™ HIVE S TIE he foral.
(11) 3= ¥qr=n GXMe AE fon

(12) AR WS &HE 7

(13) SIAUTER TIAGIS HIVael g+ YR ferar.
(14) <RE& TUE= HiUME g aRar fosn

(15) +faeies WIS ®E  ?

2. YIB! 50 VK[ W foA@r (HIOE Q)
(1) R
(2) Al SoFnel Urhfder  gAieom=l  YfHeRT
(3) AR TR

(4) fég umi=t Afersel

3. UAH 150 V=KW W fowr (FonE |m)
(1) TAFH FAESd AFE il 9o &
(2) Tl S drifae gaa TR F
(3) YRAWA THE | T R
(4) TR HRO 9 UROME T FHA.

4. YIS 300 y=d SW foRl (e @)
(1) #FEl e @&Y, Sl 9 Hged W h.

(2) 99 WS %@ ? WHY o=l HEe o fHgid W &L

(3) AN MWl dFifde galid TR &

N e

(4) TR ded A9iiie 9read9el g giome WsE .

[6101]-3038 7
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [5101]-3039

T.Y. B.A. (Regular) EXAMINATION, 2017
S-3 : GEOGRAPHY
(Gg-320 : Agricultural Geography)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iizt) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each
(any ten) : [20]

(1) Define Agriculture Geography.

(2) Give two problems of shifting cultivation.

(3) What is Mixed Farming ?

(4) Give any two problems of marketing in Indian Agriculture.
(6) What is meant by Group Plantation ?

(6) Name any two types of Irrigation.

(7)  Give two technological determinants of agriculture.

(8) Name any two fruit processing products.

(9) Define Green Revolution.

P.T.O.



(10)

(11)
(12)
(13)
(14)
(15)
2.
(1)
(2)
3)
(4)
3.
(1)
(2)
3)
(4)
4.

(1)
(2)
3)
(4)

[5101]-3039

What is Watershed Management ?

Name any fwo countries for Apiculture occupation in World.
Give two merits of Drip Irrigation.

What is meant by Nalaband ?

What is Agroforestry ?

Give any two solutions of waste land management.

Write notes on the following in about 50 words each (any two): [10]

Recent trend in Agriculture Geography
Community Farming
Agro-tourism

Organic Farming.

Answer the following questions in 150 words each (any two): [20]

Explain the significance of Agriculture in Indian Economy.
Explain the problems of Indian Agriculture.
Explain the characteristics of Intensive subsistence agriculture.

Explain various schemes of Central and State Government for

agricultural development and farmers.

Answer the following questions in 300 words each (any two): [30]

Explain the determinants of Agriculture.
Explain the characteristics of Dry land farming.
Explain the methods of irrigation.

Explain the role of tissue culture and polyhouse in agriculture

development.



(TS wAI)
qB : WA qE THUT TOT : 80
g :— (i) §d Y STORId IR
(i) 3Rl 3 YA YO IO SIiforrd.
(i) STE¥ash dd HheAl 9 ANES HEl.
(jv) ThRN LiHew IqROIE GEE .

1. Geid Jeel W YAt R 20 v foer (Hoad g @) e [20]
(1) Fot =t e =
(2) Tl vdten M gHen ol
3) faz vt woS w2
(4) YRdE Qe fourEfasgs @9 wuen  foEn
(5) TRIG WUN HE 2

6) d o= *vg M YR T

(7) & qifAw FH EEAE Ted G
(8) HIVAE &N Wed Yihdl SARA=l -9 foTern

(9) BAwdi=t = =

(10) dUEie & FOENd WS & 7

(11) WAYATHHMIGH ™ IO SATAE HIUEl g oem=t A1 fota.
(12) foom fH=Am @9 ®wEE @

(13) AT =S &wE 7

(14) eI =S w2

(15) 3fHre S AL HIUdel & 3 |

[5101]-3039 3 P.T.O.



(1)
(2)
(3)
(4)

TR AR 50 Teaid Ju felel (@UEE @F) [10]

I I | I S RS S A 1 e |
rfesh el

FHel-TeieA

Gfga 3t

(1)
(2)
(3)
(4)

Grelidl g IW THl gAR 150 ¥ forel (e g|) ;o [20]

IR AdTaedd Fud Aew™@ W &
RO Jdr=al 9HE W .
el Ie-aigl It JfirseRl W &

FH o oftr IAFEAEE S Hhg YA d T ST
fafay e afos® e w3

(1)
(2)
3)
(4)

[5101]-3039

Grelidl g IW TRl gAR 300 ¥ fotel (SoE g|) ;o [30]

FH FoAd Ted T &AL
FREag Ve aftTed R &

SAMT=AT= Ugdl T2 .

n o

Fol fashmEE Sdl Hagq snfur dffcleed aEmEMEl fHed T &




[5101]-3039

(Gg-320 : Population and Settlement Geography)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in about 20 words each

(any
(1)
2)
3)
4)

5)
(6)
(7)
(8)
9)
(10)

(11)

[6101]-3039

ten) : [20]
Define Population Geography.

What are the fwo major sources of population data ?
What is population density ?

State any two geographical factors affecting on population

distribution.

What is Dependency Ratio ?

What is birth rate ?

What is migration ?

State any two methods of Family Welfare Programme in India.
What is meant by population growth ?

Define ‘Settlement Geography’.

Give any two branches of ‘Settlement Geography’.

5 P.T.O.



(12)

(13)
(14)
(15)

(1)
(2)
(3)
(4)

(1)
(2)
3)
(4)

(1)
(2)
3)
(4)

[5101]-3039

Write any two geographical factors affecting on settlement

growth.
Give any two types of urban settlement.
What is meant by Urban-Rural fringe ?

Define ‘Smart City’.

Write notes on the following in about 50 words each (any two): [10]

Systematic Approach
Brain-Drain
Distribution of Settlement

‘Smart Village’.

Answer the following questions in about 150 words each (any two) : [20]

Explain the nature and scope of Population Geography.
Discuss the National Population Policies of India.
Elaborate Rank-Size rule and Urban Fringe.

Explain the influence of socio-economic factors on settlement

growth.

Answer the following questions in 300 words each (any two): [30]

Describe the Demographic Transition Model (DTM).
Explain the factors affecting on population growth.
Explain the nature and scope of Settlement Geography.

Explain the types and patterns of settlement.



(WS ®UIR)

q% : dF A THUT TUT : 80

O :— (i) WE YA AORASE AR

(i) ISEIherd 3 YA qu o geifedm.
({ii) 3EIH qY AhA 9 JANES Hal.

(Gv) TR WLiEew dJOUuaE qEETl 3R,

1. el Yol SR OTel AR 20 V=i foawr (g @) [20]

(1)
(2)
3)
(4)
5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)
(14)
(15)

[6101]-3039

N . N n o~
cAlhTEIl A=l ATEAl  Tedgl.

e fawae difed! e woa™ Y@ @F Wi 9.
AR AT WIS R ?

Aadadl YR WIS ki ?

Sl WU g ?
A=l e fagn

IRATIA Hed hedlVl HRIGHTT HIUEAR &9 JGdl | R

ARG 96 WUS w2

TE TSl AT

Wl = R &M W |

T dEeR YoM HIOMR el aF Grfifae  ses  forer
T &I hIvdel S YRR T

TR-UH HHd &89 BN wE ?

e A S D e o

7 P.T.O.



2. e YER TSI AR 50 Tesid fewr faw (FoEl W) ;o [10]

(1) greIg gfewH

(2) Ffgaae TE®

(8) T famom
(4) TR @
3. Teiid gyl SW YdHt 150 vSid foel (HIvher ae) [20]

(1) <Rgen i @Y 9 A W A

(2) YRA™E U Aeged faugd gRomer ==l &

(3) Svii-ahR fm 8 TR OWHd &Y Hiaw SIeeiehul
(4) A=A TR RO HIOFA HHIMSHR- 3T Heshi fagasmr .

4. Toid Yl SW Yol AR 300 v forel (Hved dF) ;o [30]
(1) g 9huu fagiae favaso wa.

(2) TAREEAT TGl URUMH  hIOMAT Sehid  favdsul R

(3) Ol ied TWEY § AWl W H.

(4) IO YRR § AhdEYy TR H.

[5101]-3039 8



Total No. of Questions—7+6+6] [Total No. of Printed Pages—4

Seat

No. [51011-3041

T.Y. B.A. (Regular) EXAMINATION, 2017
MUSIC
Hita wmra w)(Si-3)
(2013 PATTERN)
(fafdree = m :— o1 darfel T E@Ma TEE, a9, @A dr et
qHean famamslt vt Ueh weedtreRT |rgen)
I I A
9% : 1 @™ 30 fafwe THUT TOT : 20
A :— (i) ufgenm yvd disfau sfverd &
(i) ARG TEUSR! HIVEl @ T THY AR YA Hredn
({ii) @ YA YAH! 5 A YO FHE O SRA

1. I AHEFHANA SR TehT I facitod e (de] Td) @ aeH
.

2. U, gorarht, gREn eMsht bRt IvIEl WeRT I A&y ISR difedt
T

3. oeHad, fodfad Twhae, AU AR HITAE Tt drar=l dedl fogd
qreren 31 foral.

4. foo fog (R €M)
(1) OHA FOER I
(1) wfggea I
(1ii) SHe W
(jv) &I AT

P.T.O.



5. e fagr (e am)
i) To™
(i) Tavma-sifayfa
(iii) T I
6. Ty fag (=Rl TH)
(1) GMa owfor emyfte AR U
(i) HReEa
(iii) A foeoma @Ed.

7. = fa@ (+UEE TH)
(i) 9 fodz eAfseRt
(i) U offmda et
(fii) #iwdr HerE ek

[6101]-3041 2
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% : 1 aw 30 fafe THUT TOT : 20
ot :— (i) ufeem A defaw sfer R
(i) 3@ URAURT HIUCE q S THU AR TRA Gredl
({ii) WA YTAA YAKl 5 AT YHIO FHE O AT

1. A 9= SAWIEEAM s Tkl Wi et T wRfadislg .

2.  ESEEd, Te, gRan oAt Al R Uent W IS mifed afaer
forgt.

3. AT Thale, €9, AT AUk VA Tehl drair=l Hifed! forgd drern
a1 feter.

4. foor fag (R gF)
() fatvma-sfayia
(i) g, e, fax
({ii) IHAYAIS A

5. Yeia fawamer wfosR fagr (Fivaer weh)
(i) TThddRd 9 IdRA
(i) GiMa omfor emyftes AR U
(i) wita freore ey,

6. =S for (FIUER W)
G) 3 fofmean @
Gi) U freta st
(Gii)) 3. At TR .

[5101]-3041 3 P.T.O.
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9% : 1 am 30 fufe THUT T : 20
g :— (i) ufgenm uvd Hiefon sifeE TR
(i) ARG UTAMIHRI HIUAE o9 ™ THU AR Y9 diedl

(i) WA YTAA YAKl 5 AT YHO FHE T AT
1. SOdd, Tohdld a1 Sl e Aifedt fagd Sioramel et et oid, fa,

I ferer.

2. TRV, ®@ A IR A TH-TH ot feE

o M

3. focifed Tehdrem=il #ifedl fagd dem=n Seht fetar

4. fou fam (FveEE €9)
(i) Tooofl =TS HEEE TEETE
(i) TSNSl amd Gl It
(iii) TEEl TS ORI SR

5. UAME MU 3aAg dEidid TR ey fogrn

6. 9N U SEE A FRIGHHT qoedrE SHAERG H 9 Hee ol

[5101]-3041 4



Total No. of Questions—7+7+5] [Total No. of Printed Pages—6

Seat

No. [5101]-3042

T.Y. B.A. (Regular) EXAMINATION, 2017
MUSIC
i faweew (Tg-3)
(2013 PATTERN)

(faf¥re garmm :— o1 derdier T Wila WA, d9el, §aR ar et
qar famarelt ot Teh UeuieRt wrsen)

I G I
9% : 1 @™ 30 fafe THUT TOT : 20
o :— () ufeem A defaw sferd R
(i) 3N ULAURT FUCR A S TRV AR YA el
({ii) WA YA YAKl 5 AT YEHIO FHE O AR

o e

1. o 9&R, Ol ®Hel, YR FeAm A IR TH e foefe
e Widdas &

2. A Al SARAERANIA HIVE Thl W= {90 st wifed! fogd wifosar
ferar.

3. UddUR! BRI WehT drcrsierst gqul smefa mifedt fogd wm=eg fogd

N A

el A=l SRl Tehudld foTel

(1) e (dau)—%u®

(i) TIad—gsre
(iii) Sd—Tdeare!

P.T.O.



4, foo fom (FUEE €9)

() e
(i) afgw wia
(iii) HSl

5. diedd Wifgdl fagr (RIUEmE aF)
O EL

(i) d T

o

[y

(iii) <feomer @i smfor s figmrt @i A <
TAR-AN Ay fergl.

s A

el

ol

6. TATUR! DI TRl Tiaare @ififaes IFeH fowe &1

(i) U HAR Ted

(i) ofiwdt @@ HRE
(iii) imdr foreil  sTHvERR
(jv) d. SEENYEAl qAfed

7. AUh! RO Tkt fos@mer wfawr fof

(i)  RAYIRd AR

(i) YA 9GS

n

(iii)) TEha Ygdd g T

[5101]-3042 2

dl

A IR
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% : 1 aw 30 fafe TRUT TOT : 20
o :— () ufeenm A defan HAfer ewR.
(ii) ARG TR HIOCE A S THU WX TR Gred
(i) Fd YEAAT WAE! 5 A1 YHO WEE U TR

1. o1 Iof=a AHGHHA HIVARN Thl Aaid gfaaer 79 TRfadqies

.

2. gfen, foen &t A€l Modt AT RO THT IR W90 et wifed

forgd TTfoedr fegl.

3. UCIGIUh! HIVAE Wehl drcel FqUl ISy Aifedt folgd dram=n ol U9,
Tued 9 Al femr

(i) Ot

(1) Hdd.

4, femr fomr (FoE @F) o

(G) M TR
(i1) SIERTEA
({ii) g9

[5101]-3042 3 P.T.O.



5. dieRm@ difed! fagl (FIUAE! TH)
(@) R
(i) <rfeoreE o9 Wl Wi sddie GrEdeEe Aifedt ol
(i) T Heret

6. TdoURl HUAR Ua fawaer dfawm fewr

(1) TI T (STEIMU Ha)

(i) Tewa wia feeor ugd

(iii) Y= 9.

7. 4. 3RUER SRfEW, 9. TS S, U RAR THd, STt A TRt Aent

[5101]-3042 4



[5101]-3042

9% : 1 am 30 fafe THUT TUT : 20
AT — (i) ufgenm yeA diefau e e

(ii) ARG TRAURT HIOE W S THU AR U e

({ii) @ YA YAH! 5 A T FHE O 3RA

1. ToH9a, %5 fohar ¥ AU SR WehT drarl 990 IeiE Afedt forgd
o eIl SRl ThUed o9 gudid  fefel

2. AT ASRIS] ATSdiel Uk kTSl S0 Tk HHISYN  THeR
fetar.

3. fou feur (wiveEr 9F)

() <HER faerE
Gi) «en faer
(iir) 7d
(iv) THE! ®E
4. A T FAATTRACIA HIVART Tkl HABRE Fififae IR fowk
<h .

[5101]-3042 5 P.T.O.



5. UAIdUHl HIVAR Tehl fawamer dfawr fora

() TaA dedERed 9 9gEd

(i) ARG et fwer gSe SSMEr aed Sl

(jii) U Ugd U holell X WIOTEN Hifedl.

[6101]-3042 6



Total No. of Questions—7+7+5] [Total No. of Printed Pages—6

Seat

No. [5101]-3043

T.Y. B.A. (Regular) EXAMINATION, 2017
MUSIC
Hifta fegiw (TH-3)
(2013 PATTERN)

(faf¥re garmm :— o1 derdier T Wila WA, d9el, §aR ar et
qaer famarelt ol Teh WeuieRt wrsan)

T G A
9@ : 1 @™ 30 fafe THIT TOT : 20
ot :— () ufgem A defaw sfer R
(ii) ARG TRAURT HIOCR @ S THU AR U e
({ii) |E YTAA YAH! 5 AGHO AW TOT SR

o e

1. 31 JOi= SATHRATNE IRl Tkl A fodfad ©aa @Rfadies &

2.  TAMHA, T, I AUH! RV Tent W= Gl IMST mifedt forgd
Tt fetar.

3. Ui HIVAE TehT dlair=l HY0l I Aifedt folgd dramen I Ty,

querd 9 duea famr

(1)  Tehdlcdd
(17) faearer
(iii) Tro=el

P.T.O.



4. foo fam (Foead@ 39)
(i) g
(ii) wd deer
(i) §Ma S g gt

5. dieHa Hifedt foer (ForeEt @)
(i) T HoE HUEEd
(ii)  OreeEd
(i) oMY T Frew ggd= @&y

6. A T STHUFRANIG HIUAG ekl Hiaare @rfifas AreH fave .

7. oA HIOAR! TeRl fomEmer wfowmw faar
() g emfor g Afdd el
(i) WMd 9HeH, Hekdd

(Gii) M4 Afea @RI

[6101]-3043 2
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% : 1 aw 30 fafe TRUT TOT : 20
o :— () ufeenm A defan HAfer ewR.
(ii) ARG TR HIOCE A S THU WX TR Gred
(i) Fd YTAAT YA 5 ATYHEEl GHE IO SR

1. 1 Iui=a SATERAE SRl ekl MG faafad  sfee/afaqer ™

wfadteg .

2.  TAMHAV, HR(GEN AUHh! HIEE Tenl W= Tqul Imefia mfedt fored

IMTfaeR. foTal.

3. UCIGIUh! HIVAE Wehl drcel FqUl ISy Aifedt folgd dram=n ol U9,
g feren -
(i)  sTeEd
(i) g
4. fow fae (o 99) -
(i) Hifa e
(i) WA e
(iii) WA Hodid GNEAE e

[5101]-3043 3 P.T.O.



5. dield Hifgdl fagr (RUEmEr aF)

o N

(1) TdRaed  Hithela  Qeh{T

(i) Wd WY Aed

(iii) TMd YA, Heldd.

6. A T AIMHANIG DG Tehl Taare HRfifdeh AFeH favE .

7. UEAUR! HITAE ekl fomemer wfowR femr .
() T TEEEE

(i) Wa emfor SHedETer 9.

[6101]-3043 4
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9% : 1 am 30 fafe THUT TUT : 20
AT — (i) ufgenm yeA diefau e e

(ii) ARG TRAURT HIOE W S THU AR U e
({ii) W& YA YAS! 5 AYHO AW IO SR

1. <u=dl, STerEdd, AN AUt hIvTEl g el aradee wifed foga

2. WA feal 5 AUHK HUAR Tk derdl Hifed! folgd @ deld T
#Ee 9 TH uae  fom

3. four femr (wvmd@ @F)
(1) o
(i) URR
(iii) 9
Gv)

(v) HIE-TosTe <.

[5101]-3043 5 P.T.O.



4. I T SAEHAMIA HIVER TRl HARNE Grfifds dreHE  favg

.

5. TU@UH! HIAR! Tkl fooemer wfawR foter
(i) e @ e foagd dHaid, STeHae Al HIvEE Tehl drard
e wawrl foran
(i) FUAIAl, Uehdlal a1 dlen®l Hifgd! foagd I6! dleid Ueh-Teh  UNIRKR
ferer.

[6101]-3043 6



Total No.

of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5101]-3044

T.Y. B.A. (Regular) EXAMINATION, 2017
PSYCHOLOGY
General Paper III
(Industrial and Organizational I/O Psychology)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(ii1)
(iv)
(v)
(v)

State the history of I/O Psychology.

Explain the approaches of leadership.

Write the ‘self-efficacy theory’.

Explain the psychological principles in training.

Explain the meaning and nature of organizational development.

Explain job analysis.

2. Answer the following questions in 200 words each (any two) : [20]

(1)
(i)
(ii1)
(iv)

How can we connect the actual work in the industry with
principles of Industrial Psychology.

Explain the Fiedler’s contingency model.
Describe the Bio-data, Resume and C.V.
Elaborate on the principles of organizational change (any two

theories).

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]

(i)  Explain the concept ‘performance evaluation’. Discuss the different
uses of performance evaluation.

(i1) Explain the scope of Engineering Psychology. Describe ‘time
and motion study in detail.

4, Write short notes on (any four) : [20]
(i)  Future of I/O Psychology
(i1) Leadership through power
(itzi) Training for knowledge and skill
(iv) Organizational change
(v) Industrial robots

(vi) Work space design.

(W& wUia)
q@ : A A THUT TUT : 80
e — () W TN Hiefau oAewead oiRd.
(i) 3RS ik TEAE Yo U geifaa.
(iii) Teuiardl He SUST WYAUAHT TRl

1. Eciadsl @R TR YeAET W TIHT 100 TR[ ol [20]
()  SlicfiTen/guecd s ARG Sfaed |
(ii) FAgAfISEe TRIGH T FH.
Gii) @ gmed faga fom
(jv) IRIHUTHA AHESE el 5 .
(v) TueAHs fawmE od 9 WEY TR H

(vi) HE fagaw o g

[6101]-3044 2



2. Eeld YA S OUSE! 200 V| fo@l (IR @) [20]

G) Al AFEITSIdia dd o Aiefier &l Joael e Il gay
AMU HE SIg Wehdl  ?

(ii) TreeR I STuf Yy T HT
(iii) ShedfasFes T, MHA (Resume) d ¥ (C.V.) = a0H &
(jv) HESAHE® wRarEl I faee ®U (Hvdd &= fHsia).

3. WCiicish! HIUARI TRl Y= 400 ¥ead W forer [20]
(@) *E Fadd Joarhd Heheddl T HY S wrEewd qedisharen fafay
TN ==
(1) ANEEIS AFERTSE] <l T . hid ST T 31y Hfor
W .
4, diedd fou fa@ (@ |w) [20]

(G) ol onfor guedicHs AHEITST Widded
(i) SASHRE (§) A

(i) I A R g

(jv) HEAHF CA

(v) Sl T

(vi) <HE STIRY ST

[5101]-3044 3 P.T.O.
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(G-3—Applied Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 100 words each (any four) : [20]
(i) Explain the contribution of Psychology to Law.
(ii) Explain what is ‘identity crisis’ in adolescence.
(iti) What is Psychology of Terror ?
(iv) What is Positive Psychology ?
(v)  Describe the adjustment to military life.
(vi) Describe the uses of Evaluation.
2. Answer in 200 words each (any two) : [20]
(i) How can the team morale of sportspersons be built ?
(ii) Explain the use of psychological techniques in Disaster
management.
(iit) Describe the types of Violence.
(iv) What is Engineering Psychology ?
3. Answer in 400 words (any one) : [20]
(i)  Define Educational Psychology. Describe some effective Teaching-
Learning Methodologies in detail.
(ii) What is Health Psychology ? Describe the Bio-Psycho-Social

[5101]-3044

model of Health.



4, Write short notes on (any four) : [20]
(i) Cognitive Neuro Science
(ii) Psychology of Corruption
(iti) Marital Problems
(iv) Audience Expectations in Sports
(v)  Criminal Psychology

(vi) Post Traumatic Stress Disorder.

(W@ T UIT)
q% : || A THUT TUT : 80
g :— (i) §d YT Giefau eI SR
(i) 3SRl 3k YA YO IO SEford.

1. YR 100 I<@ SR fA8 (el =) . [20]
() HEE G9d AENERTEE JPEE WS &
(i) OreEedd Afdca 3@ TMYes WS g ?

(1ii) <BIMARE HEEITS WIS ki ?

(jv) YUHHEE UEEITE WS & ?
(v) Il et FaEeE fave w0
(vi) HAHYAE ITAF fowe

2.  UIH 200 V=M SW fa@ (FOE gF) [20]
(i) VAW g TEd &9 fmo w=a T/a ?

(i) STl HIEATIAMEY HEEYENE  dor=n Sqan fase &
(i) fEO=NR YR W &

Gv) SRl AFEYS WS % ?

[5101]-3044 5 P.T.O.



3. 400 ¥ SW foa@ (FUAE wew) [20]

G)  Yefforer AFERTSE] e foRl. R U9l HASHE d STl
ygdl gfax® fave =

(i) AT AU WS R ? SN SO-AFHh-gHfees ey
fasg =

4. dieRmE feor g (HveEE |9w) [20]
(i) SNECHE HOSIRE
(i) YRERE AEE
(iii) Sefesh FHE
(jv) Uehr=N CooHHd  3TU&T
(v) TR HAE
(vi) ™M@ 9R=EE Ao SR (PTSD).

[5101]-3044 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3045

T.Y. B.A. (Regular) EXAMINATION, 2017
PSYCHOLOGY
(S3-Scientific Research and Experimental Psychology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(it) All questions carry equal marks.

(iit) English is a valid version.

1. Answer the following questions in 100 words each (any four) : [20]
(a) Enumerates goals of research.
(b) Explain the observation method as a data collection tool.
(¢) What is bottleneck theory ?
(d) Describe characteristics of perception.
(e) Explain stages of decision-making.

(f/ What is central and peripheral theory of thinking ?

2. Answer the following questions in 200 words each (any two) : [20]
(@) Describe research approaches.
(b) What is problem ? Describe types of problem.
(c) Define sampling. Explain types of non-probability sampling.

(d) What is reliability ? Explain the types of reliability.
P.T.O.



3. Answer the following questions in 400 words (any one) : [20]

(a¢) What is psychophyiscs ? Explain methods of psychophysics.
(b) Define memory. Describe various models of memory.
4, Write short notes on (any four) : [20]
() Operational definition
(b) Uses of psychological tests
(¢) Kinds of attention
(d) Monocular and binocular cues
(e)  Thinking
(f) Reasoning.
(W& i)
q9B : WA qw THUT TOT : 80
o — () Wd WA Gefdu e
(i) 9| YA A O R
(iii) Teuiardl He TUST WeAUlAHT A
1. @relid g9l I 100 ¥=[ gl (g =) [20]
(37) YA 3y fase &
(9) YSd Hwed @A WUE FR&W g T &
(%) fosfog@a @ amw@ ?
(T) Hogr=t dftted auie .
(3) frofa ufsrddia stemen T &4
(%) foarufea=n megadt o dued fagia s o 2

[5101]-3045



2. Wi YEEl W 200 V=M fowl (FveE @) [20]

(31) omENYA g 9uF &

(d) TS WUS w7 HEE YRS dUi .

(%) -HAEEE e fagl. sHve AAeee UhR e &

() favoufraar wue @@ ? faveafTade YR T &

3. Toia JEAET SW 400 ¥=M foel (SR Uew) [20]

(31) AEEYfdR! WIS wE ? AHEEWfdR= dgdl W .

() Tt e foen. fafay Sgdr g 9o &1

4, deda four fa@ (FUER 9w®) [20]

(1) dfsparcds e

(9) FEHEE A=A 39U
(h) AU Y

(3) WHA 9 fgi= g
(3) fourufen

(®) e,

[5101]-3045 3



Total No. of Questions—4] [Total No. of Printed Pages—3
Seat
No. [5101]-3047
T.Y. B.A. (Regular) EXAMINATION, 2017
GANDHIAN THOUGHT
General Paper III
(Relevance of Gandhian Thought)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)

(i1)
(ii1)
(iv)
()
(vt)

What was the contribution of Dada Dharmadhikari in economical
thoughts of Mahatma Gandhi ?

Explain synthesis of Gandhi and Marx.

Introduce briefly An-San-Syuki’s work in Myanmar.

Explain Ganga Bachao Andolan in the context of environment.
Explain Jayaprakash Narayan’s concept of ‘Total Revolution’.

Discuss about Vinoba Bhave’s concept of ‘Stree-Shakti’.

2. Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(ti1)

(tv)

Explain what is Satyagrahi Samajvad.

Discuss about concept ‘Sthitprajna’ of Geeta.

Bring out the importance of Nelson Mandela’s role in antiracist
movement.

Explain about Chipko Andolan.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]

(i) Explain in detail Acharya Dada Dharmakari’s concept of
‘Sarvadharmasambhav’.

(ii) Explain in detail about the utility of Gandhiji’s method and

technique to solve various social and political issues.

4, Write short notes on any four of the following : [20]
(i)  Social revolution—Javdekar
(i1) Bhoodan—Vinoba Bhave
(iiz) Atheism
(iv) Women empowerment in 20th century
(v) Martin Luther King and Gandhiji

(vi) Narmada Bachao Andolan.

(W& wUIW)
q% : dF A THUT T : 80
ol :— () |& YT AERAE IR
(i) ISl ek Ui Tur eRiferdr.
(iii) TRUES! Hed SUSH AR TgTal.

1.  Welicus! HIEE |R GEE SW Yt 100 Vg ferer [20]
(i) W\ TedSTen snfYe fourda S|l gdHifyeR= foeure areH S
Bd.
(1)) W M T HEH IAAWA FEHEI G
(iii) S9-TA-F&! A=A AR Aqid wE Aol wEd <dl.
(jv) TS s T TSl AR T &
(v) SEAYHE AFU I CCHET HIE TR &

[a)

(vi) Toram wE=n ‘Si-ve’ fawaes eeg fave &

[5101]-3047 2



2. GATdeh] HIVARI S Y9=1 3 Ykl 200 vieid forar [20]
(() HalcAl HHNERE WIS % ? W &
(i) Tiddia ‘feerqus’ Heheua=l ==t R

(iii) -o&d TSl Il SufalH Fedeidial YfHehd Hew T H

Gv) Tausl ARITfawRT e fasl

3. Teiicisl HIVAR TRl I9< IW 400 v&@ fagr : [20]
() oEE TR eHifue Al wdyHerae’ fovae Seheun Afaray T
&

Gi) fafay gmfses nfor qoa w9en diequa@el 1. M=l ggdl o

4, dreRd dar fa@ (W WR) e [20]
() HmEree  aREdT— e
(ii) YgF—fodren wd
(iii) TRvaRarR
(jv) fog=n vASEA S TR Fods
(v) WA R TR T Teds
(vi) S SEISl STEeH.

[6101]-3047 3



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No. [51011-3048
T.Y. B.A. (Regular) EXAMINATION, 2017
YOGVIDYA
General Paper III
(Applied Yoga)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Explain any one from the following in 50 words : [5]
(1) Explain the ‘Tribandha’ in Yoga Science.
(2) Benefits of Yoga Science.
2.  Write short notes on any two of the following : [10]
(1) Mayurasana
(2) Karmayog

3)
(4)

Bhasrika Pranayam
Vaman.

3. Answer any two questions from the following in 200 to 250 words

each :

(1)

(2)
3)

[15]
According to Swami Kuvalyananda, state the classification of
ansanas.

Discuss the uses of Yoga in family problem solving.

State the role of Yoga Science in welfare of sportsman.

4, Attempt any one question in detail : [10]

(1)
(2)

Discuss, how Yoga is helpful to keep social health.
State the significance of Yoga Science in mental health.

P.T.O.



(TSt ®UTAR)

q% : 2 q™ TRIT 0T : 40
el :— () 9d YT Hiefou sevEs ST
(i) RS FF o O e,

1.  Tclldus! HIAR Tl Y= S| 50 IR Ao [5]
(1) IrEmEda et mied o
(2) ATRTE ®Ee 9.

2. dedd fewr W (R d9) : [10]
(1) HIguEA
(2)  wHAA
(3) wfgehr gmE™
(4) 9HA

3. GAldeh] HIVAEI @I g9t 3 Yodeh! 200 d 250 V=@ =M : [15]
(1) I HAEFGHER STHA  ARIRIU T H.
(2) Hifokh THEN TEfGUAMEE e SUAN. @=

(3) WIS HIAId ANRIEAE  qiHRT FETL.

4, WUl SR Tehl YW FfaeR W : [10]
(1) dfee @WReT GadA e anmar SuA BEd w1 2 ==l @A
(2) THAMNE® ARFOM ATRTEE Hegd fove &

[5101]-3048 2



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-3049

T.Y. B.A. (Regular) EXAMINATION, 2017
HISTORY OF CIVILIZATION
General Paper III
(World Culture)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) Explain the concept ‘Sphinx’.
(ii) Explain the concept ‘Hijri’.
(iiz) Describe the meaning of Renaissance in Europe.
(iv) Religious life in Harappan civilization.
(v) Features of pyramid in the Egyptian civilization.

(vi) Social structure in Vedic civilization.

P.T.O.



2. Answer the following questions in 200 words each (any two) :[20]
(i) Discuss the salient features of Palaeolithic Age.

(z1) Describe in detail the social structure in the ancient Chinese

civilization.
(zi1) Write a detailed account of Vedic culture.

(iv) Describe the impact of Renaissance in the field of Art and

Literature.

3. Answer the following questions in 400 words (any one) : [20]
(i)  Review the progress in social and economic life in Vedic civilization.

(ii) Discuss the various causes of reformation movement in Europe

and state its consequences on Kuropean society.

4, Write short notes on (any four) : [20]
(i) Code of Hammurabi
(i1) Neolithic culture
(iiz1) City states in Ancient Greece
(iv) Concept ‘Manor’
(v)  Christopher Columbus

(vi) Vasco da Gama.

[5101]-3049 2



(WS BUIR)
q% : dF A THUT TUT : 80
g :— () WA WA Gefou Aevdd .
(ii) SSEfhSld 3k YU IO SRiferr.

1. Tcelia Y9l S Yl 100 vgid foel (el =9m) [20]
() ‘ToRpem’ = Hhoqdm WS

(i) ‘st ' W whedw=n e WML

(iii) JUAIHHA e FBde WUS HE 7 W HA
(jv) TS T&hda! AR oifffes SoA 9uiA &
(v) 3w wda et afrs

(vi) dfcHF TEHdl AHA GEAN AL

2. Weid Yl W TS 200 V[ fawr (HoeE d@F) e [20]
(i) TRREYEA 3 dfyredret == A
(i) e fodfl gopdt Al ganeREHa @eu fave &

(iii) dfcewr arewarn dfaw® g foa.

(jv) JAUAHA YU Feodedal Hl 9 WA I TsSoial guE favie

.

[5101]-3049 3 P.T.O.



3. Tdild YT 400 ¥=M[ W ol (FivdE weh) [20]
(i) Ofck Thdl mefid WS a oTfYfe Sfeidiel Wdien STeren H4.

(i) JUIHA YHYURV T3 HUSd YU HRUNYd ATl HRUTE! ==
F 9 I Fdesd UMUHT HHNTR il giRomA fage <.

4. ded@ foor fagr (U@ 9®) [20]

(i) THUSEl hEcHied
(i) AR WA

(i) WA drEEee TR
(v) ‘HAR' € Heheu

(v) TEEHT Hced

(vi) TRHI-T-TTHI

[5101]-3049 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3050

T.Y. B.A. (Regular) EXAMINATION, 2017
HOME ECONOMICS
(G-3 : Dynamics and Challenges of Indian Society)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) Explain the factors influencing on social change.
(ii) Explain the political and economic effects on social change process.
(ii1) Explain active and passive deviation.
(iv) State the difference between Indian family and Foreign family.
(v) Explain the causes of intermarriage system.

(vi) Explain the causes of value conflict in Indian society.

P.T.O.



2. Answer the following questions in 200 words each (any two) :[20]

(i) Explain the features of modern society.
(ii) Explain the causes of conformity.
(iiz) Explain the functions of Indain family.

(iv) Explain the causes and effects of Divorce.

3. Answer the following questions in 500 words each (any one) :[20]
(i) Explain the meaning and features of Traditional Society.

(ii) Explain the causes and effects of dowry system.

4, Write short notes on (any four) : [20]
(i) Importance of social change
(ii) Status of women in Indian society
(iit) Technology and social change
(iv) Marriage and Sex
(v) Adoption system

(vi) Social change process.

(& wuiaw)
% : dF A THUT T : 80
o :— (i) Wd WA Hefaun AevEs S
(i) 3SRl 3 YA YO IO SIforrd.

1. Eeid 99ET S Yt 100 IS fagl (sl 9r) [20]
() gmifser gfedqer 9Rume R ek TS R

(i) TS for smfefer Seehi=an wMISeh URedd 9fshder BIOm 9fiomy
e .
[56101]-3050 2




(iii) Gfepa aAor [t fauaa W2 &
(jv) YRAE HId M Wehld Hed Adia ®eh  dETL
(v) STRfIaE Ygdi=l HRU T &

(vi) YRAE FESTAA Hod ool HRo T H.

2. Woid Yyl W TH! 200 VS fag (F0E @F) [20]
(i) onyfte TuTer Afytes T #L

(i) ISR STIEeHEl N0 T h.

(iii) YRAE HA HE T R

(fv) TCERIEET HIUl o gfiomy T &L

3. Weld YeArEt SW YS! 500 V[ fa@l (HIUAE TeR) [20]
(1) WA gmrerer sied enfor Sfiter T &L
(i) TS UsdEr &RO et ufomy T &

4, dieq@ few fa@ (FvEE \w) [20]

() g mEfSe gfEdae Je

(i) YRdE FueE e sl
(iii) TAE ST WIS qRE
(jv) foemg ewfor <ifiteRan

(v) TFE TGl

(vi) gmfser gfed gfea

[5101]-3050 3



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat
No. [5101]-3051
T.Y. B.A. (Regular) EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
(D.S. G-3(A) : India’s National Security)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the concept of National security.

(it) What are the objectives of foreign policy ?

(ii1) State the aims of India’s defence policy.
(iv) State the objectives of SAARC.
(v) Explain the concept of insurgency.

(vi) What are the principles of Panchsheel ?

2. Answer the following questions in 200 words each (any two) : [20]

(i) Give an account of the activities of superpower in the Indian

Ocean.

(1) State the causes and measures of Terrorism.

(iit) Describe the Nuclear Policy of India.
(iv) Explain the India’s defence policy.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(i) Explain the determinants of foreign policy of India.

(ii) Explain the Indo-Pak relation with special reference ot Kashmir
Issues.

4, Write short notes on (any four) : [20]
(i)  Achievements of SAARC
(i1) Importance of National Secuirty
(iti) Naxalist
(iv) MacMahon Line
(v) Nuclear Test, 1998
(vi) Nuclear Agreement between India-USA.

(W& wuTR)
q% : dF A THUT TUT : 80
ol :— () W TR Giefau ofenad IR
(ii) SSEheld e T qU YU gEifaan.

1. @efial el S Ydst 100 v forel (Sivel \m) [20]
(i) TS YA HHhedd TR &
Gi) TR ORoT sfeed @ 2
(fii) WRATAT EIEU EROME S G
(jv) k=l fesey T
(v) TacEET dHeTT TR H.

(vi) YoRie dw IO ?

[6101]-3051 2



2. Welld TRl SW URHT 200 WEM fo@ (FURE g9) [20]
(i) & "TeErRdd TeEwe e Sedn =
(i) TEYMEREl HRO ST Iq™F G
(fii) wRareAl SfUerh  €OTE U R
(jv) WA & YRV TR .

3. Tla Y W 400 VIl fael (FIvEE wer) [20]

(1) YRAA TS URUTE Mk TR .

(i) VR TALA AIHEA YRA-Uh GaY TR H.

4, geRE feu @ (IR 9r) [20]
i) ERd T
(ii) UK &Y "
(i) HETAR
(iv) HehHET IO
(v) 1998l U =T
(vi) WRA-3HRERT A I

[6101]-3051 3 P.T.O.



[5101]-3051

D.S. G-3(B) : India and South Asia
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the achievements of SAARC.
(i1) Indian Ocean is a peaceful zone. Explain.
(ii1) Explain area of co-operation between India and Maldives.
(iv) Write the present status in India and Nepal Friendship.
(v) Explain the issues between India and Bangladesh.

(vi) Write the causes of 1965 war.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the ethnic problem in Sri Lanka.
(ii) State the importance of Geopolitics.
(iiz) Explain the strategic importance of Nepal.

(iv) State India’s role in Bhutan development.

3. Answer the following questions in 400 words (any one) : [20]
(i) Describe India’s role in the Independence of Bangladesh.

(z1) “Kashmir issue is a crucial issue in India-Pakistan relation.”

Explain.

[6101]-3051 4



4, Write short notes on (any four) : [20]
(i) India’s role in SAARC
(ii) Pakistan military capability
(iiz) India-Maldives cultural linkages
(iv) IPKF (Indian Peace Keeping Force)
(v) Chakma refugees problem

(vi) Maritime security.

(WS waia9)
q@ : A A THUT TOT : 80
el :— (i) Wd U Oefau ofeved R
(ii) 3VETRSIA 3Tk UEA qUl U geifaand.

({ii) TGS Yoo TUSH WYAUCAHT Al

1. Seid Yol W YD 100 T=[ el (e |mn) [20]
(i) HehEl TR R R
i) &t Wer@rR B wh wiad & W .
(iii) WG S0l Aiefcomeic Hehm &9 T A
(iv) wRd for Auremefid Geuferdidiar #sft weaw formn
(v) YRA S SRS G T .

(vi) 1965=N Jgr&l wRO forgn

[6101]-3051 5 P.T.O.



2. Wefid JEAEl W YS! 200 Ve[ folel (hIvhEl @) [20]
(i) oicishdidd dieeh HET T H.

(i) YUSHide "ed 9.

(iii) +Ueed WMHRE Hed W& &

(jv) o= fasEda vRaren YfHs< 9o &

3. Waild Y SW 400 v fo@l (hIodEl Teh) [20]

(i) NGy @AW XA i J0H &

(i) ' Rg-ufREE Heud HIRHR YT 8 T ol gHE 37E.! e
ETi

4. diedd fear fagr (FodE 9wR) [20]
(i) eRAHTE RarEl  YfHeR

(i7) TUIfh&=l SR &l
(i) YRA-TAfcaqeia Aiepfas  Gay
(jv) AAMWHTE. (9AE I T

(v) =% fEifaa gwen

(vi) WFRR FIa

[6101]-3051 6



[5101]-3051

D.S. G-3(C) : Contemporary Warfare
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) State the economic causes of war.
(ii) Explain the concept of Total War.
(itz) State the strategy of Counterinsurgency.
(iv) What are objectives of Biological warfare.
(v) State the importance of psychological warfare.

(vi) Explain the scope of electronic warfare.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the nature and methods of chemical warfare.
(ii) Describe the consequences of war.
(ii1) Explain the means of psychological warfare.

(tv) State the nature of economic warfare.

3. Answer the following questions in 400 words (any one) : [20]
(i) Explain the principles of Guerrilla warfare.

(ii) Describe the origin and development of Nuclear warfare.

[6101]-3051 7 P.T.O.



4, Write short notes on (any four) : [20]
(i) Cyber warfare
(it) Conventional warfare
(ii1) Insurgency
(iv) Revolutionary war
(v)  Guerrilla warfare

(vi) Biological warfare.

(S waia))
% : dF A THUT TOT : 80
ol :— (i) W U Hiefau oAewEsd SR
(i) 3SRl 3 YA YO IO SIiforrd.

1. Eeid Y3l W Y&D! 100 U= el (Fude |mn) [20]
(i) ggren STfYw HRU HEL
(i) TARY JFE Fhoddl W H
(iii) Sfdfawerera &R0 9.
(iv) Sfaw Jgusdr=n e Hoet ?
(v) FAEETSE JSusdd Hed  9Gn.
(vi) TARIE JSUSAEl AT T H.

[6101]-3051 8



2. Wl TR SW YS! 200 VR fe@ (FURE gF) [20]
(i) TEEHE Jgusdd WEY ST Ugdl TR w
(i) ger gRom fove &
(iii) WHETSIT Jgugdrdl HYd e .

(jv) of& Jgusdd TWEI G

3. Waild Y SW 400 v fo@l (hIodEl Teh) [20]

(i) T ggugdEl 9 T .

(i) onfvash Jgugd=n M sufur faekm faee 4.

4. dgdedd four fo@ (SRl |mw) [20]

(i) HER JEuGdl
(i) RIS JgUGdr
(iii) fawra

(lv) R IS
(v) TH GGl

(vi) Sifa®  FEaET.

[6101]-3051 9



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-3052

T.Y. B.A. (Regular) EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
(D.S. S-3(A) International and Regional Organisation)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) State the aims of NAFTA.
(iz) What is the Human Rights ?
(ii1) Explain the structure of WTO.
(iv) What are the basic principles of UN Charter ?
(v) State the structure of ASEAN.
(vi) State the hindrances in the working of UN.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the objectives and functions of EU.
(ii) State the objectives of WTO.
(iti) Describe the relations of India and ASEAN.

(iv) State the functions of UN peace-keeping forces.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(i)  Describe the role of UN in the Social and Economic issues.

(ii) Explain the structure, objectives and functions of SAARC.

4, Write short notes on (any four) : [20]
(i)  Structure of NAFTA.
(ii) Declaration of Human Rights
(iii) Functions of WTO
(fv) Origin of UN
(v) Enforcement Action by UN
(vi) Future of UN.

(AE waiaR)
q@ : A A THIT TUT : 80
g :— (i) §d YT diefau Aevds R
(i) 3SRl 3k YA YO IO SIiforrd.
(i) o5 TUSH EAULTRl werE.

1. @elid Y= S 9 100 vsid foer (Suaesl 9am) . [20]
(i) T 3TQT EATL

(ji) TVt TR WUN ®E 2

(iii) SINTfder YR Heed=l & W .

(jv) IR T Tiodl JAYd ad RO ?
(v) STREF=T A 9.

(vi) TYF TITAT HEAA HASAS T

[5101]-3052 2



2. Wefid JeAET W YAhl 200 veeid folel (HRIv@El @) [20]

(i) U gea= e 9 dF TR &

(i) fde SAMR A= 3fese Imm.
(iii)) YRG 9 ANEE d9y fave &1
(jv) TIF TSI I = B FATL

3. Tola SR Ueh Y9 W 400 [ fal . [20]
(i) FIF T AMeie T oTfde yvd defauanda wE foee .

(i) Greh=r T, Sfese omfor s TR &AL

4, deda four fa@ (FUER 9w®) [20]

(1) ATHTER AT

(i) HMHEEr AfYSRET Sfgm

(iii) Sfder SFMUR GoSI=l hid

(jv) TIF TSI S

(v) TIF TSI HEFAEET D

(vi) TIF T Ao

[5101]-3052 3 P.T.O.



[56101]-3052

(D.S. S-3 (B) : Terrorism and Counterterrorism)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(it) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) State the preventive measures for terrorism.
(it) What are the resources of terrorism ?
(ii1) Explain the International terrorism.
(tv) State the characteristics of terrorism.
(v) What are the organisations of Indian terrorism ?

(vi) Explain the meaning of terrorism.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Describe the role of Non-state factor in terrorism.
(ii) State the impact of terrorism on national development.
(iit) State the different approaches to understanding terrorism.

(iv) Explain “Terrorism as threat to India’s security”.

[5101]-3052 4



3. Answer any one of the following questions in 400 words : [20]
(i) Explain the definition and causes of terrorism.

(1) Describe the counterterrorism in Jammu and Kashmir.

4, Write short notes on (any four) : [20]
(i) Response to terrorist threat
(i1) Nature of terrorism
(iti) Counterterrorism
(iv) Effects of terrorism
(v)  Terrorism and International Law

(vi) Types of terrorism.

(WS TUIN)
q% : || A THUT TUT : 80
g — () Wd WA defau oAeavas aed.
(i) SoMEiherd i qui U geifadm.

N

1. @il g3l S Akl 100 VsSid ol (Rivdel |m) [20]

(i) TEIARERA Wfaegs U™ 9L
(ii) <BYQAEEl WY hIodl 2

({ii) STARE TEFAE T H.
(jv) <EEARTE afyte .

(v) HRAdA <EIdaR! TeeAT v ?

(vi) <EvaaEEl 37 TR &

[5101]-3052 5 P.T.O.



2. Wil gyaEt SW Ykl 200 viSid foel (Hivker d@e) [20]

(i) TBYCERKE g Hehtal Yfyehd v
(i) <EvaREl U faemeda aftom |mm.
(iii) TEAAR FHSgd v fafay g |

(iv) TEMElR YA A Teh 3MRME T .

3. Wiid AR Teh 99 SW 400 ¥k fa@l [20]

(1) <EICARNET AT 9 HRU T H.

(i) SH-%PHR HYid gidegvaer fawe &

4, geda fou a8 (FUER 9w®) [20]
(i) TEIGAR! HHERE YiastR

(ii) TEIAARN WEY
(iii) GfaceIdag
(jv) <EYAARN qRumm

(v) TEAR d AR HIAC]

(vi) TEIEIRE JHN.

[5101]-3052 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3053

T.Y. B.A. (Regular) EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
D-5 S4 (A) : Defence Economics
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the structure of India’s defence budget.
(it) What are external threats of India’s security ?
(itz) State the importance of war time economy.
(iv) What are the effects of inflation ?
(v) Explain the significance of war petential.

(vi) State importance of economic warfare.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain Parliamentary control of defence budget in India.
(i1) Contrast between defence and development.
(iit) Explain the scope of economic warfare.

(iv) State the characteristics and means of war time economy.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(i) Explain salient features of Indian economic system.

(i1) What are the sources of war finance ? Explain.

4, Write short notes on (any four) : [20]
(i) War potential
(i) Defence
(iit) Development
(iv) Internal threats of India’s Security

(v)  Preparation of India’s defence budget

(vi) Analysis of India’s defence budget 2015-16.

(TS ®UIaR)
% : dF A THUT TUT : 80
IO :— (i) WA WA Hefau sEwEd e
(i) 3RS ik TEAE Yo U geifaa.

1. Tdd YeET SW Ut 100 Vssid fagl (hivdel ar) [20]

(i) YRA=A WU SRR o T
(i) WRA= WA dfgfid € HId 7

({ii) JSHEA ASTITEE Hed G

(jv) =ATETe YRUMH HIU  ?

(v) J& &I Hed TR H.

(vi) onfdw Ig dsd= Hed GO

[56101]-3053 2



2. Wl TRl SW YR 200 VR faw (FURE gF) [20]
(i) YRAE GHeY WU eSO T W .
(i) EX&u oMy foh™ AME T TR H
(i) oMl g UgdEl AW T H.
(iv) I sfoeed=l ditm=l enfr wed @

3. Weid HIUAR Teh TN IR 400 I forer [20]
(i) ORdE SdFEE=t aRme wWR #wa
(i) Jg Toar=t wER Fo 7 d@ TR R

4. dieHE feur fag (FUEE 9w) [20]
@) IS &§HA
(i) EE"
(iii) T

(lv) YRAN Add GEd e
(v) RGN TRV STENYThE]  qar
(vi) 2015-16 IT TE=A WRATAT GI&TU SFETSIUslhrd  fageroor.

[5101]-3053 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3055

T.Y. B.A. (Regular) EXAMINATION, 2017

COMMERCE
General Paper-II1
(Business Management)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following in 50 words each (any two) : [10]
(i)  Define ‘Business Management’.
(i1) Give the meaning of delegation of Authority.
(iit) What is meant by communication ?

(iv) What is Planning ?

2. Answer the following in 100 words each (any four) : [20]
(i) Explain advantages of line organisation.
(it) State the types of decision.
(iit) Explain the process of control.
(iv) State the importance of communication.
(v) Explain the characteristics of control.
(vi) State any five principles of organisation.

P.T.O.



3. Answer the following in 300 words each (any three) :
(i) Explain management is a science or an art.
(ii) State any one theory of motivation.
(iit) State the types of organisation.
(iv) State the merits of Delegation of Authority.
(v) Give the merits of planning.
4. Answer any one ofthe following in 500 words :
(i) Explain functions of management.
(ii) Explain the principles of communication.
(TS wUIaR)
q% : || A THUT TOT :
el :— () Wa WA el oAewesd oRd.
(i) SSEIheld 3k YU IO o
1. @rid g9l Yol 50 Teed SRl (FIvdE &)
(i) —HOEE HERIOAE e Tl
(ii) SAMHR WeHrEn e "
(iii) WeTERT WUS B ?
(iv) THEFA =™ ®@ ?
2. Wlid TEAE YOkl 100 VR SW foawl (FoRE |w)

G) ‘Y@’ ygdea §9ed Y WiEe 9r.
(i) Tl ysr o =
(ii) Trasom=n gfssan Tose &9

5101]-3055 9

[30]

[20]

80

[10]

[20]



(jv) HYERA™ He 9.

(v) T SfysEl T wAL

n_n

(vi) YISl IR 9= 9 HEL

3. Wi Y=l Yl 300 vSid SW fo@l (el diF ) [30]
(1) FIYH ‘I’ @l ‘ohdl T H.
(i) AU wIvdEl W fggia @

(iii) HeeAd UhR 9.

(Gv) SIfYRR YeMME ®wES 9O

(v) TSI w9

4. EAYS! BRI TRl Y= 500 ¥esid W fa@r [20]
(j) HATEAAET HE TR H

(i) HeYER =l d  9r.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3056

T.Y. B.A. (Regular) EXAMINATION, 2017
G-3 : EDUCATION
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Write the answers of the following questions in 100 words each

(any four) : [20]
(i) Explain the suppression aspect of discipline.

(ii) Explain the concept of Individual differences.

(iit) Explain the concept of mental Health.

(iv) Explain the educational importance of creativity.

(v) Explain the concept of personality.

(vi) Explain the types of disasters.

P.T.O.



2. Answer the following questions in 200 words each (any two) :[20]

(i) Explain educational importance of educational guidance.
(ii) Explain the role of school in disasters management.
(iit) Explain the role of school in developing personality.

(iv) What is perception ? Explain the educational importance of
perception.

3. Answer any one following questions in 400 words : [20]

(i) What are the problems in Higher education ? Give suggestion
to overcome those problems.

(ii) Explain the nature, importance and limitations of discussion
method in detail.

4, Write short notes on 50 words each (any four) : [20]
(i) Causes of mental conflict
(i1) Concept of social discipline
(iit) Concept of educational counselling
(iv) Educational importance of project method
(v)  Educational importance of individual differences

(vi) Concept of school indiscipline.

(W@ T UI)
q@ : A A THUT TUT : 80
g :— (i) §d YT Hiefau Aevds SR
(i) ISEherd 3Tk WA qu 0 SEifadm.

1. Ted YeET SW Tl 100 Vssid fael (Hhivdel 9r) [20]

() = <o d=n faga s &L

(i) AN Hheddl T
[56101]-3056 2



(i) TFMAEH AT Ghoddl T .
(jv) ToEiee eIk Ted T H.
(v) KA HhHeUT TR H.

(vi) SU<IY YHR TR H.

2. WA YEAEl SW O 200 VR faw (Fed gH) [20]
(i) gl ArEieYANE Hed@ TR .
(i) AU RO Mol YfHew T .
(iii) SAlKAc fIhETH o=l i T .

(jv) ATNY TWUS HE 7 OO VYR HEgew WS A

3. Tola SR Teh T W 400 I[ fa@l . [20]

(i) 3S=a Tyurdial gq@ §HEl R ? A g hOIEES U g

(i) == Ugdd WEY, BEC 9 HIQl GO TR &

4. YR 50 ¥=@ few fag (FvmE wW) [20]
(i) AEfER HEuE &R
i) oTHifSes feredi=i  Gehea
(i) el FIRIEE  Hehe
(lv) THhed Ugd Jefe Ted
(v) AFFKIRE Qs TEd
(vi) TMeE AR HehedH.

[5101]-3056 3



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5101]-3057

T.Y. B.A. (Regular) EXAMINATION, 2017
INDUSTRIAL MATHEMATICS
FMG-3 : Financial Mathematics and Graph Theory
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(a) Define the term equilibrium set.

b) If I am offered a gift of either $ 6,000 now or $ 10,000
in seven years time, which should I accept, given the fixed
interest rate of 8% ?

(c) Find the maximum value of the profit function :

nq) = —-2¢3 + 3¢% + 129 + 9
in the interval [0, o).

(d) Determine whether the Cobweb model predicts stable or unstable

equilibrium for the marked with :
¢>(p) = 0.05p — 4,

¢P(p) = 20 - 0.15p.
P.T.O.



(e) State any two economic principles of efficient small firms.
2] Define simple graph. Give an example of simple graph.

(L) List the degrees of each of the vertices of the following

graph G. How many even vertices does G have ?

(h) Find adjacency matrix of the following graph :

C

(@) Define spanning tree of a graph G.

() Define Eulerian graph. Give an example of an Eulerian graph.

2. (A) Attempt any one of the following : [6]

(a) Explain the Cobweb model.
[5101]-3057 2



(b) The supply and demand sets for a good are :

S = {(qg, plq bp - a}

D ¢ — dp},

g, plq

where a, b, ¢, d are all positive. Suppose the government
wishes to raise as much money as possible by imposing
an excise tax on the good. What should be the value
of the excise tax ? Show that the resulting government

revenue 1S :

(bc - cd)2
4bd(b + d)°

(B) Attempt any two of the following : [10]

(a) Show that the present value of an annuity of I for N

years, given the fixed interest rate r, is :

I I I I
P = + + +o

L+r 1+rY  (@+r) L+

() Find the maximum and minimum values of the

function :
n(g) = ¢3 — 8¢2 + 16g — 1
in the interval [2, 5].

[5101]-3057 3 P.T.O.



(c) Show that if the demand function for a good is
¢P@) = a - bp
for some positive constant a and b, then the demand

is inelastic in the range 0 < p < 9.

2b

3. (A) Attempt any one of the following : [8]

() Suppose that Alpern and Co. is an efficient small firm
which cannot produce more than 6 units of its product

each week. If their cost function is :
Clg) = 100 + 20¢ — 692 + ¢°,

determine :

(i) their fixed cost

(i) their profit function

(iiz) their startup point

(iv) their breakeven point.

(b)  Consider an economy with three industries : coal, electricity,
railways. To produce $ 1 of coal requires $ 0.25 worth
of electricity and $ 0.025 rail costs for transportation.

To produce $ 1 of electricity requires $ 0.65 worth of
[5101]-3057 4



(B)

[5101]-3057

coal for fuel, $ 0.05 of electricity for the auxiliary equipment,
and $ 0.05 for transport. The provide $ 1 worth of
transport, the railway requires $ 0.55 coal for fuel and
$ 0.10 electricity. Each week the external demand for
coal is $ 50,000 and the external demand for electricity
is $ 25,000. There is no external demand for the railway.

What sould be the weekly production schedule for each

industry ?
Attempt any one of the following : [8]
(@) Let G be a graph with n vertices vy, vg, ..... , Uy,

®)

and let A denote the adjacency matrix of G with
respect to this listing of the vertices. Let B = (bij) be

the matrix

Then prove that G is a connected graph if and only
if for every pair of distinct indices i, j we have
bij # 0, i.e. if and only if B has no zero entries off
the main diagonal.

Prove that an edge e of a graph G is a bridge if and

only if e is not part of any cycle in G.
5 P.T.O.



4. (A)

(B)

[5101]-3057

Attempt any one of the following : [6]

(a) If T is a tree with n vertices, then prove that it has

precisely n — 1 edges.

(b) List all spanning trees of the complete graph on four

vertices Ky. How many of them are non-isomorphic ?
Attempt any two of the following : [10]

(@) Define isomorphism between two graphs Gy and Gs.
Check whether the following graphs are isomorphic.
Justify.

G &,

(b) Let G be a graph with n vertices. Then prove that G
is a connected graph with n — 1 edges if and only if

G 1s tree.

(c) Let G be a graph with n vertices, ¢ of which have degree

k and the others have degree 2 + 1. Prove that
t = (k + 1) n — 2e,

where e is the number of edges in G.
6



5. (A

(B)

[5101]-3057

Attempt any one of the following : [6]

(@)

Prove that a connected graph G is Euler if and only

if the degree of every vertex is even.

(b) Let v be a vertex having maximum outdegree in the
tournament T. Then prove that for every vertex w of
T there is a directed path from v to w of length at
most 2.

Attempt any two of the following : [10]

(a¢) Let G be a simple graph with n vertices and let
G be its complement. Prove that for each vertex v in
G,

dG(U) + d(—}(v) =n — 1.

(b) Let G be a graph with n vertices, where n > 2.
Prove that G has at least two vertices which are not
cut vertices.

(¢c) Let D be an Euler digraph. Prove that D is strongly

connected.



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [51011-3058

T.Y. B.A. (Regular) EXAMINATION, 2017
MATHEMATICAL STATISTICS (General)
(Statistical Inference)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iti) Use of statistical tables and calculator is allowed.

(iv) Symbols and abbreviations have their usual meaning.

1. Attempt each of the following :

(a) State whether each of the following statements is True or
False : [1 each]
(i) If MVBUE exists, it is unique.
(i) Moment estimator and maximum likelihood estimator are

always unique.

(ii1) In SPRT sample size is a variable.
(iv) MP test is used for testing a simple null hypothesis

against a composite alternative hypothesis.

P.T.O.



)

[5101]-3058

Choose the correct alternative in the following : [1 each]

(2)

(i1)

(ii1)

(tv)

If X - P(A), then A can be estimated unbiasedly by :
(A) Sample median

(B) Sample mean

(C) Sample standard deviation

(D) Sample variance

Neyman’s factorization theorem is applied for testing :
(A) Consistency

(B) Sufficiency

(C) Unbiasedness of an estimator

(D) Asymptotic unbiasedness

Which one of the following test can be compared with
Chi-square test ?

(A)  Run

(B) Sign

(C) Mann-Whitney

(D) Kolmogorov-Smirnov

Probability of rejecting H; when it is not true, is :
(A) Level of significance

(B) Size of the test

(C) Power of the test

(D) Power function

2



(c)

(@)

)

(c)

[5101]-3058

Answer in brief : [2 each]

(i) Explain exponential family of probability distributions and
sufficient statistic.

(i1) Distinguish between an estimated and an estimator with
an illustration.

(iit) Explain notion of likelihood ratio test.

(lv) Explain empirical distribution function S, (x).

Attempt any four of the following : [4x4=16]

Explain the general problem of estimating an unknown parameter
by point and interval estimation.

On the basis of a random sample of size n from N(u, o2),
obtain 100(1 — o)% confidence interval for u when o2 is
unknown.

Explain the method of maximum likelihood for estimation of
parameter. Obtain m.l.e. of parameter o if a random sample
of size n is available from distribution of random variable X

with p.d.f. :
ke—ocXXk—l
r@) -

(04

fle, o, A) =

x>0 o A >0 A known.

3 P.T.O.



(d)

(e)

(@)

)

(c)

[5101]-3058

Define minimum variance unbiased estimator (MVUE) of parameter
0. Let Ty and Ty are two independent unbiased estimators
of parameter 6 with variances G% and 0% respectively. Determine
the constants @y and a9 such that T = a{T; + ayT9 is unbiased
estimator of 6 with minimum variance.

Find the Fisher information function I(ot) for G(o, A) distribution

where A is known.

() Let X, Xg, e , X, be a random sample from N(u, o2)
distribution, 02 known. Obtain MVBUE of u.
3. Attempt any four of the following : [4x4=16]

Define an unbiased estimator. With usual notation prove that,
if T is an unbiased estimator of 6, then ¢(T) is unbiased estimator
of ¢(0) provided ¢(.) is a linear function.

Explain notion of uniformly minimum variance unbiased estimator
(UMVUE). With usual notations prove that, uniformly minimum
variance unbiased estimator T of a parameter 0 satisfies the

relation :

a%mgL ~ nI(0)(T - 6).

Explain the concept of sufficiency. With usual notation prove

that, M.L.E. is a function of sufficient statistics.

4



(d) State and prove Chebychev’s inequality for discrete and
continuous distributions.

(e) Explain the concept of consistency. With usual notation prove
that an estimator is consistent it its bias and variance both
tend to zero as the sample size tends too infinity.

(/A Explain method of moments for estimation of parameters. A

discrete random variable X has the following p.m.f. :

x+k-1
PX = x) = pR(1 - p),
X
x =0, 1, 2, ...... k>0 0<P<1

Find moment estimator of p if £ is known.

4, Attempt any two of the following : [2x8=16]
(@) () Describe Wilcoxon signed rank test. [4]
(i1) The following is the order in which broker received orders
for a certain stock (B : buy and S : sale) :
BBBBBBBBSSBSSSSSSBBBBBSS
Test the randomness of the above sequence at 5% level
of significance. (4]
(b) () The following are the hours of sleep recorded for 10
newly born babies :
15.5, 17.2, 16.4, 19.8, 20.4, 17.8, 14.9, 12.8, 16.5, 18.8.
Use sign test to test Hy : M = 18 against H; : M > 18
where M is the population median. Use a = 0.05. [4]
[5101]-3058 5 P.T.O.



(ii) Explain the following terms :
(I)  Observed level of significance (P-value)
(II) Type I error
(IITI) Type II error
(IV) Power of a test. [4]
(¢c) () Construct likelihood ratio test of level of significance o
for testing Hy : u = py against Hy : u # pg where
u is the mean of N(u, 02) distribution where o2 is
known. [5]
(ii) Explain the concept of non-parametric tests. State
any two differences between a parametric test and
non-parametric test. [3]
(d) (@) Use Kolmogorov-Smirnov test to test whether the
following sample can be looked upon as a random sample
from U@, 1) :
0.10, 0.28, 0.34, 0.61, 0.61, 0.91, 0.36, 0.88, 0.04, 0.63.
Use 5% level of significance. [6]

(i1) Describe Wald’s SPRT of strength (o, p). [2]

5. Attempt any one of the following :
(@) () Define most powerful level o test and uniformly most

powerful level o test. The consumption of electricity in

[5101]-3058 6
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(i1)

(@)

a small township is assumed to be exponentially distributed
with mean 6. Determine the sizes of the type I and
type II errors if Hy : 6 = 065 = 1,000 kW is tested
against the, H; : 6 = 67 = 2,000 kW. If the test criterion
is, select any day at random, if the consumption on
that day is 4000 kW or more reject H; otherwise
accept Hy. [9]
A test administered to a random sample of 9 students
from school A and to another random sample of size
8 from students of school B. The score achieved by two
groups of students as given below :
A 93 91 96 99 89 79 85 98 84
B : 8 92 97 88 86 94 83 99
Test the null hypothesis that the performance of the
two groups of students is the same. Use Mann-Whitney
test. Use a = 0.05. [7]
A random sample of size 25 drawn from N(u, 02) .
() Find MP test of size 0.05 to test Hjy : 0 = 4 against
H; : 6 = 6.
(II) Is this Uniformly Most Powerful (UMP) if
H; : 6 > 6 ? Plot the power curve taking values

of 0 as 6.1, 6.3, 6.5, 6.8 and 7.0. [9]

7 P.T.O.
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(i1)

A discrete random variable X follows Bernoulli distribution.
Carry out a Walds Sequential Probability Ratio Test (SPRT)
of strength o = 0.05 and f = 0.05 to test the following
hypothesis :

Hy : p = 1/3 against Hy : p = 2/3 using the following
sequence of observations :

1, 0, 0, 0, 1, 1, 1, 0, 1, 1, 1, 1, 1, 1, O.

Do you arrive at the decision before examining the entire
sample ? Justify your answer. Draw the decision lines

also. [7]
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Seat
No. [5101]-3059
T.Y. B.A. (Regular) EXAMINATION, 2017
ENGLISH

General Paper III

G-3 : Advanced Study of English Language and Literature
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) A Collection of Indian English Poetry by Radha Mohan

Singh.
(i) Linguistics : An Introduction by Board of Editors.
(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two of the following in about 100 words each : [16]

(1)

(2)

3)
(4)

(1)

How does Tagore describe God’s omnipresence in the poem
‘Silent Steps’ ?

‘Song of Radha, the Milkmaid’ is a devotional song. Discuss.
Discuss the title of the poem ‘Poet, Lover, Birdwatcher’.
Write a note on the theme of the poem ‘Sea Breeze,

Bombay'.

Attempt any four of the following in about 100 words each : [16]

Syntax
P.T.O.



(2)
3)
(4)
5)
(6)

(1)

(2)

(3)

(4)

(1)

(2)

3)

(4)

[5101]-3059

Phrase structure rules

Functional classification of sentences
Do-support

Yes-No questions

Imperatives.

Attempt any two of the following in about 100 words each : [16]

‘Tribute to Papa’ is a confessional poem. Discuss.

Discuss the elements of Indianness in the poem ‘The Seasons
of the Plains’.

How does the poem ‘The Captive Air of Chandipur-on-Sea’ deal
with the theme of nostalgia ?

Comment on the Pilgrim’s journey in the poem ‘The Bus’.

Attempt any two of the following in about 100 words each : [16]

What is Semantics ? Explain its scope.

Write a note on Polysemy.

What is the difference between denotative and connotative
meaning ? Illustrate.

Explain metonymy with suitable examples.

2



5. Attempt any two of the following in about 100 words each : [16]
(1) Explain the differences between direct and indirect speech acts
with suitable examples.
(2) Write a note on the Directives and Commissives.
(3) Discuss any fwo maxims of co-operative principle with suitable
examples.
(4)  Describe with suitable examples the tact maxim and the generosity

maxim of politeness principle.

[5101]-3059 3



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-3060

T.Y. B.A. (Regular) EXAMINATION, 2017
ENGLISH
Special : Paper III
(S-3 : Appreciating Novel)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Texts Prescribed :
(i) Animal Farm—George Orwell
(ii) The Old Man and the Sea—Ernest Hemingway
(iit) The Guide—R.K. Narayan.
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(a) Explain the importance of “Point of View” in a novel with

examples.

(b) Comment briefly on how the seventeenth century (17th cen.)

offered the perfect setting for the rise of the novel.

(¢) What do you understand by the term, “anti-hero” ? Explain

in brief with examples.
P.T.O.



(@)

b)
(c)
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(d) Write a note on any work of Science Fiction that you may
have read.
(e) Explain the term ‘novella’ with examples.
(A What is the significance of plot in a novel ? Explain in
brief.
2. Answer any one of the following : [16]
(a) “All animals are equal, but some are more equal than others.”
Bring out the irony in the statement in the light of George
Orwell’s Animal Farm.
(b) Attempt a character-sketch of Napoleon in Orwell’s
Animal Farm.
3. Answer any two of the following : [16]
(a) Explain the importance of the setting in Hemingway’s The Old
Man and the Sea.
(b) What is the theme of Hemingway’s work, The Old Man and
The Sea ? How does he develop it ?
(¢) Write a note on the role of Manolin in the novel, The Old
Man and the Sea.
4, Answer any two of the following : [16]

Discuss the narrative technique used by R.K. Nanryan in his
novel, The Guide.

Attempt a character-sketch of Rosie in the novel, The Guide.

Comment on the use of irony in R.K. Narayan’s The Guide.



(@)

)

(c)

(d)
(e)

()
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Answer any four of the following : [16]

Bring out the significance of using contrast in the technique
of characterisation with reference to any one of the novels

that you have read.
Consider Animal Farm as a fable.

Comment on the use of symbolism in any one of the novels

that you have read.
Bring out the use of local colour in R.K. Nanryan’s The Guide.

Analyse the plot-structure of any one of the novels you have

studied.

Consider Hemingway’s The Old Man and the Sea as a tragedy.



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-3061

T.Y. B.A. (Regular) EXAMINATION, 2017
ENGLISH
Special Paper IV
(S-4 : Introduction to Literary Criticism)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt any two of the following questions : [16]
(i) Explain how Aristotle differs from Plato in his theory of
imitation.
(i1) Comment on Aristotle’s view that imitation is not a slavish
copy of the original.
(ii1) Explain Pope’s notions of Wit and Nature.
(iv) What are the grounds on which Johnson justifies Shakespeare’s

mixing of the tragic and the comic in drama ?

2. Attempt any two of the following questions : [16]
(i)  What according to T.S. Eliot is the relationship between tradition

and the individual talent ?

P.T.O.



(i1)

(iii)

(tv)
3. (A

(B)
4. (A

[6101]-3061

Which are the four kinds of meaning according to I.A.
Richards ?

Explain Allen Tate’s concept of tension in poetry.

Examine the tenets of Marxist criticism in Lucka’s idea of

realism.
Attempt any one of the following questions : [8]
(i) Discuss how Dryden’s essay reflects the neo-classical

attitude towards dramatic art.

(ii) Examine Dryden’s views on the French Drama.

(iit) Explain Dryden’s definition of drama.

Attempt any one of the following questions : [8]

(i) Explain Coleridge’s views on Wordsworth’s poetic creed.

(i1) Examine Coleridge’s view that only rhyme and metre
cannot create a poem.

(iizt) How does Coleridge define poetry ?

Attempt any one of the following questions : [8]

(i) What according to Helen Gardner are the tasks of a
critic ?

(ii) Why does Helen Gardner say that the torch rather than
the sceptre would be her symbol for the critic ?

(ii1) Explain Helen Gardner’s views on comparison as a literary

critical method.



(B)

5. (A

(B)

[5101]-3061

Attempt any one of the following questions : [8]

(i) Explain Frye’s views on evaluative criticism, as implied
in ‘Criticism Visible and Invisible’.

(i1) Explain Frye’s idea that criticism is knowledge about
literature.

(iit) Examine Frye’s remarks on personal taste as criticism.

Explain any four of the following literary and critical
terms : [8]
(i)  Genre

(i1) Paradox

(iti) Point of view

(tv) Satire

(v) Connotation and Denotation

(vi) Ambiguity.

Read the following poem and answer the questions that follow
(any four) : (8]
Whose woods these are I think I know

His house is in the village though

He will not see me stopping here

To watch his woods fill up with snow

My little horse must think it queer

To stop without a farm house near

Between the woods and frozen lake

3 P.T.O.



The darkest evening of the year

He gives his harness bells a shake

To ask if there is some mistake

The only other sound’s the sweep

Of easy wind and downy flake

The woods are lovely dark and deep,

But I have promises to keep

And miles to go before I sleep

And miles to go before I sleep

Questions :

(i) What is the main theme of the poem ?
(iz) Which season is described in the poem ?
(iit) Why does the horse give its bell a shake ?
(iv) Why does the poet stop by the wood ?
(v) Identify the symbols used in the poem.
(vi) Suggest a suitable title for the poem.

[6101]-3061 4
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Seat

No. [5101]-3062

T.Y. B.A. (Regular) EXAMINATION, 2017
MATHEMATICS (General)
MG : 3 Group Theory and Ring Theory)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]
(1) Determine whether * given below gives a binary operation on
the set N.
Define * by :
a *b =a - b.
(2) State first fundamental theorem of homomorphism.
(3) Show that the Klein’s four group is isomorphic to (Z/8Z)*.
(4) Express the permutation :

(1 2 3 4 5 6)
k652431)

as a product of disjoint cycles.
(5) Define a simple group.
(6) Show that {0, 2, 4} is a subring of Zg.

P.T.O.



(7)

(8)

9)

(10)

2. @A)

(B)

[6101]-3062

Let a, b and ¢ belong to an integral domain. If
a # 0 and ab = ac
then prove that b = c.
Show thta O is the only nilpotent element in an integral

domain.

27
Determine oz explicitely.

Show that

given by
b a b
dla + bi) = b a

is a ring homomorphism, where :
b
S = {a }/a,be R}_
-b a

Attempt any one of the following : [6]
(1) Let G be a group and let ‘@’ € G. Let
H = {a"|n e Z}.

Prove that H is a subgroup of G and also prove that

H is the smallest subgroup of G that contains ‘a’.
(2) State and prove Lagrange theorem for finite groups.
Attempt any two of the following : [10]
(1) Prove that R under addition is isomorphic to R* under

multiplication.



(2) Consider the permutations :

(1 2 3 4 5 6)
n=13 14 5 6 2 and

(1 2 3 4 5 6)
t=1l2413 6 5

Compute :
(@) o
(i) 2
(3)  Prove that for n > 2, the collection of all even permutations
of {1, 2, ..... , n} forms a subgroup of order n'2 of the

symmetric group S,,.

3. (A) Attempt any two of the following : [8]
(1) Prove that a subgroup N of G is a normal subgroup
of G if and only if every left coset of N in G is a

right coset of N in G.
(2) Prove that any infinite cyclic group is isomorphic to Z.
(3) Show that every proper subgroup of a group of order

35 is cyeclic.

(B) Attempt any one of the following : [8]
(1)  Prove that every finite integral domain is a field. Is every

integral domain a field ? Justify.

[5101]-3062 3 P.T.O.



(2)

(2)

Prove that an element a € F is a zero of

fix) € Flx]
if and only if x — a is a factor of
fix) € Flx].
4, (A) Attempt any one of the following : [6]
(1) Let
fix) € Flx]

and let flx) be of degree 2 or 3. Then prove that flx)
is reducible over F if and only if it has a zero in F.

Prove that the polynomial :

x? - 1 2
= = -P— P—
¢p(x) -1 X + x + e + x + 1
is irreducible over Q for any prime p.
(B) Attempt any two of the following : [10]

(1)

(2)

3)

[6101]-3062

Let
¢ : R - S

be a ring homomorphism from a ring R to a ring S.
Prove that

ker(¢p) = {x € R/dp(x) = 0}
is an ideal of R.
If R is a ring with unity and N is an ideal of R containing
a unit then prove that N = R.
Prove that every maximal ideal in a commutative ring
with unity is a prime ideal.

4



(1)

(2)

(3)
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Attempt any two of the following : [16]

(i) Prove that every PID is UFD.
(i1) Show that
flx) = x3 + 3x + 2 in Z5x]

is irreducible over Zs.
Prove that an ideal <p> in a PID is maximal if and only
if p is an irreducible.
For a Euclidean domain D with a Euclidean norm v, prove
that v(1) is minimal among all v(a) for a non-zero a € D,

and u € D is a unit if and only if v(u) = v(1).



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5101]-3063

T.Y. B.A. (Regular) EXAMINATION, 2017
MATHEMATICS
MS-3 : Metric Spaces and Complex Analysis
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(@) For any point x; in the discrete metric space X;, find the

open ball S.(xq), if r > 1.

(b) State true or false and justify : The set of all irrationals

is closed in the usual metric space R,.
(c) Let R, be the usual metric space. Find AV if A = N.

(d) Let X; be a discrete metric space and A -X. Then prove
that 0A =¢.

(e) Define limit of function of a point in a metric space.

P.T.O.



(/)  Verify :
N2-1) - i(1-2i)=-2i.
(g) Evaluate :

. 2z+1
i
2o Z+
(h) If
@) = 25 z-)
re) = 91 2
then find f'(2).
(i) Find the principal value of i,
(/)  Evaluate :
/6 .
I el2t dt
0
2. (A) Attempt any one of the following : [6]

(@) Let (X, d) be a metric space and xe€X. Let N, be
the collection of all neighbourhood of x. Then prove

that
@) If M,NeN_, then MnNeN,.
(@) If NeN, and MoN, then MeN,.

(b) In the usual metric space R, give A,Bc R, such

that :

A°UB°c(AUB)’,
#

[56101]-3063 2



(B)

3. @A)

[5101]-3063

Attempt any two of the following : [10]

(@)

(b)
(c)

Let (X, d) be a metric space and A —X. Then prove
that x € X is a limit point of A if and only if there
exist a sequence {x,} of points in A, none of which equals

x, such that :

lim x, = x
n—eo ’

Prove that metric space R, is complete.
Let (Y, dy) be a subspace of a metric space

(X, d). Then prove that if Y is complete, then Y is

closed.

Attempt any one of the following : [8]

(@)

)

Let (X, d) be a complete metric space. If {G,} be
a sequence of dense open sets in X, then prove

that :
G = U G,.
n=1
is dense in X.
Let (X, d) and (Y,p) be metric spaces and f: X —>Y

be a function. Then prove that f is continuous if

and only if f7(G) is open in X whenever G is open

in Y.

3 P.T.O.



(B) Attempt any two of the following : [8]
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(a) Find all values of z such that :
e =-2.
(b) Show that :
f(z) =sinx.coshy + icosx.sinh y
is an entire function.
(¢) Find the Maclaurin series expansion of the function :
z
fz) = 22+9°
4, (A) Attempt any one of the following : [6]
(@) Suppose that :
f(z) =ulx, y) +iv(x, y)
and that f'(z) exists at a point z, = x, +iy,. Then prove
that the first order partial derivatives of u and v exist
at (x,, ¥,), and they satisfy the Cauchy-Riemann equations
u,=v,, u,=-v, there. Also f'(z,) can be written :
f'(zy) =u (x,, ¥y) + iv, (%, ¥,) -
(b) If a function f(z) is analytic at a point, then prove

that its derivatives of all orders are analytic at that

point.



(B)

5. (A

(B)

[5101]-3063

Attempt any two of the following : [10]

(@)

®)

(c)

Show that :

(1++/30)71° = 2711 (—1+4/310).

1
Determine whether f'(z) exists for [(2) = o Find f'(2),

if exists.
Let
f(z)=mexp (nz)
and C be the boundary of the square with vertices at

the points 0, 1, 1 + i, and i, the orientation of C being

in the counterclockwise direction. Evaluate :

j f2) dz
C

Attempt any one of the following : [6]

(@)

)

If f is an entire and bounded function in the complex
plane, then prove that f(z) is constant throughout the

plane.

State and prove Cauchy’s residue theorem.

Attempt any two of the following : [10]
(a) Evaluate :

J- 5z—-2 de

c #z-1) >

where C is the positively oriented circle |z|=2.

5 P.T.O.



(b) Give two Laurent series expansion in powers of z for

the function :

1

12 = 22(1-2)

and specify the regions in which those expansions are

valid.

(¢c) Let C be the circle |z| = 2, described in the positive

sense. Evaluate :

_[ dz
G 2(z+4)"
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Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5101]-3064

T.Y. B.A. (Regular) EXAMINATION, 2017
MATHEMATICS
MS-4 : Ordinary and Partial Differential Equations
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]
(@ If AD) = xD + 2, g(D) = D + 5. Compute AD) - g(D).
(b) Find complementary function of the equation :
D + 1)2y = 22,
(c) Verify that y; = sinx is a solution of the equation :
(D2 - 2tanxD + 3)y = 0.
(d) Define ordinary point and singular point of the equation :
y” + Py + Qx)y = 0.
(e) Find roots of associated equation for the system of

equations :

dx dy
dt

P.T.O.



()

@)

(h)

(2)

()

2. (A

[6101]-3064

Explain the method of solving :

dx _dy _dz
P Q R’

when one of the variables is absent from one of the
equations.
Determine the equation :

ydx + xdy + 2zdz = 0
is integrable.
Form the partial differential equation by eliminating arbitrary
function F(r) from the equation z = F(r), where :

r= (x2 + y2)1/2.

Define Quasi-linear partial differential equation of first order.

Give an example of it.

Find the general integral of :
2 2

zxp - yq) = y° — x“
Attempt any one of the following : [6]
(@) If yq(x) is a known solution and y9 = vy; is another

independent solution of :

— 4+ p(x)— + q(x)y =0,
then determine the function v.

2



(B)

(A)

[5101]-3064

(b) If W() is the Wronskian of two solutions of the
homogeneous system of differential equation, then prove
that W(¢) is either identically zero or nowhere zero on
la, b].

Attempt any two of the following : [10]

(@) Solve the equation :

(?,D2 +D - 14)y = 1362~

(b) Verify that y; = x is solution of the differential

equation :

2x%y” + xy’ — y = 0.
Find another solution y9 by using the method of reduction
of order and the general solution.

(¢c) Find power series solution of the differential equation

y =Y.

Attempt any two of the following : [8]
(@) Solve the equation :
(D3 +3D + 2D)y = %2,
(b) Find the particular solution of the equation :
(D2 +4D + S)y = sin(ex)
by using the method of variation of parameters.

3 P.T.O.



(¢c) Find the ordinary points and singular points of the
differential equation :
(x - 1)y” + xy’ + %y = 0.
(B) Attempt any two of the following : [8]
(a) Explain one variable separable method for solving
Pfaffian differential equation in x, y, z.

(b) Show that integral curves of :
dx dy dz

bz—cy:cx—ay:ay—bx

represent circles in space.
(¢c) Find complete integral of the following equation, if it

is integrable :

(y2 + xZ)dx + (x2 + yz)dy +32%2dz = 0.

4, (A) Attempt any one of the following : [6]
(@) If X is a vector such that X - curl X = 0 and p is
an arbitrary function of x, y, z then prove that :
(uX) - curl (uX) = 0.
(b) Define homogeneous Pfaffian differential equation
in three variables x, y, z. Explain the method of

solving it.

[6101]-3064 4



(B) Attempt any two of the following : [10]

(a¢) Show that the orthogonal trajectories on the hyperbola

x2 + y2 — 22 = 1 of conics in which it is cut by
the system of planes x + y = ¢ are its curves of
intersection with the surface (x — y)z = K, where K

is a parameter.
(b) Solve the differential equation by Natani’s method :
(y + 2)dx + (z + x)dy + (x + y)dz = 0.
(¢) Show that :
z = ax + by + a? + b2
is a complete integral of :
z—px—qy—p2+q2=0.

Also find the envelope of the integral if b = a.

5. (A) Attempt any one of the following : [6]

(a) Let u(x, y) and v(x, y) be two functions of x, y such

that :

ov a(u, v)

ay;r&Oandm:O,

then prove that, there exists a relation F(u, v) = 0 between

u and v not involving x and y explicitly.

[5101]-3064 5 P.T.O.



)

(B) Attempt any two of the following :

(@)

)

(c)

[6101]-3064

with flx, y, z, u,, Ly, u,) =

hx, y, 2z, u,, Uy,

If hx, y, 2z, u, Uy, u,) = 0 @ =1, 2) are compatible

= 0, then prove that
u,) (i = 1, 2) satisfy :

(1, h) | k) BFR)

a(x, ux) F a(y, uy) F 8(2, uz)

where A = h; G = 1, 2).

[10]

Show that the equations :

xp - yq = 0,

zxp + yq) = 2xy
are compatible and find their solutions.
Find complete integral of :

2202 + 122 = 2222 + y2).

Find the integral surface of the equation :
2xy — 1)p + (z — 2x2)q = 2(x - yz)
which passes through the line xy(s) = 1, yg(s) = 0,

zp(s) = s.
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Seat
No.

[5101]-3065

Time

N.B. :—

1. (a)

T.Y. B.A. (Regular) EXAMINATION, 2017

: Three

(2)
(i1)
(i11)
(iv)
(v)

STATISTICAL PRE-REQUISITES
(2013 PATTERN)
Hours Maximum Marks : 80
Attempt All questions.
Figures to the right indicate full marks.
Answers should be precise and to the point.
Use of non-programmable calculator is allowed.

Symbols have their usual meaning.

State whether the following statements are True or

False :

(2)

(i1)

(ii7)

[4x1=4]
If X is a continuous random variable with distribution
function F(x), then if
X1 < X9, Flxq) < F(xg).

If X; and Xy are two independent N(1, 2) and N(1, 4)
random varibles then X; + 2X, follows N(2, 6)
distribution.

Critical region is the region where null hypothesis is

accepted.

P.T.O.



)
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(iv) For using tests based on normal distribution the sample
size must be greater than 30.
Choose the correct alternative : [4x1=4]
@) ;i_I)IoloF(x) is equal to :
A 0
B 1
(C) -0
(D) oo
(ii) Sign test is used for testing the :
(A) symmetry
(B) randomness
(C) goodness of fit
(D) value of arithmetic mean
(iit) For testing independence of attributes the appropriate

test to be used is :

(A)

(B)

(®)

(D)

run test
sign test
chi-square test

t-test



(iv) The upper control limit of R-chart is :

(A) AqX
B) Ag9X
(©) D4R
(D) D4I_{
(¢c) Answer in brief : [4x2=8]
(1) If X is a continuous random variable with distribution
function
0  ifx<o0
Fx) = 3x2-2x3, if0<x<1
1 , 1fx>1

Obtain p.d.f. of X.

(zz) If Z follows standard normal distribution obtain

P(Z > 1.5).
(iit) State the assumptions to be satisfied for using ¢-tests.

(iv) Explain in brief the breakup of total sum of squares

in case of one way classification.
2. Attempt any four of the following : [4x4=16]

(¢) If X is a continuous random variable with probability density

function

0 > Otherwise

[5101]-3065 3 P.T.O.
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(c)

(d)
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Obtain :

(i) PX > 16)

(@) P12 < X < 25).

Define :

(i)  Null hypothesis

(ii) Sampling distribution of statistics
(ii1) Alternative hypothesis

(iv) Critical region

In a big city 325 men out of 600 men were found to be smokers.
Does this information support the conclusion that the more
than 50% of men in this city are smokers ? Use 5% level

of significance.

The number of books borrowed from a public library during
a particular week is given in the following table. Test the
hypothesis that the number of books borrowed does not depend

on the day of the week using 5% level of significance.
Day No. of. Books Borrowed
Mon 135

Tue 108



Wed 120

Thu 114
Fri 146
Sat 97

(e) In an industrial production line, items are inspected periodically
for defectives. The following is a sequence of defective items
D and non-defective items N, produced by this production

line :
DDNNNDNNDDNNNNNDDDNNDNNNNDND

Use run test at 5% L.O.S. to determine whether the defectives

are occuring at random.

(/) Explain chance and assignable causes of variation with one

example each.

3. Attempt any four of the following : [4x4=16]
(@) If X ~ N(20, 25) distribution, obtain :
@ PX > 25)

(1) P17 < X < 23).

[5101]-3065 5 P.T.O.



)

(c)

(d)

(e)

)
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Sensitivity tests made on 12 randomly selected condensers revealed
mean 25 V and standard deviation 5V. The manufacturer claims
that the mean sensitivity is 22V. Should we accept the

claim ? Use 5% level of significance.

Explain the criteria for judging the lack of control in the production

process.

In a college there are two faculties Art and Science. The average
weight of students in a sample of 250 in Arts faculty was
found to 120 lbs. with standard deviation of 12 lbs. While
the corresponding figures in a sample of 400 students from
Science faculty were 124 lbs. and 14 Ibs. Is this difference

significant ? Use 1% L.O.S.

State and explain the conditions to be statisfied for using Chi-

square test for goodness of fit.

Based on 500 randomly selected fields about the tenancy
status of the cultivators of these fields and use of fertilizers
collected in an agro-economic enquiry, the following classfication

was noted :



Owned Rented
Using Fertilizers 208 92
Not using Fertilizers 32 168

Would you conclude that owner cultivators are more inclined

towards the use of fertilizers ? Use 5% level of significance.

4, Attempt any two of the following : [2x8=16]

(@)

[5101]-3065

(i) Explain the procedure for construction of control chart

for number of defects per unit (c-chart).

(i1) The hours of sleep for 10 patients before and after giving
a new drug are recorded. Test whether there is a significant

difference in the average hours of sleep at 5% level of

significance.
Patient No. Hours of Sleep Hours of Sleep
(before) (after)
1 6 7
2 5 8
3 7 7.5
4 7 9
7 P.T.O.



6 9 6.5
7 6 7
8 6 8
9 7 8.5
10 8 7

(b) In a district A, 450 persons were considered regular consumers
of coffee out of a sample of 1000 persons. In another district
B, 400 were regular consumers of coffee out of a sample of
800 persons. Do these facts reveal a significant difference in

the proportion of coffee consumers in the two districts. Use

5% L.O.S.

(¢) It is believed that the precision as measured by the variance
of an instruments is less than 0.16. Test this belief at 1%
level of significance given 11 measurements of the same subject

on the instrument :

23, 24, 25, 2.3, 2.5, 2.5, 2.7, 2.6, 2.6, 2.5, 2.7.

[6101]-3065 8



(d) A manufacturer produces steel shafts having diameters that
should be normally distributed with mean 3 mm. and standard
deviation 0.1 mm. Successive samples of four shafts have yielded

the following sample average in millimetres :

Sample X
1 3.01
2 2.97
3 3.12
4 2.99
5 3.03
6 3.02
7 3.10
8 3.14
9 3.09

10 3.20

Draw the X chart and comment on the process.

5. Attempt any one of the following : [1x16=16]

(@) A tea company appoints four salesmen A, B, C and D and

observes their sales in three seasons, summer, winter and monsoon.

[5101]-3065 9 P.T.O.
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The figures (in lakhs) are given the following table :

Seasons Salesmen
A B C D
Summer 36 36 21 35
Winter 28 29 31 32
Moonsoon 26 28 29 29

Using two way ANOVA determine whether salesmen differ
significantly in performance and whether there is a significant

difference between the seasons.

Twenty half litre milk bottoles are selected at random from
a process. The number of air bubbles (defects) observed from

the bottles are given in the following table :

Bottle No. Defects (C)
1 4
2 5
3 7
4 3
5 3
6 5
7 6
8 2
9 4

10



10 8

11 3
12 5
13 4
14 3
15 4
16 5
17 3
18 7
19 6
20 13

Draw an appropriate control chart for the above data and

comment on it.

[5101]-3065 11



Total No.

of Questions—4] [Total No. of Printed Pages—3

Seat

[5101]-3066

T.Y. B.A. (Regular) EXAMINATION, 2017
LOGIC
G-3 : Logic and Methodology of Science
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Explain Mill’s notion of causes.

Discuss essential characteristics of inductive inference.
Explain in short about fundamental laws.

What is concept of value neutrality ?

Explain nature of verification of hypothesis.

What is the nature of Interview as a method of data collection ?

2. Answer any two of the following : [20]

(1)

(2)
3)
(4)

Explain the nature and difference between enumeration and
analogy.

Explain the conditions of good hypothesis.

Explain the characteristics of laws in social sciences.

What is nature, types, merits and limitations of observation ?
P.T.O.



3. Answer any one of the following :

(1)

(2)

[20]

Discuss in detail the difference between commonsense and science.

State difference between pure and applied science.

What is scientific explanation ? Discuss types of it.

4, Write short notes on (any four) :

(1)

Mill’s method of agreements

(2)  Working hypothesis
(3) Inductive leap
(4) Empirical laws
(6) Nature of laws of nature
(6) Data collection method—qustionnaire.
(W& wUiaR)
9% : dF q9

oAl :— (i) ¥Wd Wd Grefau sTeRdd TR
(i) IEhel® oo YUl U SFIfaam.
(iii) USHEIS! Hed TUSH UYAUfAT gl

AN A NN A N
1. dlcdictiYenl onlVldel =X A1 Alsdl

(1)
(2)
(3)
(4)
(5)
(6)
[5101]-3066

o n

fcoT=] ROl Hehoddl T .

forTHATHe:  STIHETA AeTon=l ==l .

qayd fom diewmd ws #w.
g fga =oS s ?
fHgidsher = weu T L

mifedt FehoH el Th IGdl Homed TRors
2

AL B

TRt TOT

[20]

80

[20]



2, Wefcds! HUAE S W3H dedr [20]
(1) Had A A0 AGYAIAAT WEY U Weh TR HA
2) 3fea fagaectr=a & W= &
(3) wmifees IreAMEie  fradEn Afersesr @
(4) g @&y, A<, YR, ®Ee S FIRl ®E Sk

3. @ciads! @R TRl WA SW fasr . [20]
(1) 9HF 9o S foie ardial ®ieh Sfasl T &/ 9 P S
IUAIG I W |

(2) ek TR WUN M 7 IR YRNEl =€l R

4, gregad feqr fagr (Sivddl =) [30]
(1) foco=l IR ggdl

(2) FHES fagdeed

(3) iR 3

(4) SvaS= TEm

(5) T fram= w=Ey

(6) UEECH-AIfed! Gher TGl
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-3067

T.Y. B.A. (Regular) EXAMINATION, 2017
SOCIOLOGY
Group A : G-3 : Work and Society
OR
Group B : G-3 : Crime and Society
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(ii1) Attempt Group ‘A’ or Group ‘B’

Group A : G-3 : Work and Society
1. Answer the following questions in 100 words each (any four) : [20]
(1) State the importance of work.
(2) Discuss the problems of bureaucracy.
(3) Describe the central theme of Macdonaldization.
(4) Explain features of New Economic Policy, 1991.
(6) Who are self-employed workers ?

(6) Analyse the nature of agricultural labour in India.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain types of work in post-industrial society.

P.T.O.



(2)
3)
(4)

(1)

(2)

(1)
(2)
3)
(4)
5)
(6)

(1)
[5101]-3067

Examine the basic principles of Taylorism.
Discuss the problems of migrant workers.
Describe the challenges concerning trade union movement in

India.

Answer any one of the following questions in 400 words : [20]

Critically evaluate history of work from gathering hunting to
post-industrial production.
Critically examine the problem of workers in the informal

sector.

Write short notes on (any four) : [20]

Braverman’s idea of deskilling

The domestic labour debate

Role of MNCs

Problems of Service sector employees
Classification of agricultural labourers

Problems of agricultural labourers.

OR
Group B : G-3 : Crime and Society

Answer the following questions in 100 words each (any four) : [20]

Give the meaning of crime.

2



(2)
(3)
(4)
(5)
(6)

(1)

(2)
(3)
(4)

(1)
(2)

(1)
(2)
(3)
(4)
(5)
(6)

[5101]-3067

State the Marxian perspective of crime.
What is corporate crime ?

State the meaning of terrorism.

What is environmental crime.

State the meaning of preventive theory.

Answer the following questions in 200 words each (any four) : [20]

Explain the idea of Robert Merton on social structure and
anomie.

State the features of organised crime.

Elaborate the cyber crime.

Explain the crime and role of media.

Answer the following questions in 400 words (any one) : [20]

Explain the causes of crime.

Explain the deterrent and reformative theory of punishment.

Write short notes on (any four) : [20]

White Collar Crime
Dowry Deaths

Human Trafficking
Criminalization of politics
International Crime

Parole.

3 P.T.O.



(TS wUIaR)
q@ : dE A THUT T : 80
ol :— (i) WE WA GrEfau STEaRad .
(ii) IoEhel® ik YO U SFifedm.
(iii) USHEIS! Hed TUSH UYAUCAehT Ul
(Gv) T ‘e’ fwar T ‘T YR wE digan

Group A : G-3 : Work and Society
1. Telid WAt TS 100 VS S foer (gl Wm) e [20]
(1) & Hed 9.

(2) RIS 9= R

(3) HbSHCSIRUE HATd Fhoddl FH.

(4) 1991=n Afa ofdfer dRumEn Afttel W w
(5) TRISFIR HMEAR IV 7R,

(6) YRAMIA TSl WEIH  faverso .

2, Woiid WAl Y@ 200 IR W fael (FiudE gF) e [20]
(1) wEHaAR SiENfe gueTded STRE - JhR S5 6.
(2) R IR oo dad R &
(3) TUAUd HAMUA &= == &
(4) YRAMIA SR oA Fade HHRIA  SAeeHd Juid &

3. WAUs! IR TRl YA 400 ¥eEid S for@l [20]
(1) RER T sT=Hoha TaEA SYh TENfTeh sTeeduda s sfaeam
feprenss geadmad .
(2) SFUEIReE & SR gaee fedrgs gRkewr &
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4, dgedd fear foa@ (FodEl 9wR) [20]

o~

(1) 9o I Agpgadd  fa=r

(2) W FWNE dRfadRe
(3) FgUSE wuAEl  qfHeR
(4) Ta1 GAEA  BEMOAT GEHET

(5)  IAHSUE ROl
(6) TIdRTHI=  HHE.

feRar
Group B : G-3 : Crime and Society
1.  @ed T TdE 100 R S ARl (FUaE 9R) [20]

(1) Tearen g

(2) WAEAR TEArEl g |
(3) WISFit & Rl WS i ?
(4) SERTdeRrEn S .

(5) UHEOE TR WUS kA ?

6) Yfasurcas fagarnr 31 g

2,  Eieleie! WAl U@E 200 vEEd SWforel (HIvmEl @F) [20]

(1) -GS G oo gamoes gaar afoeel Yad weaa faar s

.
(2) U TreaTer SfyTseRl |
(3) TIURE TRArd dUH A

(4) TR e gER wemdrEl fie e
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3. Geid WEAE 400 VR SW fa@l (HRIEE WeRr) [20]

(1) 7=l RO W H

(2) Todgedt <guEardt onfr guronee faga e

4, 9rewE foo fag (dodE =mw) [20]
(1) wewsia =
(2) gemEed
(3) THEt asRd

(4) THROTE T[RRI
(5) AL =

(6) Afyg=a (Parole).
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-3068

T.Y. B.A. (Regular) EXAMINATION, 2017
SOCIOLOGY
S-3 : Social Research Methods
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) State the importance of Ethics in Social Research.
(i) What is critical approach ?
(iiz) State the meaning of Hypothesis.
(iv) What is Mean ?
(v) State the meaning of Case Study Method.

(vi) What is Report writing ?

2. Answer the following questions in 200 words each (any two) : [20]

(i) State the characteristics of Hypothesis.

P.T.O.



(ii) Explain the secondary sources of data collection.
(itz) State the advantages of observation technique.

(iv) Explain the disadvantages of survey method.

3. Answer any one of the following questions in 400 words : [20]

(i) What is Social Research ? Explain the significance of Social

Research.

(ii1) What is Questionnaire ? Elaborate the advantages and

disadvantages of questionnaire.

4, Write short notes on (any four) : [20]
(i) Mode
(ii) Frequency curve
(izi) Random Sampling
(iv) Histogram
(v) Feminist approach

(vi) Deliberate sampling.

(WS TUTaR)
q@ : A A THUT TUT : 80

4

ol :— () W Uvd wiefau oewes oiRd.
(ii) ISEherd ok YA YU o geifedm.
(iii) TRUEE Wos TUST YTAUARI TRIE.
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1. Tod YeET 9t 100 Vsgid S fagl (Hhivdel 9r) [20]

(G) H IS GeigEd Afdeds Wed 9L

oo

(i) Taframes IRER BN ®F 2

(i) Togua weut=r &1 @

(jv) TEHA WIS & ?

(v) FAIE UGHdET A G

(vi) ST WEd WS %I 2

2. Tl gyl gl 200 VK SW ARl (Hivdgt @F) [20]
() fogia woua=n afymser @

(i) T Tehod™ gHAH HWEH TR HA
(iii) THem o= wEe E@E.

(jv) FAHU TEYAH TS W A

3. Tia YA SIUARI Wk 400 ¥k SW fa@l [20]

() g GINYT WIS hF 7 HHEITSe AYNYAE HAgtd TS

<h .

(ii) 9TEc! WUS @ ? YTAEC] UgHdiE ®wEe ST @l favig

<h .
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4, gGreRE four fag (SveE =)

(1)
(i)
(ii1)
(iv)
(v)
(vi)
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IRl I
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5101]-3069

T.Y. B.A. (Regular) EXAMINATION, 2017
SOCIOLOGY
S-4 : Contemporary Indian Society
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the term modernization in context to the making of

contemporary India.
(ii) Discuss the nature of economic development in India.

(iizr) State the relationship between land acquisition and

displacement.
(iv) Analyse the relationship between media and politics.

(v) What are the challenges concerning school education in

contemporary India ?

(vi) Write in brief on ethics of doctors.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]
(i)  Discuss the nature of urbanization in India.
(ii) Write on changing nature of family in contemporary
India.
(ii1) Explain Nehru’s contribution in the context of nation
building.
(iv) Analyse the impact of globalization on the public health
sector.
3. Answer any one of the following questions in 400 words : [20]
(i)  Critically evaluate changing nature of agriculture in post-
independent India.
(i1) Examine the issues and chalenges concerning higher education
in contemporary India.
4, Write short notes on (any four) : [20]
(i) Nature of Indian democracy
(it) Commercialization of media
(iiz) Live-in relationship
(iv) Features of New Economic Policy 1991
(v) Transport issues in urban society
(vi) Importance of social media.



(WS BUIR)
9B : WA qw THUT TUT : 80
g :— (i) wd Y fed  sRa
(ii) ISEIherd 3k e U T Seifodm.
(iii) WEWEEl H TUSH WIAUCAHT TR

1. O Yol W YS! 100 v folel (g | ) [20]
(i) UCIAYRANdIA TEUHSUT=Al HeHid  STYfheiom=l Hheadl T

ETi
(i) YRada e fommaren weu=l == S
(i) “HHE gron effor foxenfuameial TeYy @O

(lv) YERATEIH ST TShRUNdd Teers  fagelsor &
(v) FIYRAA e e gede oen & ?

(vi) <elry=a fAfdacaar e T

2. el gyl SW Yl 200 VS fowl (HivkEr dF) [20]
(1) HRAdel YEdROT=A WERAEl 99 .

(i) VFIYRAE HANTAA Head deod @ed  foagl.

(iii) Ty Hedidal Jeed ATeH R &

(jv) WESHSR AT YA SR um=al IomHE  favasor .
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3. WCiiclish! RIUARI TRl Y™ 400 ¥ead I forer : [20]

(i) TAARR WRAE I FIEEE aedl Weurd fafehddend Jeamd
.

(i) TREIEHA 3=a fgomaed= qee enfon s 9Ram #a.

4. dedd four fo@ (SRl |mw) [20]

(1) VRGeS

(ii) YERHIETHN AR
(fii) YedEad GaY
(Gv) 1991 = T oAfefer  eon=n dAfyrey

(v) TBY FHEETAA SRR Y

(vi) HHISh YHRATEIHE  Hexd.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5101]-3076
T.Y. B.A. (Regular) EXAMINATION, 2017
PHILOSOPHY
Special-II1
[Thinkers and Textual Studies (Indian)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four in 100 words each : [20]

(2)
(i1)
(1i1)

(tv)
(v)
(vi)

Explain in brief the objectives of Bhudana movement.
Elaborate Vivekananda’s definition of education.

What is the nature of metaphysics of Lokayata according to
D.P. Chattopadhyaya ?

State Gandhiji’s views on the role of railway in modern civilization.
State and elaborate Gandhiji’s policy on language teaching.

What is the role and duties of doctor according to Gandhiji?

2. Answer any two in 250 words each : [20]

(@)
(i)
(ii1)
(iv)

Elaborate techniques of Satyagraha as stated by Gandhiji.
Explain fully Vinoba’s philosophy of education.
Discuss Vivekananda concept of Practical Vedanta.

Explain fully Gandhiji’s concept of Swarajya.
P.T.O.



3. Answer any one in 500 words : [20]

(i) Explain the nature of epistemology of Lokayata according to
D.P. Chattopadhyaya.

(i1) Discuss Gandhiji’s criticism of modern civilization.

4, Write notes on any four in 50 words each : [20]
(i)  Vinoba’s definition of Sthitapradnya
(ii) Kosambi’s interpretation of Trishna
(iit) Vivekananda’s concept of Universal Religion
(iv) Gandhiji’s views on parliament
(v)  Gandhiji’s concept of Indian civilization

(vi) Role and duties of lawyer according to Gandbhiji.

(TS TUTa)
q@ : A A THUT TUT : 80
g :— (i) WA WA defau AEvas aed.
(ii) 3SSEhSld 3k YU IO SRifor.
(i) TP TN WEAUSEHE .
1. Y& 100 =W SW o (HUEE 9®) [20]
(i) SH Fosdedrdt 3Ifgwed oieed HEL

(i) fToawme Sdct oot =ren favre wa.

(iii) <IhFArE TARMES SLUl. TSI A= gieshAgT W .

(jv) oNYFeh TERAEE Yoo qfHe afoeE meiSi=l 74 |E.

(v) wen FeEfaeE MefsiE dRU wE dd 9 fave w

(vi) ST Aq elRue fier sl wded ®U ARd 7
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2.  HIUAREl SEET YIB! 250 VL S Wl : [20]
(7))  elSit Giffdoen gomrerEr 9 favie S
Gi) o fogome dwoee afas T .

(1ii) Toormer=a ERIe dg A TehoUd=l ==l &

(Gv) TSIl TSI & Tohoddl Hiokl T &

3. FUAR ThME 500 V&M W A [20]
(i) R FEEEE S SgieaE are g TR .

fa o ¢
[

(i) TS SMYfeh TEhdieR holedl dehdl =

.

4. IR TR TAH! 50 eI A T e [20]
(G) foremen fraqus=n =memn
(i) HIGS JOMN A Ghoqddl dAracell o

(iii) foawmerEt fovawmt=l e
(fjv) TS deHefasas WA
(v) TS ARAE FEhdifasiel  GehedH

(vi) TEST= 7d FhiaTE fieRr ST e
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [5101]-3077
T.Y. B.A. (Regular) EXAMINATION, 2017
PHILOSOPHY
S-4 : Thinkers and Textual Studies (Western)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1) What is master morality ?
(i1) Explain the notion of language game.
(itzi) Discuss the notion of fallibilism.

(iv) What is strong verifiability ?

(v) How do some Christians criticize existentialism ?

(vi) What is the argument from analogy ?

2. Answer any two of the following questions in 200 words each : [20]

(i) Why is Dewey’s approach to the world called realism ?

(ii1) How does Marcel distinguish between being and having ?

(z11) “Man is condemned to be free.” Comment.

(iv) Why according to Popper is Marxist theory pseudo-scientific ?

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(i) Write a critical essay on Nietzsche’s concept of will to power.

(i) State and discuss Ayer’s arguments for elimination of metaphysics.

4, Write short notes on any four of the following : [20]
(i)  Instrumentalism
(i1) Wittgenstein’s views about philosophy as an activity
(iiz1) Distinction between falsifiability and falsification
(iv) Secondary reflection
(v) Dewey’s concept of inquiry

(vi) Malcolm on the problem of other minds.

(W& T UIR)
q@ : A A THUT TUT : 80
g :— (i) §d Y GiEfau dAEwds SR
(i) 3SRl 3k YA YO IO SIforrd.
(iii) WEWEES He TUSH YIAUAHT TR

1. @eleUeh! IRl o J9A=l Tl 100 IS I forel [20]
() ‘HdwET | R SEd ?

(i) 9% Wes & Hhoudl W H.

(iii) AR I hHega=t G= H.

(jv) Faa Fradiemar =|oSl &E 2

v) @R fg=A sfcearer ww w2
(vi) WREAURA JfFaR WIS &E  ?
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2. AUkl HIART a Y=l Il Udsh! 200 V=< fo=r : [20]

(i) T Al SOl TehMel ariaade 3 &1 ®ed wd 2

@) ‘fagn’ enfor ‘g’ W@ A wE WE wA@ 2

({i) ‘OIS STHU WUN edl A JUR WIAA STHelel Al Tgu.’! Wi
.

(v) UMR AN HA AR fHGI Fad-omle Rl R ?

3. WCcUsh! HIUARI TRl Y= IW 400 v=@ forer : [20]

o o

(i) R gqerRiE= GweaterR fafecges fey fomn

(i) EOHERA (TERE §AHYd) 9% wvaEel TR A ookl gfmars

el 9 =l 9= ha.

4. TEUSR HIURE aReR Gfaw feqr fermr e [20]
(1) HYAdR
(i) TETH T TH Fdl TOvERTd fogimert I four

(i) Teaeada foaq

(jv) UHAT STfUr Sfyddr (Wed) I ik
(v) T A ‘EEiEA’ & GeheuH

(vi) ST HATA GHEETEd HIohH Al g,
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-3078

T.Y. B.A. (Regular) EXAMINATION, 2017
SOCIAL WORK
1. Introduction to Youth Welfare
2. Introduction to Rural and Urban Welfare

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any one question in 500 words : [16]
Explain adulthood and discuss the problems of adulthood.
Or

Discuss the characteristics of rural way of living.

2. Answer any one question in 500 words : [16]
Discuss the problems of Unempolyed Youth.
Or
Write a note on ‘Addiction among Youths’.
3. Answer any one question in 500 words : [16]
Discuss the agencies role in rural welfare.

Or
Explain the needs of tribal youths.

P.T.O.



4, Answer any one question in 500 words : [16]
Explain the importance of training in Youth Leadership.
Or

Explain the problem of air pollution in urban areas.

5. Write short notes on any two in 200-250 words each : [16]
(@) Role of Municipality in development
(b) Problems of Handicapped Youth
(c) Impact of unemployment problem on Youth

(d) National service Scheme.

(& wuiav)
% : dF A THUT TOT : 80
g — () Wd WA defau oAeavas aed.
(ii) 3RSl 3k YU IO SRifor.
(iii) HSWHES! H& TUSH WITUIRI TRrE.

1. HIUAR TRl Y999 W 500 ¥k forn [16]
Jed W Hed Yol IR 9= &
ferar

UEOT SeSes afyse Ier == 4.
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2. HIUARI TR YE IW 500 =@ fomer
SR JASAT THHAER == B
feRar
‘AT EEAEa’ AR 9 T

3. HIUARI T YA W 500 ¥ea@ fer
T foehrE weerEl iy AR ==l &L
fwar
anfeamrdl A= ST T &

4., IR Tl TR IW 500 IS fowr o
Joh  geordel  YRIGUE Hewe W .
f@ar
YRR 91g UGUUTE! S TR .

5. HIUAEl @R Yol 200-250 vssid feu fowmr

(31) fommd wfafgurerd=t  qfHea

() T JawiA TEE
(%) FH TN I JahEd qRom
(¥) TS qar s
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No. [51011-3079
T.Y. B.A. (Regular) EXAMINATION, 2017
PUBLIC ADMINISTRATION
(G-3 : Institutions and Issues in Indian Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]

(@)

(i1)
(i17)
(iv)
(v)
(vi)

State the functions of Lalbahadur Shastri Academy, Dehradun
of Administration.

Write the functions of Central Reserve Police.

State the structure of Public Account Committee.

State the structure and power of Union Public Service Commission.
Write the meaning of Governance.

Explain the role of voluntary organisation.

2. Answer the following questions in 200 words each (any two) : [20]

(2)
(i1)
(ti1)

(iv)

State the functions of National Human Rights Commission.
State the functions of Public Accounts Committee.

Explain the structure and functions of National Development
Council.

Explain the budgetary process in India.
P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(i) Explain the machinery for planning in India.

(i1) State the functions and importance of voluntary agencies.

4, Write short notes on (any four) : [20]
(i) State Reserve Police
(ii) Concept of Globalization
(iii) Estimate Committee
(iv) Importance of Social Justice
(v) Lokpal

(vi) Integrity in Administration.

(E waiaR)
% : dF A THUT TOT : 80
g — () Wd WA defau oAeavas aed.
(ii) SSEfhSld 3 YU IO ERiferr.

1. W@eiid Y9=1 S 9l 100 vseid fe@l (Sveel 9r) . [20]

(i) URMHRE ACERgL Wl SThEH!, SeUgTd w9
(i) 3@ TEE e A wE o

(iii) Thoren AbdEl A 9.

(iv) ST ArHHA STEARME T ewfor eifyeRR .
(v) gEmEAEr Y T

(vi) TTAYE FESAE i TR FH

[5101]-3079 2




2. Teld YEARET SW YS! 200 V=@ fa@ (FomE ) [20]
(i) U™ AHa AfYSR SErT= S 9ET.
(i) AherEn Afdiet HE |ET.
(Gii) U fow@ uiteoe=n @ ofor & s &L
(jv) YRS STdHFHeUT=l AfHa T

3. Wil HIUE Tehl Y SW 400 ¥ fomal [20]
(i) vRAne SR @5on s .
(i) OIS HESA™ T oAU & G

4, dieda fow fagr (o =wmw®) [20]
() T Ed qied

(i)  SITAeh IR TOT=l  FohoUHl

(iii) TTAA
(lv) WIS =P Hed
(v) HIA

(vi) TYIMHHT THhIH.

[5101]-3079 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

T.Y. B.A. (Regular) EXAMINATION, 2017
PUBLIC ADMINISTRATION
S-3 : Administrative Thinkers
(2013 PATTERN)
Time : Three Hours Maximum Marks
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four)
(i) State Kautilya’s machinery of Administration.
(it) State Woodrow Wilson’s views on Administration.
(ii1) Nehru’s views on Bureaucracy.
(iv) Explain Rigg’s ecological approach.
(v) State Herbert Simon’s views on Behaviourism.

(vi) State Taylor’s principles of Scientific Management.

2. Answer the following questions in 200 words each (any two)

(i) Explain Chester Bernard’s Theory of Authority.

No. [5101]-3080

: 80

: [20]

: [20]

P.T.O.



(ii) State Nehru’s contribution to the development of Socialism and

Administration.
(ii1) Explain Kautilya’s nature of Rajdharm.

(iv) Explain Max Weber’'s model of Bureaucracy.

3. Answer any one of the following questions in 400 words : [20]
(i)  State Chester Bernard’s views on organization.

(ii) Explain Taylor’s concept and objective of scientific

management.

4, Write short notes (any four) : [20]
(i) State Nehru’s views on Decentralization.
(i1) Herbert Simon’s views on Traditional Administration.
(iti) Herbert Simon’s views on decision making model.
(iv) State Rigg’s features of Sala model.
(v) Max Weber’s views on Legitimacy.

(vi) State Woodrow Wilson’s views on Relation between Administration

and Politics.

[5101]-3080 2



(TS wUiaw)
qB : WA qE THUT TOT : 80

el :— (i) W U refam eavad e
(i) SRSl 3k gu Ul Tt

1. S 99l S Yde!l 100 vigid feer (el =9m) [20]
() HifcHa=l UESHE II0T G

ha o (aY

(i) g focuT= gemEAEEEt wd @

(iii) “e®<l Wl HeHt Ha.

(jv) ToSE=N ardEoTHS gftewhion e &

(v) T FEFTHA IddaEESHl T GET.

(vi) JAET VSN HAEAYAT dcd ML

2. Woiid g3l I Tl 200 YsSd fo@l (FIoad @F) [20]
(G) R wHiew AfyermEn faga T &

(i) gHSErE STl gvee  fasrEdia Teed AN 9r.
(iii) hilea™a ToYAE @WEY W 6.
(Gv) HH 9 9 AeWRENE Y&y T H.

3. WCiclush! HIUATE TRl eI IR 400 I forer [20]

(1) O Ied Hued oed=t #d 9O
(i) <Ol VAT AT Gaheddr omfor 3feses wse &

[5101]-3080 3 P.T.O.



4., dgedd feu fo@ (v =\ mw) [20]

o n

(i) gk faemgieton Hedt fa=ur @

(i) YU YIMEAEeel gde HEHEA=l Hd.

(i) ® wEEWEr ol gfeen g gedt T
(jv) Tos=it wen 91 Fed= afise 9.
(v) ST AR HaE faER.

-

(vi) TS TacuT=t IR AU USHRRU ATANG GoHrE T WAL

[5101]-3080 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3080A

T.Y. B.A. (Regular) EXAMINATION, 2017
PUBLIC ADMINISTRATION
Special Paper IV
(Development Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Discuss the features and importance of development
administration.
(ii) Explain state level planning.
(ii1) Explain meaning and concept of people participation
(iv) Explain functions of bureaucracy.
(v) Explain meaning of development administration.

(vi) Explain the concept of public private partnership.

2. Answer the following questions in 200 words each (any two) : [20]
(i) Explain the term ‘Globalisation’.
(ii) Explain relations between public administration and

development.

P.T.O.



(ii1) Discuss the importance of Social Welfare in India.

(iv) Explain meaning and nature of bureaucracy.

3. Answer any one of the following questions in 400 words : [20]

(i) Discuss the meaning, nature and scope of development
administration.

(i1) Explain the changing role of bureaucracy in development

administration.

4, Write short notes on (any four) : [20]
(i)  District Level Planning
(i1) Population Explosion
(ii1) Role of Panchayat Raj
(iv) Concept of Social Welfare in India
(v) Administration Neutrality

(vi) Sant Gadgebaba Gram Swachchhata Abhiyan.

(WS ®AIad)
qB : WA qE TeRUT TUT 80

ol :— () | WA ewds IRd.
(ii) 3SSelhels 3 qul U SFifad.

1. Wolid 99=T SW YS!l 100 vIeid fo@l (ivedl =9m) [20]
() faem gomErR Ayt 9 Hgd AR 9= AL
[5101]-3080A 2




~

(i) TS U s wse

(iii)) TRTRYNT=T 314 9 Hehoddl W &

oy

(v) APQMEET HE WL HA.

(v) fTowm gomEEEn g W WA

(vi) HESh WEET YRR Hohedqdl TS .

2, Wreld YeAEl SWOUEST 200 VeEd fa@ (ReE gF) [20]
(i) ‘SIfaRRT’ Hehed l T .
(i) <HRUETEd 9 fowm d9y o= &
(i) YRAMIE SRS Hegw o= 6.
(jv) THEREET 4 9 TEI W FHA.

3. Weiicds! IR ekl Y9 3R 400 ¥ieed fofer [20]
(G) fowg wymEAmEn oY, WEu 9 A A= 99
(i) ToIhE UUEAN TRRIEET oagedl iR T

p
D

P

4, g fear fagr (o

o~ N

() fSegr st fsH

(i) wden fowmies

(fii) vEEduSEr Yfien

(jv) YRAE FHESHTNT HhHel
(v) YRR T

(vi) Td TMeSeTel UM Tosdl M.

o) [20]
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat
No. [5101]-3081
T.Y. B.A. (Regular) EXAMINATION, 2017
ANTHROPOLOGY—G-III
G3 : Maharashtra : A Cultural Region
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]

(2)

(i)
(ti1)

(iv)
(v)
(vi)

State the women’s contribution in political movement of

Maharashtra.
Explain in brief the Industrial Development of Maharashtra.

Describe the work of Dhondo Keshav Karve about women’s

education.

Elaborate the political movement of Lokmanya Tilak.
Discuss the peasent movement in Maharashtra.

What is the cultural importance of Warkari cult in

Maharashtra ?

P.T.O.



2. Answer any two of the following in 200 words each : [20]
(i) Explain the importance of Vidarbha as a cultural region.

(ii) Elaborate the tribal movement under the leadership of Godavary

Parulekar.

(iiz) Explain the social reform movement led by Mahatma Phule

and Savitribai Phule.

(iv) Explain the significance of revolutionary movement of V.D.

Savarkar.

3. Answer any one of the following in 400 words : [20]

(i) Explain the role of Saint Dnyaneshwar and Saint Tukaram

in the cultural life of Maharashtra.

(ii) Explain the role of Rajarshi Shahu Maharaj and Dr. Ambedkar

in social reforms movement of Maharashtra.

4, Write short notes on any four of the following : [20]
(i) Ek Gaon : Ek Panawatha
(ii) Research Design
(z11) Qualitative Research
(iv) ‘Khandoba’ as a God of Maharashtra
(v) Warli Paintings

(vi) Ajantha Caves.

[6101]-3081 2



(W& wUIw)
q% : dF A THUT TUT : 80
o :— (i) Wd U OIS AR
(i) SSEleld 3k YU O SRiferdm.
(iii) WEHEE! HB TUST WIAUAH TRl

1. Gciidis! @R a) 99= S Jds 100 v<S[ foagr . [20]

~ L

() HENS=N USfhd Fedodidid foda JreM 9.
(i) VRN AAris fasmart dewra mifedt @
(i) i Teongast &€l #v@ &d a9 wE fOwEe &

(Gv) TRAT feoh=a1 TShET TBS Ui .

(v) TRRISMA IaeH-are deddal == .

(vi) WENSIA IRHY TYSHE Hihdid Hed & 3] ?

2. WEladsl SR a9 YR IW YS! 200 V@ ferer [20]
(i) UiEpdie fouam wuE foou= e fave &
(ii) TIGE TSkl Aqenerdid  SAfGard Feddee aud &l

(iii) WeIHl R/ol STl WifeEeE | AN HHSe gURUT Fodes  Tavig
.

Gv) fa. T UoHT=A FHIdSR Tdsd Hed W H.

3. Tladsl SR TRl U9 SW 400 v forar . [20]

(i) Hd JETER MU Td R A<l HRIS=A Hahdidh St it
T R

(ii) SIS g HERIS ST ef. S{egei A<l HRIS=A1 GHISYYRN Jadaaidicl

T TOse .
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4, GAAYR! HIUER IR four dewa fawr [20]
() Uk TG : Tk YA
(ii) TIMEA STEEl

(iii) TONCHE ERINEH

(Gv) ‘@eEl HENRKA Tk <ad

(v) daRet faseRen

(vi) TSI M.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-3083

T.Y. B.A. (Regular) EXAMINATION, 2017
PHYSICAL EDUCATION
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following in 50 words each (any two) : [5]
(a) Make a list of Fast food/Junk food available in the market.
(b) Describe the various stages of Surya Namaskara.

(c)  List the National and International Football tournament Organised.

2. Answer the following in 100 words each (any two) : [10]
(a) Explain the need of exercise for having good personality.

(b) Explain the importance of pranayama and list the various types

of pranayama.

(c) Explain the importance of regular health check up.

P.T.O.



3. Answer the following in 200 words each (any two) : [15]
(@) Write the importance of protein to improve the performance.
(b) Write the various causes of obesity.

(¢) What are the various precautions that can be taken to avoid

Heart-attack ?

4, Answer the following in 500 words (any one) : [10]

(a¢) What is physical fitness ? Explain the factors of health related
physical fitness.

(b) Draw and label a shot-put ground and give information of the

various throwing methods.

(WS TUTaR)
d9% : aF A" THUT TUT : 40
T :— (i) §d YT Hiefaul Aevds SR
(i) 3SSEheld o YO O Iiforr.

(iii) STe¥Ish N kM Foh 3kdl  hlal

1. Tdd YeET 50 e S faer (Sivgt 9F) e [5]

(31) SRS 9 HREHS A1 YHRME ©ed geref=i At .

(F) YITHEPRA FHdle U B

(%) Tedlamdia UL 9 AU W= e <.
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2. el Yl 100 VIS W faRl (FvE 9F) [10]

(37) =T FETHCHE AT STavdehdl TS .

(q) YUHHNE Hed 9F e YeR T
(%) frEHld 3R quEei=e ded s .

8. Wi 9=l 200 ¥Sd S foa@r (sl @|) [15]

[aWaY fa o fa

(31) WA ITaqH HITIIEE AR WA=l TavIhdl T H.
(9) TYeaerR UROMm FHOM AT HTeh TS H.
(%) TAGPIR I el Yiqeurds TRIREG SUshar A <.

4., Ed YT 500 VM SW fa@ (FIUEE TeR) [10]
(31) MAR® gged ®WUS & 7 WA Ay e ggedd Heh
e h.
() Tieelheh BT HISHTIITE Tt higH T hah U=l SRIavTedl UGl
AT <=0
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Total No. of Questions—10] [Total No. of Printed Pages—2

Seat
No. [51011-3084
T.Y. B.A. (Regular) EXAMINATION, 2017
(Vocational Course)
COMPUTER APPLICATION Paper V
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) Attempt any eight questions.
(i1) All questions carry equal marks.
1. Write a note on Credit Card. [5]
2. List and explain any five factors influencing the web site design. [5]
3. What is Information System ? Explain any two dimensions of Information
System. [5]
4, Explain in detail B2C model of E-Commerce. [5]
5. Explain following HTML tags : [5]
(a) Body
(b) Font
6. Write a note on Digital Signature. [5]

P.T.O.



7. Explain
8.
9. Explain

10. Explain

[5101]-3084

Web Development Process Model with suitable diagram. [5]

Explain the need of Decision Support System.

External Style Sheet in detail.

Table Tag of HTML with example.

[5]

[5]

[5]



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5101]'3085

T.Y. B.A. (Regular) EXAMINATION, 2017
FUNCTIONAL ENGLISH (Vocational Stream)
Paper V
(Introduction to Print Media and Writing for Mass Media
and Key Competency Modules)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Prepare a news item in about 150 words based on the points given
below [15]
J Times Network

o Mumbai, February, 2017

J 500-kg woman in Mumbai for surgery

J Eman Ahmed, a 36-old Egyptian woman in Mumbai for weight
reduction surgery

J Eman is one of the heaviest women in the world and from
Alexandria city

J Dr. Muffazal Lakadawala of Saifee Hospital is treating Eman.

J Eman has not moved out of house for last 25 years.

J Doctors face challenges even transporting Eman to Mumbai.

A team of doctors are in Egypt for last 10 days

P.T.O.



[5101]-3085

Eman is put on blood thinners to reduce risk. A special bed
has been prepared to use during her travel.
Special aircraft is also reserved for her journey, which is well
equipped with a small operation theatre. And oxygen cylinders.
Risk involved in operation as Eman has already suffered the
brain stroke and paralysis.
Doctors are confident about the results. However special care
is required after the operation for at least 6 months.

Or
Prepare an alternative copy of the following by making changes

only in its verbal aspects. [15]




2. Answer the following questions in about 60 words (any two) : [10]

(@)
(i1)

(ii1)

(iv)

3. @A)

(B)

[5101]-3085

What are the elements of an article ?

“Readability and Presentation are the factors for making
newspaper popular.” Discuss.

Differentiate between the language used in a feature and an
article in newspaper.

Prepare a short radio talk or a conversation on the following

topic : Time Management and Successful Career.

Answer the following questions in about 60 words (any two) : [10]
(i) Discuss the prospects of technical writing as a career.
(i1) Discuss the scope of technical writing.

(iit) How does a tecehnical writer present information to the

end-users ?

(iv) What are the essential qualities of a technical writer ?
Describe an upcoming showroom of furniture in Nasik city
with the hlep of the following details so as to attract the
customers : [5]

J Variety of products

o Different material like wooden, plastic, metal, glass
J Prices are less than market
J Extra discount for multiple orders
J Furniture can be made as per the design
J After Sales service, annual maintenance facility.
3



4. (A)

(B)

[5101]-3085

Give Marathi or Hindi words for the English terms given below
(any ten) : [10]
(1) Entrepreneurship

(2) Report

(3) Supplement

(4) Remuneration

(5) Examiner

(6) Workshop

(7)  Interview

(8) Exchange

(9) Joint Secretary

(10) Local

(11) Revaluation

(12) Cheque.

Translate the following passage into Marathi or Hindi : [10]
Education has been one of the essential aspects of way of
life of Indians since the ancient time. It is observed that the
Indians have found various purposes to inculcate education in
their lives. Education has changed its role in every period-
information, enlightenment, invention, necessity, and requirement.
Whatever be the role, education has always helped us in being

a better person. Indian education system is a mixture of various



(B)

[5101]-3085

objectives which try to cater to the spectrum of all levels
of students. The five levels of education—pre-primary, primary,
secondary, higher secondary and higher education aim at the
holistic development of a child. However one can observe the
variance in the plan and the actual implementation of it. The
end result is not satisfactory. After becoming a graduate, the
student lacks the skills and the confidence needed to be an
independent and successful being.
Or

Translate the following passage into English : [10]
Tl ek Bt fogam Srfesear. W faur wuF=r. Rl Jeed
T UPR U WidEwk Bal TH Rom=d @Enemm 36 sEifes fouw
S, R @ e fie a9aen W @y 38 fohar 40 wmntae feued
S, god 7 R "erl e, Femd &M aent gfehan smfor s
T I T gl HERUE AW d TR ' @ el e
Jsh SIEAeSel fhAd Bidl. T SEEs 9Rl T @ d9¢ 99 9
Tl o8 W feeie Al Heold A1 @idsh JhRIHes SAHl SET==um=t
Hell AT Tl dd Aehe deordd. ol W GRIed ove ST

T YRR TAMHeS 3Teh BAMMES HIgd el gall did S99 3Tl

o~

Y 3. dUY hlecicl SEeas SRl Ugdl 90 Hes Y 3R,
e W THAES S0 ¢ TY GWRESR A0 W e
3R,




5. (A

(B)

[5101]-3085

Write short notes in about 100 words on

following :

(1)
(2)
3)
(4)

Depiction of women in Hindi films
Social awareness through films
Elements of short films

Choreography.

any two of the
[10]

Write a review in about 200 words of a mystery film or a

biographical film you have watched.

[10]



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5101]-3086

T.Y. B.A. (Regular) EXAMINATION, 2017
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
Paper V
(Emerging Concepts of Tourism and Tourism Development)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words) : [10]
(i)  Rural tourism
(i) MICE
(ii1) Carrying capacity

(iv) Conflict management.

2. Write short notes on any four (Around 100 words) : [20]

(i)  Principles of sustainable tourism

P.T.O.



(i1) Doxey’s Irridex

(iti) Adventure tourism
(iv) Conflict management
(v)  Pull factors

(vi) Destination development.

3. Answer any three (200-250 words) : [30]
(i) National tourism policy 2002
(i1) International tourism in India
(ii1) Destination life cycle
(iv) Right to information

(v) Upcoming trends in tourism.

4, Answer in detail any one (Around 500 words) : [20]
(i)  Give information about “Incredible India Campaign” promoted

by India for tourism promotion.
(iz) How is the present Government supporting the growth of

tourism ?

[5101]-3086 2



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-3087

T.Y. B.A. (Regular) EXAMINATION, 2017
LRIl SO G C AR
FUNCTIONAL HINDI : VOCATIONAL
YyUFA-5 : WeHifaeh
(3rqare, fewor-ured, WA T weR oiEH, ATeed, WIaehK,
HIUThR qT HelgTHal WUEE)
(2013 PATTERN)
g : dF He qutish : 80
oAl :— () |t g Ated ¥
(i) W & < @GR fa@ MU e we & guie ¥

faamr ‘et
1. (1) & d orer =ifsue 8]
Disciplinary Action (Warning)

GOVERNMENT OF INDIA
INDIAN POSTS AND TELEGRAPHS DEPARTMENT
OFFICE OF THE DIRECTOR GENERAL OF
POSTS AND TELEGRAPHS
New Delhi, the ...................
Memorandum
The explanation submitted by Shri ........................ (designation)

in reply to this Directorate’s Memo of even number dated

P.T.O.



(em)

2. fad
(h)
(@)
(M
(&)
(=)
(®)
(1)

[5101]-3087

......................... for absenting himself without prior permission
and not submitting any application therefor, has not been found
satisfactory. He should have sent his application to the officer
concerned in due time. Since Shri .......ccccceeeeennnn. has committed
this lapse for the first time, he is let off with this warning
that if the commits a similar lapse in future, the entire period
of this absence will be treated as unauthorised and he will be
granted extraordinary leave without pay. Necessary disciplinary
action may also be taken in such case.

Assistant Director General (Admn.)

......................... section

P&T Directorate, New Delhi.

FHATAT-ARYT H1 YT IR HITST | [8]
R W fewfet fafew . [16]
EqU & fau sTevas 9o gl

YEq0 & fafy= geR
U= & S

FRd & fau MR w1 W
TEET o et feioant
fewm & YaR

fooqor st e



fasm ‘o

(31) ol TifecadrR @1 AemepR o) 8]

(zm) e dfgar oem A fowen S § 2 8]

()
(3)
(®)
(®)
()
()
()
(7)

5. (31)

forgl ufer w fewfEi fafew . [20]

IR R hi Ufshal

Qe dfedr e
dfeasli & AR
HI % YRR
YHAHAAT h1 S
JUNU & Helde
SRl w1 9=
Hioaal 1 qR=d |

frafafea wigl & fau fédt wiafos vsg fafew . [4]
(1) Air Head Quarter

(i) Aducate

(iiti) Announcer

(zv) Leave not due.

(s3m) frfafea & @ fosl a) vkl & fau s uiivvfos vs

[5101]-3087

fafaw [4]
()  AfufEm

3 P.T.O.



(i) 9Rud gLl

(i) &
(jv) HaA T e
(v)  SAHTE |
(3) Tfafed & fe&t wfa fafew 4]

(i) Government is pleased to accord sanction as a special
case

(1) I am directed to ......cccc.co.......

(iiz) I fully agree with the office note

(zv) I have the honour to.

[5101]-3087 4
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